www.iwidin.com o e AT 2

S / - 1
“®  Machine Too

Holder System




L& oIN’




KIEHR! AN 2Et 21y F22
selofM o 2gtk= 7|Pe= &t Lzt UsUHC

2IE(WIDIN : Wide + Intention) 0|2t= AtHZ} ZH0|
Z010| EXZE XtAt] Df2h=

HA
A BI2 ShEXE AHEIgE AYLCH



Greeting

Making customer’s
dreams a reality-

The best mechanical solution

1 AU

f

=T

10884 7

0ol
ud
ok

&)

OfL{2t SPECIAL TOOLS= gt

[u]s]
o}

0l Z2 L==0i| &YX =L END MILLS, DRILLS, REAMERS, TAPS

o]
A

il

ot
LS

o] =22 opIx

EN

of

N
(i

1A717] 2

o uf
- =

e o

AHE HE= LHERE

o)
o
_6.__._._
"
=
10
= .
Ciluy
e
od <1
KT o3
L
R o
oo
g <u
S o
ol 80
z4 RO
& Il
w1
— nu
Ol
uo M
0
S %
W i
= 1
w I
o
i
= B
L
O E._._,
T
= o
) L_L_
- I=
Q=
W =
ol =
ol <
ol
=<

M 12y
=]

Mo
- 10
__O\_ _A_.:
HHo

7t FHALS] kY Rt E7 R 710

o
T

t

<)

[l

n}l
"

President and CEO Dong Hyun Kwo




-
@)
)
B
L

| At

3
199907 2

198807

S 2)

S

2001,07 1SO 9001

)

S

Sle SE(|0277126

Al
=

2002.05

2 HIE])

EX|

<+

2004.05 AE4lot S5(H|0350651)

0| A}
HARR 2 7H(

I
ar

200411 H

ST4510])

Ay

2005.02

)

CHAKA R K| (R|2005-165

Met

200505 FEE

)

3

(H|2005-28

4

KO0

x|

q

ol

N

Kio

ok
__A___.___
e

2005.07

2005.10

)

2

E3

(

ol

ZA7|A(NNO-BIZ) &

2|

sAlY

200511 7|&
2006,09
200611

—_

+

wl
Th

100gt

.x___._._
<

2006.11

C]
[

=)

o

=
)2

(

tEA —

o

)

=
T

(€

R0

™

__O._
<0

H:

3

2007 .07

-

&
.

T

00gk

201005 2010 =

2011 11

3

_x_.____
e

200811

2
5002t

=E2Y 24 7|
2012.06 =A} &% 0|™

-

&

wl
I

__A___.___
e

s

Al

o
=]

201201




Machine Tool Holder

TOOLING SYSTEM

ER COLLET CHUCK ER COLLET

SHRINK FIT CHUCK

JSK COLLET CHUCK JSK COLLET




MILLING CHUCK TAPPING CHUCK

MODULAR BORING SYSTEM




Machine Tool Holder

TOOLING SYSTEM

HSK-JHM

Modula AlA% OFEE{Qt =8
St 0f2{7HX| BRE AIRE 4
QUL

HSK SPINDLE

HSK-BASIC HOLDER

—feo}

e
w E ) =l a——

—t{ BABYCHUC}E : __

ER COLLET

% =3
JSK COLLET ﬂ

FMA
FMB
FMC

=i

T

EMH




MTA

MTB

NPU

JTA

TC

TSA

SCA

BSB

BCA

MBF

BT

NT

MT

MT

LARGE SIZE
BASIC HOLDER

==

KERESS DRILL CHUCK

=

3
3

P S———
ER COLLET
S S
P e~
MT SLEEVE — #EEI,‘&%

FINISHING HEAD

et

ROUGHING HEAD

CHAMFER
HEAD

EXTENSION

&1 ]

REDUCER

=l

MS-RH-BCA
RING HEAD
RH ADAPTER

=k

ADAPTER

—)

LARGE SIZE LARGE SIZE
ROUGHING HEAD FINISHING HEAD

Sl

EHHW
=]
=N

|




Products

INDEX

HYDRAULIC CHUCK 18
REDUCTION SLEEVE 30
SHRINK FIT CHUCK 32
MILLING CHUCK 45
DOUBLE BEARING 51
MILLING CHUCK

MILLING CHUCK 55
COLLET

QUICK CHANGE 57
ARBOR

ER COLLET CHUCK 62

= ER COLLET & 0

||| | ACCESSORIES
& JSK COLLET CHUCK 74
= JSK COLLET & 18

ACCESSORIES
"';:K DRILL CHUCK 80
\ JACOBS TAPER ARBOR | 82
MORES TAPER 63

ADAPTOR

\\ END MILL HOLDER 86
\ SIDE CUTTER ARBOR 90

10




\ DRILL TAPER CHUCK 128
t TOOL SETTING STAND | 132
a BASE MASTER BOLT 134
i': & “li'i PULL STUD BOLT 135
i iy o
5 ANGLE HEAD 136
a
m SPINDLE SPEEDER 138

% FACE MILL ARBOR 91
| SHELL MILL ARBOR 97
\ TAPPING CHUCK 100
g& TAP COLLET 102
e
*& OIL HOLE HOLDER 104
‘x MICRO BORING BAR | 107
‘ BORING HEAD 115
‘m BASIC HOLDER 123




HYDRAULIC

EXPANSION CHUCK

SYSTEM

7|E9] ByEo|L Ax] Z2ASE T Fg UA0| AT{HE 012510
A SlEL HES S23M Ea= 7|AXQ L-0|AUX|2 0] W2 nH=
S RXAlok=dl etAP Q=00 Bisie] FAR] RYUEE A LR S
0 U= RO S2[2E BIAA HE HHO| ZASFE Mot 5224
CHUCKINGO| #{=20tL{2t FHolt =5 A2t

S HA[FOl SElet FElz 14 J150] JissiH (21225,000RPM)
3~5/1000ume| F=E Edsh= 27140l AL

Existing Milling chuck and spring collet chuck have banausic
clamping method such as clamping by a nut or chuck head, but
there is limit to keep high precision.

However, hydraulic chuck have special clamping method by
removing and expansion the sleeve which were brazed on inside
of chuck. This method completely clamping a cutting tool on all
around inner bore face of chuck and keep high precision and proper

for high speed machining as well.



HYDRAULIC EXPANSION CHUCK

BASIC PLAN

M2 | Application

A=Y HLYED, 2lof § DFU0| BT

——

Fine f|n|sh|ng, High speed & high accuracy machining, Reaming, Drilling, etc.

10mm [max)
YEE BOLT gugol g

40

5um. O|LHe| IHEE | T.IR accuracy

RUHS SYEI} 5oILE 0|02 XN FHBHS F0IFET 37O AHS X

Below 0.005mm at 2.5xD / This high accuracy extend tool life including improving
machining condition

2.5xD1

CHYSH LIZ AfO|=2 D/OD COLLETE At8E 4= RIS
ID(Inner bore) size can reducible with reduction sleeve Using Reduction Sleeve D12 / D20
/D32 /0D12/0D20/0D32
T-wrench stz g7 375 weket
Easy Clamping and Un clamping by T-Wrench Clamping / Un clamping.
It is able to tool change after assembling the chuck into the spindle of Machine.

AL HEAl | Coolant System

&3 U - R 2 ZMR AE0| 7ksE. DING9S71 AD+B type
Center through coolant system(AD) + Flange through coolant system(B)

127120 &gt | Good for High Speed Machining

SOMS HE 25 000rpm7HX| BIHIAZF EEXIH  D47tEsl0M DREo| 2ioin}
orEdE BFeiL

Even under high speed, it works very fast without vibration and makes sure of fine
process and safety with fine balance up to G2.5 at 25,000rpm

13




HYDRAULIC

EXPANSION CHUCK

eExample applications for hydraulic
expansion chuck in standard version

« R21E AL Ol

o2 NUS Kot RYChuckS HUAMA 2A0f| XEHEILICT
Ha7|Al0il M CBN Tools, Solid Carbide Tools, Poly
crystal Tools, Diamond Toolsg 17t2| ST 8802
AEdH Chg E=9f Ao AMeteict

PRECISION

¢Due to the absolute precision of 3microns run out accuracy
o JEIL hydraulic expension chucks are excellently suitable

for precision machining with CBN, Solid carbide and

polycrystal-diamond tools.

NOTE

2E0] HAIZT ChuckingAloll @6~@329] EAZST 3= &
h6 2ol S012= ZASTE M8,

LA @12, 320, 3328 MEAlol= D or OD Collet2 0|&5}04

=
OBt AfOIRO| HAMBTE ABE 4 YIS,

ol

Y

£ 40 > 40
o oo

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

TR g3-8 6.1- 10 @10.1-14 | ©141-18 = ©181-24 | ©241-30  ©30.1-40
h6  0-8um  0-9%um  0-1tum  0-11um 0-13um 0-13um 0- 16um

<Y EHE RUAH MEY| EAEFEAY 7 IESAU.

« The above chart is standard tolerance tool shank for hydraulic chuck application.

o 14




f&9| 7§ | Feature of Hydraulic chuck

40
|I°

71Ee dFXHo|L AnY SAUMSE O EHE A0 ATHE 0185t
H olclt HES S8 FHazs 71AXe YYoIAXIT of e udE
S FAlGH A7 U0l Bisto A RER A LS S5
0 U= 70| =2/ES BYAA WHE THO| BASHE ToF F2=2M
CHUCKINGO| #i2t#0 | “IW'—* =2 REL é*%"ﬂ%ﬁls

Existing Milling chuck and spring collet chuck have banausic clamping
method such as clamping by a nut or chuck head, but there is limit to keep
high precision.

However, hydraulic chuck have special clamping method by removing and
expansion the sleeve which were brazed on inside of chuck. This method
completely clamping a cutting tool on all around inner bore face of chuck and
keep high precision and proper for high speed machining as well.

FUA ALZA| &A™ | Advantages of Hydraulic chuck (See the page 15)

1) Z|1o| T.1.R(BAE) 2%
-2.5 x D1 O|tollM Collet AF2Al 5/1000um(max), &l
ChuckingAl 3/1000um(max) =&

~TAIR TS RUSH ) HIBEY, RABTY AT 3B

=1

MU, ZES FUAPIT 7R MEr) HAZTol 43S 3uoly
FAAI= ZIIS HaLc
R RE]
~SAIS] RS AHUM Y FUAALI, BA HelA| Myl= X
ARet BHB0IM LYs= S0 0120l H L0 FEE TH5 A
2 FlASS0] Ho| A4S UHHOZ TA H 40| ST A4
BIS M3t st

3) 42 HEUY
—71&29 Mut= o2 T-dIxA8eR HAMZTE Chucking,7|&9
YU HHZED BAST 2 YUlE 2RARIE 248t o
REHCH

4) 22730 2t
~oURE ofES 7}l

5) Collet At222 HHM 57t
—XH DA™Y DHEZO Collet s
Colletg rgao# Z|A%tol HIE2Z AlCh
=y

5 W4 sitol 26 FHMQ. 718 Holz
Isf 2=0[5H A2 XY Al ol RYTE Colletd ALEsIAIR
Coller OJAR2AlOll= CHUCK Lig SiEH(R 'HEU [X 8mmol4 =

X OFYAIR (8mmOld 9] ALZAl CHUCKUE +=EU )

2, BAET HUAl 8
O
d

o0

TTES
[PNg=A=}
—|E

3. BAIBT MYAI CHUCK LiZTH BAB ) 9 7] EE 718718
H745101 FAAIR (AR 012 Q15101 SRIA| HATTI} 0l &
4= 9lgL)

4 . 821=|0f Y= AIR HOLE BOLTE EX| OAIR
(R87t Aaleiof AFB0| 27ksaHAl EUct)

5 24 TOOLE AKRSHA] DHIAIR

6.CHUCK®| BOLT TH:0ILt RSSO0 SIX| 9= § A/S 48
Al QJol2 o T OIS MRS DHAIL R0 H2tstel F4
A2 (o] ZAIE CHUCKE A/S7HE7H8iLct)

1) Please fully clamping the clamping screw by T-Wrench (The

clamping screw will be stopped, if it was fully clamped by human
power)

2) Please fully insert a cutting tool into the chuck. At the least, tool
shank edge to be arrived at 8mm from end of inner bore depth.

3) Please eliminate a dust or tiny chip or humidity on the tool shank
and inner bore face of the chuck.

4) Please do not pull out the Clamping Screw and Qil Sealing from the
chuck.

6) Please do not using hydraulic chuck for rough cutting.

7) Please do not disposal it by oneself when come out operating
problem such as broken the chuck or clamping & unclamping
problem etc. (If you have some problem for the hydraulic chuck,

please contact us at first)

15



HYDRAULIC CHUCK

TORQUE No Sleeves
(Hydraulic chucks)

450
400
350
TEST PIN 300
T/ £ 250
=
_ i - g 200
g
- 2 150
100
50
6 8 10 12 14 16 18 20 25 32 O
Clamping @ (mm)
% This is torque(Nm) when clamped % This is torque(Nm) of Hydraulic
tools with straight cylindrical shanks chucks with direct clamping @ 6-32mm
32mm dia. Chuck with Sleeves 20mm dia. Chuck with Sleeves
120
350
300 100
250 80
E E
> 200 =
= 2 60
=} =}
g 150 c
= 40
100
50 20
0N 0 |
6 8 10 12 14 16 18 20 25 ¢ 3 4 5 6 8 10 12 14 16 &
Clamping @ (mm) Clamping @ (mm)
% This is torque(Nm) of Hydraulic % This is torque(Nm) of Hydraulic
chucks clamping @ 3Zmm with HK collet chucks clamping @ 20mm with HK collet

Qo 16



R-P-M / BALANCE

TEMPERATURE
80C Max
40°C
safety
operating
temperature
-
' 20°c
10°C  Min
0°c

(G2.5/15000rpm
Fine Balanced (G2.5/20000rpm
(G2.5/25000rpm
(G6.3/12000rpm
Standard Balanced 66.3/15000rpm

Operating Temperature

Generally, the normal operating temperature

of hydraulic chuck is between 20°C and 40°C

When operating temperature isn't the normal range,
pls ask technical information.

s

17



MINHI NOISNVdX3
JMNVHAAH

HYD RAU LI C CH U CK _Short & Heavy Design

MAS403 BT-WHM(P type)

T
D1
D2

b
D3

mm

CODE NO.
BT30 | WHMI20P-85 44 85
BT40 | WHM20P725 | 20 W Taes | 725 B WS o | Mexio
BT50 | WHM32P-90 2 60 72 %0 65 55 M6 X 10
R EE

DING9871 SK-WHMI(P type)

CODE NO.
SK40 | WHM20P-64.5 20 40 495 64.5 52.5 42,5 10 M8 X 1.0
SK50 | WHM32P-81 32 60 72 81 65 55 M16 X 1.0

CODE NO.
WHMB-70 6 25 28 M5 X 0.8
WHMS8-70 8 27 30 70 315 1 2715 28 M6 X 1.0
WHM10-75 10 29 32 - 425 | 325 38

R 36
8730 WHM12-75 12 31 34 45 a5 | 375 0 M6 X 1.0
WHM14-85 14 33 36 85 44
WHM16-90 16 35 38 18
WHM18-90 18 38 Vy| 90 525 | 425 M8 X 1.0
WHM20-90 20 40 43 -

rr

+ FYEO| BAST ChuckingAlol @6~@322] EAZT 3= &
JAth6 2ol S0i2= EAZTE AE.
cRYA @12, 020, @32 MEAlol= D or OD Collet2 01&5104

Cofet MoIZo| HABTE AIBE 4 US.

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32
+ Balancing Grade : BT30, BT40, SK40 - G2.5/20,000rpm
BT50, SK50 - G 2.5/ 15,000rpm

o 18



HYDRAULIC EXPANSION CHUCK

BT40

L1 | L2max | L2min |

WHMB-65 65

WHMB-90 6 25 28 90

WHMB-140 140

WHMB8-65 65 375 | 275
WHMB-90 8 27 30 90

WHMB-140 140

WHM10-65 65

WHM10-90 10 29 32 90 425 | 325
WHM10-140 140

WHM12-65 65

WHM12-90 12 31 34 90

WHM12-140 140

WHM14-65 50 65 475 | 375
WHM14-90 14 33 36 90

WHM14-140 140

WHM16-65 65

WHM16-90 16 35 38 90

WHM16-140 140

WHM18-75 75

WHM18-90 18 38 4 90 525 | 425
WHM18-140 140

WHM20-75 75

WHM20-90 20 40 43 90

WHM20-140 140

WHM25-100 100

WHM25-135 25 >3 > 135 b o
WHM32-105 105

WHM32-135 32 %8 63 135 6 >

V

L2 max
L2 min

D3

M5 X 0.8

M6 X 1.0

M6 X 1.0
Fig1

M8 X 1.0

108

M16X 1.0 | Fig2

Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B

« FYAO BAZT ChuckingAlol @6~@32¢2)
SAFh6 2ol S04

OOtX
.‘IT\:lrﬁ

— i
Q= HAE

TE AE.
@12, @20, 232 AMEAlol= D or OD Colletg 0l&st0{

Cofet MoIZo| HABTE AIBE 4 US.

PPNl
=10

43 &

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve

D12/D20/D32/0D12/0D20/0D32

19

AINHI NOISNVdX3

JMNVHAAH




MINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

Lamax
v L2min

MAS403 BT-WHM

L3

Figl Fig2

CODE NO. L2max | L2min
WHMB-90 90 32
WHM6-120 6 25 28 120 a1 M5X0.8
WHMB6-140 140
WHMB8-90 90 3751 275 32
WHM8-120 8 27 30 120 40 M6 X 1.0
WHMB8-140 140 44
WHM10-90 90 32
WHM10-120 10 29 32 120 425 | 325 m
WHM10-140 140
WHM12-90 90 32
WHM12-120 12 31 34 120 m M6 X 1.0
WHM12-140 140 .
WHM14-90 50 90 475 375 3 Fig1
WHM14-120 14 33 36 120
BTS0 WHM14-140 140 10 44
WHM16-90 90 32
WHM16-120 16 35 38 120 18
WHM16-140 140
WHM18-90 90 32
WHM18-120 18 38 41 120 525 | 425 18 M8 X 1.0
WHM18-140 140
WHMZ20-90 90 32
WHMZ20-120 20 40 43 120 18
WHM20-140 140
WHM25-105 105 67
WHM25-150 25 53 5 i 150 1 o 112 MI6X1.0 | Fig2
WHM32-115 3 58 63 115 65 55 77 '
WHM32-150 150 112

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B

A0l ZAST ChuckingAlol @6~ @329 AR M3 &
h6 2Hll S0{2= BAIFE AIE.
= @12, @20, @328 AAlofl= D or OD Collets

=]
Cofet MoIZo| HABTE AIBE 4 US.

(o]
=]

xf
(o]

01835t0{

o :(o oH :(o

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

20



HYDRAULIC EXPANSION CHUCK

JMNVHAAH

0

MINHI NOISNVdX3

Fig1

DING69871 SK-WHM

CODE NO. [2max | L2min

WHM6-65 65 23

WHM6-80.5 6 25 | 28 805 4 MBX08

WHMB-110 10

WHMBS-65 5 | o0 | 270 23

WHM8-80.5 8 27 30 805 | MEX10

WHM8-110 10

WHM10-65 65 23

WHM10-805 | 10 | 29 @ 32 805 | 425 | 325 M

WHM10-110 10

WHM12-65 65 23

WHM12-805 | 12 | 31 | 34 805 | MBX10

WHM12-110 110 .
. WHM14-75 50 75 475 375 0 30 Fig1

WHM14-805 | 14 | 33 | 36 805 "

WHM14-110 10

WHM16-75 75 30

WHM16805 | 16 | 35 | 38 80.5 48

WHM16-110 10

WHM18-75 75 %0

WHM18805 | 18 | 38 | 41 805 | 525 | 425 M8 X 1.0

WHM18-135 135 48

WHM20-75 75 30

WHM20805 | 20 | 40 | 43 80.5 48

WHM20-110 10

WHM25-805 | 25 | 53 | 57 | 66 610 | 510 26 .

WHM32-805 | 32 | 60 | 63 | 80 0%  g50 | 550 26 | M16X1.0 | Fig2

Taper:AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B

Mol HAST ChuckingAlo @6~@329 HAET 83 & + Tolerance of cutting tool shank should be configured within h6
h6 2Hll S0{2= BAIFE AIE. + ID(Inner bore) size can reducible by using reduction sleeve
= @12, @20, @328 MEAM= D or OD Colletg 0l&st0d D12/D20/D32/0D12/0D20/0D32

=]
Cofet MoIZo| HABTE AIBE 4 US.

(o]
=]

xf
(o]

o :(o oH :(o

21



MINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

L3 max

D2
D3

Vv |_L2min L3

# \ ’ L2 max 1

Fig1 Fig2

DING9871 SK-WHM(P type)

mm

CODE NO. [2max | L2min
WHM6-90 90 44
WHM8-140 i 140 oo e 4 | MOXO08
WHMS8-90 g . 0 90 : : TR
WHMS8-140 140 4 .
WHM10-90 90 44
wHMio40 | 0 B 3 a0 | 425 | 328 1
WHM12-90 90 44
WHMi2140 | 2 3T 3 L o MEX10
WHM14-90 14 33 36 50 %0 ' ' 44 Fig1
WHM14-140 140 44 g
WHM?16-90 90 18
S0 Whmiga0 | 18 B B 140 10 g
WHM18-90 90 18
18 38 4
WHM18-140 140 48
WHM?20-80.5 805 52.5 425 m M8 X 1.0
WHM20-90 90 18
whmzo10 | 20 0B 10 e
WHM20-140 140 48
WHM25-105 105 85.9
WHM25140 25 53 57 _ g | 610 | 510 g | MIBX1.0 o,
WHM32-115 115 959
WHM32.140 32 58 63 a9 | 650 550 ahg | M1BX10

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B

Mol HAST ChuckingAlo @6~@329 HAET 83 & + Tolerance of cutting tool shank should be configured within h6
h6 2Hll S0{2= BAIFE AIE. + ID(Inner bore) size can reducible by using reduction sleeve
= @12, @20, @328 MEAM= D or OD Colletg 0l&st0d D12/D20/D32/0D12/0D20/0D32

=]
Cofet MoIZo| HABTE AIBE 4 US.

(o]
=]

xf
(o]

o :(o oH :(o

22



HYDRAULIC EXPANSION CHUCK

L2max | LZmin

WHMB-70 6 | 25 | 28

Hskagn | WHMB-70 8 | 27 | 30 701315 275 28 %0 \sxos
WHM10-75 | 10 | 29 | 32 75 | 425 325 34 | 55
WHM12-85 = 12 | 31 @ 34 80 | 475 | 375 65 | MBX1.0
WHMB-70 6 25 | 28 M5X08 | Figl
WHMET0 R 70 | 375 275 28 | 44
WHM10-80 = 10 | 29 | 32 | 40 | 75 | 425 325 34 | 54
WHM12-85 | 12 | 31 @ 34

HSKBOA i o 14 | 33 ag 85 | 475 | 375 ZRN T
WHM16-90 | 16 | 35 | 38 | 60 30 Fig2
WHM18-90 | 18 | 38 | 41 - 90 | 525 425 64 o
WHM20-90 | 20 | 40 @ 42 | - g
WHMB-70 6 25 | 28 M5 X 0.8
WHM8-70 8 | 27 | 30 70| 3751275 245 uex10
WHM10-80 | 10 | 29 | 32 80 | 425 | 325 35 | 54
WHM12:85 | 12 | 31 | 34 MEX10 |

g WHMIZSS 14 3w 50 | 85 | 475 | 375 10 | 40 | 59 Fig!
WHM16-90 | 16 | 35 | 38 46
WHM18:90 | 18 | 38 | 41 90 | 525 | 425 47 | B4 | MBX10
WHM20-90 = 20 | 40 | 43 48
WHMZ25-120 | 25 | 53 | 57 | 63 | 120 | 61 | 51 59 | 94 .
WHM32-125 32 | 58 63 | 75 | 125 | 65 | 55 63 | gg  MIGX10 | FigZ
WHM6-75 6 25 | 28 M5 X 0.8
WHMET2 s o 3 54 75 35 275 2% | 46
mmggg 12 g? gi 90 | 425 | 325 2 8 e

95 | 475 | 375 47 | 66

Hskioon WHM1485 | 14 | 83 36 | -
WHM16-100 | 16 | 35 | 38 100 3 | 7 g
WHM18-100 | 18 | 38 | 41 525 | 425 M8 X 1.0
WHM20-105 20 | 40 | 43 105 59 | 76
WHM25-110 | 25 | §3 | &7 | 63 | .| 61 | 5 6 | g _MBX1O
WHM32-110 | 32 | 58 | 63 | 75 65 | 55 M8 X 1.0

Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD

ot

=]
xf
(o]

o :(o oH :(o

=]
CHFSH ALO| RO AL ZE A

£ AME.

StA Ol
S=E T ME.

D or OD Collets

Ao BAST ChuckingAlol @6~@322] EAZT 3= &
h6 2ol S012= EAE

X @12, @20, 032 AEAlol=

01835t0{

D12/D20/D32/0D12/0D20/0D32

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve

+ Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm
HSK100 - G2.5/15,000rpm

23

AINHI NOISNVdX3
JMNVHAAH



MINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

D4

DIN69893 HSK/A-WHM

CODE NO. | L2max | L2min |

WHMB-150 150 103 | 124
WHMB-200 0 » | ® 200 | oo e 103 | 174 | MoX08
WHM8-150 g 27 | a0 150 ' ' 104 | 124 | oo
WHMB8-200 200 104 | 174
WHM10-150 150 104 | 124
WHM10-200 s = T 104 | 174
WHM12-150 150 105 | 124

Hskea WHM12-200 29 34 g0 200 | oo ge g 105 174 M6 X 1.0
WHM14-150 | 3 | s 150 ' ' 105 | 124
WHM14-200 200 105 | 174
WHM16-150 150 106 | 124
WHM16-200 )% = 200 | . 108 174\ ovg
WHM18-150 s | a8 | a1 150 R 107 | 124 '
WHM18-200 200 ' 107 | 174
WHM20-150 150 108 | 124
WHM20-200 201401 8 200 | °2° 108 | 174 | MBX10

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD

Mol HAST ChuckingAlo @6~@329 HAET 83 & + Tolerance of cutting tool shank should be configured within h6
h6 2Hll S0{2= BAIFE AIE. + ID(Inner bore) size can reducible by using reduction sleeve
= @12, @20, @328 MEAM= D or OD Colletg 0l&st0d D12/D20/D32/0D12/0D20/0D32

=]
Cofet MoIZo| HABTE AIBE 4 US.

(o]
=]

xf
(o]

o :(o oH :(o

24



HYDRAULIC EXPANSION CHUCK

>

DIN69893 HSK/C-WHM

CODE NO.

WHM6-60 6 25 28 35 M5 X 0.8
HSKAOC WHMB8-60 8 27 30 60 375 215 36 M6 X 1.0

WHM10-65 10 29 32 65 425 325 41 )

WHM12-70 12 31 34 70 475 375 47 M6 X 1.0

WHMG-60 6 25 28 30 M5X 0.8

WHMB8-60 8 27 30 60 375 215 10 30 M6 X 1.0

WHM10-65 10 29 32 65 425 325 35

WHM12-75 12 31 34 44 M6 X 1.0
HSK50C WHM14-75 14 33 36 7 475 375 46

WHM16-80 16 35 38 51

WHM18-80 18 38 4 80 525 42.5 51 M8 X 1.0

WHM20-80 20 40 43 52

Taper:AT3 | T..LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD

Mol HAST ChuckingAlo @6~@329 HAET 83 & + Tolerance of cutting tool shank should be configured within h6
h6 2Hll S0{2= BAIFE AIE. + ID(Inner bore) size can reducible by using reduction sleeve
= @12, @20, @328 MEAM= D or OD Colletg 0l&st0d D12/D20/D32/0D12/0D20/0D32

=]
CIofEt AfOIZO| TABTE AIRE 4 %S,

(o]
=]

xf
(o]

o :(o oH :(o

25

AINHI NOISNVdX3
JMNVHAAH



MINHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

D4

DIN69893 HSK/E-WHM

CODE NO. | L2max | L2min |
WHMB-75 6 25 28 75 55
HSKAOE WHMB-70 8 27 30 % 70 375 | 273 28 50 | M5X0.8
WHM10-75 10 29 32 75 425 | 325 34 55
WHM12-85 12 31 34 85 475 | 375 - 65 | M6X1.0
WHMB-70 6 25 28 M5X0.8
WHMS-70 8 27 0 100 70 375 | 275 10 28 44 ME X 1.0
HSKS0E WHM10-80 10 29 32 ' 80 425 | 325 34 54
WHM12-85 12 31 34 85 475 | 375 44 59 ME X 1.0
WHM16-90 16 35 38 60 90 525 | 475 30 64 )
WHM20-30 20 40 42 - ) ] -

Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD

Mol HAST ChuckingAlo @6~@329 HAET 83 & + Tolerance of cutting tool shank should be configured within h6
h6 2Hll S0{2= BAIFE AIE. + ID(Inner bore) size can reducible by using reduction sleeve
= @12, @20, @328 MEAM= D or OD Colletg 0l&st0d D12/D20/D32/0D12/0D20/0D32

=]
CIofEt AfOIZO| TABTE AIRE 4 %S,

(o]
=]
xf
(o]

o :(o oH :(o

26



Tool Lenght Adjustable
Design by Gear

- Y2 VIS E E4 Gear Y4
* Unclamping = AIf2=2 20| 2E= AM&SHA| Setting

+ Using Special Gear to tool Length Adjusting
« Easy Tool length adjusting by gear after assembling the chuck into the spindle of Machine

T-Wrench &ILIZ £A|
BTE et

Easy Clamping and
Unclamping by T-Wrench
Clamping/ Un clamping It

is able to tool change after
assembling the chuck into the
spindle of Machine

BTN B
T-WrenchZ &4 &4
0] =Ho| 7t5%. (Max.
10mm)

Easy Tool length adjusting
up to 10mm by gear after

assembling the chuck into the
spindle of Machine

D71B0| &t
Good for High Speed

Machining
FYMS 5 25,000RPM77P
K| HigATF HSERIH |, 14718

Sioll A 1™Eo 75.“?:13'- 0@’8
S HASHC

Even under high speed, it works
very fast without vibration and
makes sure of fine process and
safety with fine balance up to
(2.5 at 25,000rpm

JINMNVHAAH

MINHI NOISNVdX3

5um, O|LH D™E /

T.IR accuracy

LU SHE S0l 02
2 NYA| 1BYE 05D B
ol 2 Y

Below 0.005mm at 2.5XD This
high accuracy extend tool life
including improving mechining
codition.

Clest LHZ AFOI=2| D
COLLETE AEE £+ US

ID(Inner bore) size can
reducible with reduction
sleeve

Using Reduction sleeve

D12/D20/D32/0D12/0D20/
0D32

HAR A
Coolant System
H3 U 2F2 ZAR ARO[ 7+

g
==

DING9871 AD+B type

Center through coolant
system(AD) + Flange
through coolant system(B)
= AD/B coolant system

27



MINHI NOISNVdX3
JMNVHAAH

HYD RAU I_I C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

BT40 | WHMZ20G-30 20 40 43 50 90 525 425 10 50
BT50 | WHMZ20G-90 20 40 43 50 85 52.5 42.5 10 32

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

L1

L3

J\'
D
D2
D3
D4

T - = —{==- -
[ = e e [
[T 4 RV

\ L2 min
L2 max
DIN69871 SK-WHM(G type) -
CODE NO. | 2max | L2min | V
SK40 | WHM20G-85 20 40 43 50 85 525 425 10 50
SK50 | WHM20G-85 20 40 43 50 85 52.5 425 10 32

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

NOTE
« YA HAST ChuckingAlol @g6~@329 HAEZT 43= & + Tolerance of cutting tool shank should be configured within h6
SAEh6 2Hfl S0 HAZTE AE. + ID(Inner bore) size can reducible by using reduction sleeve

« RYUE @12, 220, @32% AZAloll= D or OD Colletg 0183104 D12/D20/D32/0D12/0D20/0D32
teket Afo|=o] HASHE M8 4 AUT.

o 4

Qo 28



HYD RAU LI C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

L3

AINHI NOISNVdX3
JMNVHAAH

DIN69893 HSK/A-WHM(G Type)

mm

CODE NO. L1 | L2max | L2min |
Hskeaa | WHM12G-95 12 31 34 95 | 475 | 375 42 69
WHM20G-100 | 20 40 43 c0g | 100 | 525 | 425 50 74
WHM12G-105 | 12 31 34 ' 105 | 475 | 375 10 42 76
HSK100A | WHM20G-110 | 20 40 43 110 | 525 | 425 50 81
WHM32G-120 | 32 60 63 | 750 | 120 65 55 61 91

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD

- S| HAZT ChuckingAlo] @6~@322] HAZF M3= & * Tolerance of cutting tool shank should be configured within hé
SAHh6 2Hofl S0{eE= HAZTE AE. * ID(Inner bore) size can reducible by using reduction sleeve
c KU @12, 320, @32 AMZA0l= D or OD Collets 0|&5H0d D12/D20/D32/0D12/0D20/0D32
CHUSH ALO| 2| HAFTE ARBE & US. + Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm

HSK100 - G 2.5/15,000rpm

29



JIA3I1S NOILINATY

HYDRAULIC EXPANSION CHUCK COLLET _seducaion Sesve(i e

0D-Coolant Waterproof Design

0-Ring

@D

@d
?D1

L1 L2

mm

CODE NO.

3 3
4 4

0D12 5 5 12 21 45 2
6 6
8 8
3 3
4 4
5 5
6 6

0D20 g g 20 29 50.5 2
10 10
12 12
16 16
6 6
8 8
10 10

0D32 12 12 32 39 60.5 3
16 16
20 20
25 25

T.LR=5: /25D

OD COLLETE= WiZ gof wzt 658l 88

U0 HAZTO| ShankZ 27| Chucking 3
o, 1FU= (SA)RXIE sto] LE g9 3la- SIS
AAZOR HEotn YO HAMR MEA ZAR S22

Peature

- ID(Inner bore) size can reducible by using reduction sleeve

0D12/0D20/0D32

+ 0D type is 100% coolant waterproof
« There is a little bit tighten when insert the reduction sleeve into the

chuck due to high precision tolerance of reduction sleeve and chuck.

« Please insert the reduction sleeve into the chuck after insert a cutting

tool into the reduction sleeve.

@lpm 30



HYDRAULIC EXPANSION CHUCK COLLET -Reduction sieeve

@D1
|
|
|
|
@D2
IA3FTS NOILINAIY

L1 ‘ L2

D-Standard Reduction Sleeve

mm
CODE NO.

3 3
4 4

D12 5 5 12 16 445 2
6 6
8 8
3 3
4 4
5 5
6 6

D20 8 8 20 24 50.5 2
10 10
12 12
14 14
16 16
6 6
8 8
10 10
12 12

D32 14 14 32 36 60.5 3
16 16
18 18
20 20
25 25

T.I.LR =5:/2.5xD

Peature

« Q9K 2 D COLLETE 3589] £3i2 0] X*M—'—?l « ID(Inner bore) size can reducible by using reduction sleeve
9| ShankE 27| Chucking i, HU= RXIE 0D12/0D20/0D32
ol LHE @9 Ha Zx7F HLsH] ChuckingAlo]| OIX*O - There is a little bit tighten when insert the reduction sleeve into the
FolstAlR. chuck due to high precision tolerance of reduction sleeve and chuck.

COLLETOl 24375 detet
A2, HEA ZESI= 2ol
10 HEgLCE

0l Chuckofl &2kl 2=

= « Please insert the reduction sleeve into the chuck after insert a cutting
HO3X| 942 4 9loL

tool into the reduction sleeve.

iV

31



SHRINK FIT CHUCK
SHRINK FIT EXTENSION
SLEEVE

oN

}2ist Clamping
I=ot ST WA
£

Ik ME

>

Kl

- Strong Torque Power

- Quickly and Easy Tool change

- Excellent for High Speed Machining [




SHRINK FIT CHUCK _pesigned 3" siope

MAS403 BT-SHR

BT30

BT30

CODE NO.

SHR3-80 14.8 3 9 9
SHR4-80 15.8 4 10 12
SHR5-80 16.8 5 1 15
SHRG-80 17.8 6 12 25
SHR8-80 19.8 8 14

SHR10-80 21.8 10 16 32
SHR12-80 23.8 12 18 38
SHR14-80 25.8 14 20 40
SHR16-90 27.8 16 22

SHR18-90 29.8 18 24 42
SHR20-90 31.8 20 26 44

80

90

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

— BTN |

h6

@3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 218.1-24 ‘ 324.1-30 ‘ 430.1-40

0-16um

33  www.iwidin.com

MINHI LI INIHHS




AINHI LI MNIHHS

SHRINK FIT CHUCK _pesigned 3" siope

BT40

MAS403 BT-SHR

CODE NO.
SHR3-90 17 3 9 9
SHR4-90 18 4 10 12
SHR5-90 19 5 1 15
SHRG-90 20 6 12 25
SHR8-90 22 8 14 90
SHR10-90 24 10 16 32
BT40 SHR12-90 26 12 18 38
SHR14-90 28 14 20 0
SHR16-90 30 16 22
SHR18-95 32 18 24 42 95
SHR20-95 34 20 26 44
SHR25-100 39 25 31 50 100

Taper : AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

****f~———§5§ﬁ§HANK@‘ 036 ‘ 6.1-10 ‘ 010.1-14 ‘ 314118 ‘ 018.1-24 ‘ (024.1-30 ‘ (130.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

@lpm 34



SHRINK FIT CHUCK _pesigned 3" siope

BT50

MAS403 BT-SHR

CODE NO.
SHRG-100 20.4 6 12 25
SHR8-100 22.4 8 14
SHR10-100 24.4 10 16 32
SHR12-100 26.4 12 18 38
SHR14-100 28.4 14 20
BTS0 SHR16-100 30.4 16 22 40 100
SHR18-100 32.4 18 24 42
SHR20-100 34.4 20 26 44
SHR25-100 39.4 25 31 50
SHR32-100 46.4 32 38

Taper: AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

35 www.iwidin.com

MINHI LI INIHHS




AINHI LI MNIHHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK4O0A

mm

CODE NO.
S8 1 ; : S
ST 20 ‘ 1 L S
HSK40A g:ggfgo 22 6 12 . +
ST 2 : 1 —
SHRID17D 7 1 1 I
SHRIZ17D & 12 1 S

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For : Solid Carbide

0-8um

0-9um

0-11um 0-11um 0-13um

K@‘ 73-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 018.1-24 ‘ (324.1-30 | @30.1-40

0-13um 0-16um

@lpm 36



SHRINK FIT CHUCK _pesigned 3" siope

HSK4OE

DIN69893 HSK/E-SHR

mm

CODE NO.
S8 1 ; : I
ST 20 ‘ 1 L S
HSK40E g:ggfgo 22 6 12 . +
ST 2 : 1 —
SHRID17D 7 1 1 I
SHRIZ17D & 12 1 S

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For : Solid Carbide

430.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

37 www.iwidin.com

MINHI LI INIHHS




AINHI LI MNIHHS

SHRINK FIT CHUCK _pesigned 3" siope

HSK50A

DIN69893 HSK/A-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 25 80
SHR8-120 216 8 1 120
SHR10-80 80
SHR10-120 236 10 16 32 120
SHR12-85 85
HSK50A SHR12-120 258 12 18 38 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

,,,,,;,;M“j% i%?s HANK@ ‘ o

3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 218.1-24 ‘ 724.1-30 ‘ 430.1-40

h6 0-8Bum 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

@lpm 38



SHRINK FIT CHUCK _pesigned 3" siope

HSKS0E

DIN69893 HSK/E-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 80
SHR8-120 216 8 1 25 120
SHR10-80 80
SHR10-120 236 10 16 120
SHR12-85 85
HSK50E SHR12-120 258 12 18 33 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

— EAZTSHANKD

‘ @3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 218.1-24 ‘ 724.1-30 ‘ 430.1-40

h6 0-8Bum 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

39 www.iwidin.com

MINHI LI INIHHS




AINHI LI MNIHHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK63A

D1

mm

CODE NO.
SHR3-80 171 3 9 9 80
SHR4-80 18.1 4 10 12 80
SHR5-80 19.1 5 11 15 80
w0 w s | ow | B
O @ e
sow s W oo
R T R B
sl e omw
I -

Taper:AT3 | T.I.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

430.1-40

‘ 73-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ (18.1-24 ‘ 324.1-30 ‘

0-8um

0-9um 0-1Tum

0-1Tum

0-13um

0-13um

0-16um

@lpm 40



SHRINK FIT CHUCK _pesigned 3" siope

HSK100A

HSK100A

L3

Fig2 ‘ L
DING69893 HSK/A-SHR -
CODE NO.

SHR6-85 6 12 ’5 80
SHR8-85 8 14 85
SHR10-90 10 16 32 90 .
SHR12.95 = 3 50 248 91 83.84 . s Fig1
SHR14-95 14 20 95

HSKT00A 1\ 1R16-100 16 22 40 100
SHR18-100 18 24 - - - 42 100
SHR20-105 20 26 - - - 44 105 .
SHR25-115 25 31 - 39.2 - . 50 15 Fig2
SHR32-120 32 38 - - - 120

Taper:AT3 | T.I.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

——— ZASTSHANK ‘ 036 ‘ 06.1-10 ‘ 010.1-14 ‘ 014118 ‘ 018.1-24 ‘ 324.1-30 ‘ (930.1-40

h6 0-8um 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

41  www.iwidin.com

MINHI LI INIHHS




SHRINK FIT EXTENSION CHUCK -pesigned 3 stope

3° Slope
B s I . e B 133

AINHI LI MNIHHS

SR-SHR (STANDARD)

mm

CODE NO. D | Shank Tolerance

SHR3-160 3 9
SHR4-160 4 10

SR16 SHR5-160 5 " 16 66.8
SHR6-160 6 12 10
SHR8-160 8 14
SHR10-160 6 12 160 hé
SHR6-160 8 14

SR20 SHR8-160 20 105
SHR10-160 10 16 26
SHR12-160 12 18 32

(EXTRA SLIM) mm
CODE NO. D D | Shank Tolerance

SHR3-160 3 6 9 52.2
SHR4-160 4 7 12 47.7

SSA12 SHR5-160 5 8 12 15 38.2 hé
SHR6-160 6 9 25 28.6
SHR3-160 3 6 9 85.9
SHR4-160 4 7 12 85.9
SHR5-160 5 8 15 76.3

SSH16 SHRB-160 6 9 16 25 47.7 160
SHR8-160 8 " 47.7 he
SHR10-160 10 13 32 28.6
SHRE6-160 6 9 o5 95
SHR8-160 8 " 85.9

SSA20 SHR10-160 10 13 20 32 66.8
SHR12-160 12 15 38 47.7

For : Solid Carbide

*ﬂ@fﬁf'\”@‘ 036 ‘ 06.1-10 ‘ 010.1-14 ‘ 014118 ‘ 018.1-24 ‘ 024.1-30 ‘ 030.1-40

h6 0-8um 0-Sum 0-11um 0-11um 0-13um 0-13um 0-16um

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for
carbide steel

@lpm 42



SHRINK FIT EXPANSION CHUCK -pesigned 3 stope

3° slope

903
j
:
.
'
.
.
'
.
'
.
.
'
'
'
'
'
'
'
.
'
'
.
'
'
.
'
.
!
.
!
.
'
'
.
'
!
'
o

D1
@D2

SR-SHR
CODE NO.

SHR6-300 6 12

SR20 SHR8-300 . y 20 25 76.3
SHR8-300
SHR10-300 10 16 32

SR25 SHR12-300 12 18 25 38 124
SHR14-300 14 20
SHR16-300 16 22 40
SHR10-300 10 16 32
SHR12-300 12 18 38

SR32 SHR14-300 14 20 32 190.8
SHR16-300 16 22 40
SHR20-300 20 26 42

300

Shank Tolerance

h6

For : Solid Carbide

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for

carbide steel

43 www.iwidin.com

MINHI LI INIHHS




AINHI LI MNIHHS

Induction Machine for Shrink Fit Chuck -zxss 2us o

SF4200

E3 % I (Feature)
Z|CHAH|IHZ 3. 6KW

 Low Consumption Power : Max. 3.6W

o JELZ A IHA : Steel AE, SUS AL
e Chuck material : STEEL & SUS

o X 712 A

* Cost-effective price and competitive price

o 2 E71

* Delivery : within 10 days from order date
o AMEXYY 1 AC 100V~240V

« Using Volatage : Free Voltage

o 5|8 & of o2t LA

¢ All-in-one Inducting & Air Cooling System

AAIO
o 22 T

Easy Operating Manual

ST E/AAR(Shrinking Time)

ZQ ¥ (Specification)

22 Model Sf4200 Chuck ID Induction 24 (Carbide Tool)
T2 Power AC 110V -240V Coil Heating Cooling
AHlﬁﬁ..Rated. Ampere Max 3.6KW g4 @20 4 Sec. 6 Sec.
AO|= Dimension(mm) 325X 340 X690
S A SF |E &I See below Chart 76 @20 4 Sec. 5 Sec.
7 =R G e eI Rrel|  20mm), 30mm, 40mm, 50mm
EE RPN B30, Bt40, BT50 g8 220 4 Sec. 4 Sec.
IjI:JIdHe:Su:(JEo; §|ize HSK32, HSKAD, HSK50, HSKe3, HSK100 212 270 4 Sec. 5 Sec.
X W8 718 37
Inducting range of Chuck 1D [CERRSZAIL 716 @30 6 Sec. 10 Sec.
aa Weight 19kgs
211 Output Hz 7kHz ~ 45kHz A 20 B 40 8 Sec. 12 Sec.
Z (Standard Parts) * 7183 Y LHE x| cHERLSE
« 71993 (Induction Coll) : @d = 30mm Induction Coil Size [@d]  [Standard Parts]
» 7 B¥aIh(Holder Support) : BT & HSK 0 d =20mm 0d=30mm
* L& ZH(Heatproof Gloves) 0 d=30mm HERES Mol OE
. 2% (Fuse) @ d = 40mm Molx= 4 T
@ d=50mm And other size is optional

o 4



pted

0] 020]

- CHUCK

LE MILLING

SIN

e P
- = =




AINHI ONITTIN

SINGLE MILLING CHUCK

MAS403 BT-C m
CODE NO. | COLLET
C20-75 75
BI30 " co0a0 90
C20-80 20 19 59 80 65 K20
€20-90 90
20-135 135
C25-90 90
BT40 | ocae 25 255 62 135 70 K25
32-90 90
C32-105 32 25 75 105 75 K32
32-135 135
C20-105 105
£20-150 20 19 59 150 65 K20
C25-105 105
25135 25 255 62 135 70 K25
32-110 110
BIS0 Cap135 32 25 75 135 75 K32
C32-165 165
C42-110 110
C42-135 42 25 94 135 85 K42
C42-165 165
Taper: AT3 | T.LR=10:/2.5xD | Coolant: AD
COOLANT
- L= Z% (Spindle Through)AKB0| 7Hs3I0 AR Al ONK ColletS HB3HIAIR.

« If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

@mﬂv 46



L1

d1
D1

DING69871 SK-C

mm

C20-105 20 59 K20
SK40 ggglgg 25 62 105 K25
C32-135 32 75 135 K32
C20-105 20 59 K20
C25-105 25 62 105 K25
C32-105
C32-135 32 75 135 K32
SK&0 C32-165 165
C42-115 115
C42-135 47 94 135 K42
C42-165 165
Taper:AT3 | Coolant: AD
L1 L1
L2 L2
< I\ %‘ 2
=
Fig.1 Fig.2
DIN69893 HSK-C -
HSK50A C20-100 1 20 19 59 100 65
HSKB3A C20-105 105
C32-130 2 32 25 75 130 75
C20-110 20 19 59 110 65
HSK100A C32-135 1 32 25 75 135 75
C42-135 42 94 135 85

Taper:AT3 | Coolant: AD

- LIE &% (Spindle Through)At&0] 7ks3tH AFZAl ONK ColletgE H&shAlR .

« If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

47

AINHI ONITIIN



AINHI ONITTIN

SINGLE MILLING CHUCK

DIN2080 NT-C

CODE NO.

Draw Bolt

Draw Bolt
INCH METRIC

COLLET

B

lo

- 2A 2[H0|H= 300719 HlojZs 8ot FEHON Z40 OH
0| O|R0{X|22 2l +HE FARLICH

- E42402 HRHE 2lEfo|Li= IESO] Hislol 20| BRI

Durability
« Milling chuck will be maintained long life through retainer that is
accepted 300pcs bearings and minimized the friction on its rolling side.

LIS 222 #|o2
= US HoE2 MY 228t oisol= REEA 2S5
Of &L

CEZHY T
9
[=]

=
o opEk

Needle Roller Bearing
+ The Needle Bearing with high precision & high strength is working
softly and no friction noise even heavy load.

NT30 20 20 5 505 Sg 1/2'-12UNC | M12X1.75 20
NT40 295 o 5/8"-11UNC | M16X2.0
32 32 75 267 % K32
NT50 42 42 94 86.2 110 1"-8UNC M2AX30 v
L2
Draw Bolt
R8-C
CODE NO. Draw Bolt |  COLLET
RS €20 20 59 62.5 85 7/16"-20UNC K20
Aze

=13

<670 AREL 28 Y

E UgMUZe 2 ¢ 0|I2ES Mistn 0lng
Xlstod MZe SMA7IH ST RS HXIFLICH
Slot

« Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

1o

@mﬂv 48



SINGLE MILLING CHUCK -set

SR8-C, SNT-C
CODENO SETLHE (Set Contants)
' 24| (Chuck) COLLET MT. 2E (MT Collet) | E2A H} (Drill Chuck Bar)
SR8 R8-C20
E— C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6
SNT30 NT30-C20
SNT40 NT40-C32 K32 gb8'2150'12'16
— C32 6 8 101216 K32-MT1.2.3 K32-JT6
NT50-C32 K32 e
20.25
SNT50 6.8.10.12.16
C42 NT50-C42 K42 202532 K42-MT1.2.3.4 K42-JT6

-2 M BE MES F25H (= Draw Bolt (inch. Metric) 74

ERNESE SIS

oil) SNT50M-C42(METRIC SIZE),

SNT50U~-C42(INCH SIZE)
- Draw Blot € X|H5lX|et2

L0ll= NT40, NT50, R82 INCH

SIZE 2 NT30, NT60& METRIC SIZEE Z1ELICtH

« E2X BHJTE)O

21O
caxe

IElT|Of QUAT S LI

+ Centering Bare SetolM &M@l ELct

Metric at ordering step.
+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

bolt.
« Drill chuck bar(JT6) is excluding a Drill chuck

+ Please make designate the Draw Bolt dimension between Inch and

« Centering Bar is excluding in set contents.

49  www.iwidin.com

MINHI ONITIIN




AINHI ONITTIN

SINGLE MILLING CHUCK

Cotter Home
Tang

Draw Bolt

MT-C m
CODE NO. d1 D1 Draw Bolt | COLLET
C32-90 32 75 90 K32
MT4 C42-95 42 94 95 M16X2.0 K42
C32-90 32 75 90 K32
MT5 C42-95 42 94 95 M20X2.5 K42
MT6 C32-90 32 75 90 - K32
C42-95 42 94 96 - K42
FEoti= Tang Type It Draw Bolt Types YHFAAR « Please make designate the Draw Bolt dimension between Inch and
0f) MT5D-C32(Draw Bolt Type), MT5T-C32(Tang Type) Metric including Tang type at ordering step.
- Tang Type 2 Cotter Home MYE ?Iot 717 22 2 SIAIES & * Please inform about Model and Manufacturer of Machine in order to
EEESINIeY make designate of Cotter Home for Tang type.

SINGLE MILLING CHUCK -set

SMT-C
CODE NO SETLHE (Set Contants)
' 25| (Chuck) COLLET MT. Z3IE (MT Collet) | =2 d} (Drill Chuck Bar)
SMT3 C20 MT3-C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6
SMT4 MT4-C32 268'2150'12'16
C32 K32 - K32-MT1.2.3 K32-JT6
6.8.10.12.16
MT5-C32
SMT5 20.25
6.8.10.12.16
MT5-C42 202537
E— C42 K42 6 8 10' 1216 K42-MT1.2.3.4 K42-JT6
SMT6 MT6-C42 20.25.32
- C2 M Ht = ENE Ze6HK] s + Drill Chuck Bar is excluding Drill Chuck
« Centering Bare Z8l61X| Z&LICt, « Centering Bar is excluding in set contents.

@mﬂv 50



DOUBLE BEARING MILLING CHUCK

e,

MAS403 BT-DBC

L1
L2

d1
D1

;

g

mm
CODE NO. 12 | WEIGHT(kg) | COLLET
DBC42-120 120 78
BT50 DBC42-135 42 107 135 107 8.6 K42
DBC42-165 165 97
Taper: AT3 | Coolant: AD
Ags

+ 0I5 LIS HIo1Zol ofet Mnt npyzis Lolsiaz 22 Aol o
et

- e JiolE ol ot =2 ZYFEZ Foikls =l 4t HIEY
dEE AU AU

- ot 2lH0|HE AR Hilo>le] s Ent +5 Z[tH=510] 0[&Eoi of
S0| 2tzez 245 tds RAIRUC

- 2= &4 7S SXI2l610 Lot go] g

- 42 A JISS0| Yilisle TSE ez WU

FEATURES

+ It adopt a form double Roll-Lock and it give full play to high power
from high holding. (A form of Heavy Duty Cutting)

+ External diameter grinding in combination with guide Ring is keep
precision on cutting tools. (For precise working.)

« With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

+» The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

6719 AREE HEHUZY 2 H 0|2FE MVist njnds ¢
Alsto] HYS A7 IH ST S YR

Slot
« Eliminates the oil and dregs owing to 6pcs-slots and improves torque

power due to prevent slip and come off the tools.

www.iwidin.com

MINHI ONITIIN




AINHI ONITTIN

DOUBLE BEARING MILLING CHUCK

Draw Bolt

]

DIN2080 NT-DBC

mm

Draw Bolt
CODE NO. INCH METRIC COLLET
NT50 DBC42 42 107 97.7 100 1"-8UNC M24X3 K42

23 FAR L AZE
+ 0|F LIS tlofof ot MZnt melzis Walotaz 2= FAl &

Stk
«JY Jtol= Yol oot &2 AEFRE Zoikle a7t 4Tt HIEE

ZEE X1 A&
« Zuwet 2[H0|HE AL HIO1F S| HiEnt 5 Z|CHZ5104 0[&THol| &t

50| BB 2451 LITEE |XILUCH
c 22Xl S 37Ee Ex2lstod Lok o] 4Lt
- 4= A VB0 Yk TisE s o= WR|gL

FEATURES

« It adopt a form double Roll-Lock and it give full play to high power
from high holding. (A form of Heavy Duty Cutting)

« External diameter grinding in combination with guide Ring is keep
precision on cutting tools. (For precise working.)

» With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

* The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

« 67Ho] AREE= LHUZC 2 I Ol2EE Mol njngs &
XI5t MAHS A7 IH ST thES YR

Slot

« Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

@lpm 52



DOUBLE BEARING MILLING CHUCK -set

SNT-DBC .
CODE NO SETLHE (Set Contants)
: =B COLLET MT. Z21E (MT Collet) | =2t (Drill Chuck Bar)
6.8.10.12
SNT50 DBC42 NT50-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J6

-2 M gF MEE FESH e Draw Bolt (inch. Metric) 74 « Please make designate the Draw Bolt dimension between Inch and

= X gaAR. Metric at ordering step.
0f) SNT50M—-DBC42(METRIC SIZE), + Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
SNT50U-DBC42(INCH SIZE) bolt.
+ Draw Blot & XIHsIXIs d<0l= INCH SIZE 2 SngUct + Drill chuck bar(JT6) is excluding a Drill chuck
- CEH HHJTE)0 S22 ZEE 0 UX| LSLICH « Centering Bar is excluding in set contents.

« Centering Bare SetollAl X2 ELICt,

53 www.iwidin.com

MINHI ONITIIN



AINHI ONITTIN

DOUBLE BEARING MILLING CHUCK

L1

Cotter Home

Tang

S

CODE NO. COLLET

DBC42-100

2 A L2l
- 01F LIS siofZol <Jst Z0Ist M2iut mixjgs walsioz 2=zs FEATURES

ol &gkt « It adopt a form double Roll-Lock and it give fully play to high
< Mol o= ot 52 ANRER ZEX|= a7t &t b= power from strong torque power. (A form of Heavy Duty Cutting)

22 K| D ot « External diameter grinding in combination with guide Ring is keep
- HWst 2|H0|HE A2 LIS Hoj2lo] ignt S22 F|tHZ 510 0] precision on cutting tools. (For precise working.)

LHO|| 51E0| BAIZ[DZ2 245 LIPANES SXIRILICE, + With Lock Ring rotate side to side, the exchange tool is quickly
- 23 HATIE S0 WMSHs TI5S 1RO 2 WAL and simple.(The working hours shortening)

« The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

DOUBLE BEARING MILLING CHUCK _set

SMT-DBC
SETLHE
o 25 (Chuck) COLLET MT. 22 E (MT Collet) | =2 b} (Drill Chuck Bar)
6.8.10.12
SMT6 DBC42 MT6-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J76
- CEHEHJTE)0 E2EXS LatF 0] UX| LELITE + Drill Chuck Bar is excluding Drill Chuck
« Centering Bare Z&I6IX| Z&LICH. « Centering Bar is excluding in set contents.

@lnm 54



MILLING CHUCK -nce coer

L1
— 1q
2 ® s 8
NK ) -
CODE NO.(d1) D1 D2 L1
NK20 6.8.10.12.16 20 24 66
NK32 6.8.10.12.16.20.25 32 37 80
NK42 6.8.10.12.16.20.25.32 42 48 87
MILLING CHUCK _STRAIGHT cOLLET
L1
| o —
_q'_T_
5 - - it _{ S
$| | e
K - mm
CODE NO.(d1) \ D1 D2 L1
K20 6.8.10.12.16 20 24 50
K32 6.8.10.12.16.20.25 32 36 65
K42 6.8.10.12.16.20.25.32 42 48 75
MILLING CHUCK _cooLanTs coLLET
L1
O n
" [Me——H '
ONK | v o
CODE NO.(d1) D1 D2 L1
ONK20 6.8.10.12.16 20 24 77
ONK32 6.8.10.12.16.20.25 32 37 90
ONK42 6.8.10.12.16.20.25.32 42 48 97

+ ONK Z&8IE& Single Milling Chuck (C Type) 2Double Bearing Milling Chuck (DBC Type)oil

37E 25z MEYUO

+ ONK collet is able to apply for Spindle Coolant system with Milling Chuck and Double Bearing Milling Chuck

to4 Oil Hole(internal Cooling)

55

13109

MONHI ONITIIN




131109

AINHI ONITIIN

MORSE TAPER CHUCK

K-MT
oS
BOILIERCEL Drilling Range
MT1 2.0-14 MT1
K20 MT2 14.1-23 MT2
MT1 2.0-14 MT1
K32 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT1 2.0-14 MT1
K42 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT4 32.1-50 MT4

STRAIGHT DRILL CHUCK

K-JT
==
CODE NO. Drilling Range
K20
K32 JT6 1.013.0 JT6
K42

« THjAl E2A2 MQIEU
« Drill chuck to be purchased separately.




QUICK CHANGE MASTER
HOLDER

QUICK CHANGE FACE
MILLING CHUCK

MH-T
CODE NO. ZZ=H|0|H Taper | ZRRIX|Ho|mH Q.C Taper
MH40 T35 [S040 T35
MH50 T45 ISO50 T45

* Master Holder & 264 W= Draw Bolt 742 XIH6HIAR .
o) SMH40M—-T35-C32(METRIC SIZE),
SMH50U-T45-C42(INCH SIZE)

- Draw Bolt £ XIFalX| 42 Z<0l= INCH SIZE £ EnEUCt,

+ Please make designate the Draw Bolt dimension between Inch and
Metric at ordering step.

+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

QUICK CHANGE MT SLEEVE

2HIx| #0JA 2 24 Face Mill Cutter Size
Holm A= NP e
(L.C Taper Face Mill Cutter ID
3R 76 25.4
T35 4R T35 102 3175
5R 127 38.1
3R 76 254
4R 102 31.75
5 gy T4 127 o1
6R 152 50.8

QUICK CHANGE DRILL
HOLDER

"

T-MT T-dT
2RQIX| To|m == Q1K) Zo |z Z2 X Drill Chuck
CERENG: ‘ Q.C Taper MT-NO ‘ Drill H?nge CODE NO. Q.C Taper E2153 Drill Range

MT1 MT1 2.0-14 T35 T35

T35 | MT2 T35 MT2 14.1-23 T45 JT6 T45 JT6 1-13
MT3 MT3 23.1-32
MT1 MT1 2.0-14

15 MT2 15 MT2 14.1-23 « oAl EZXS H|QIELICEH, -« Drill chuck to be purchased separately
MT3 MT3 23.1-32
MT4 MT4 32.1-50

QUICK CHANGE MILLING
CHUCK

T-C
CODE NO. | 2#I9IX| H0H Q.C Taper| 42 Y213 WZ Inner Bore
T35 | C32 T35 C32
C32 C32
T45 a2 T45 a2

57

d43070H

JINVHI XIIN0




430d10H

JONVHI X3IND

QUICK CHANGE MILLING CHUCK -set

SMH-C
SETLHE Set Contants
CODE NO. OIAEED | 2E A COLLET 2ojAot 2N | MTAZE
Master Holder Chuck Face Arbor | Dirill Chuck | Drill ChuckBar | - MT.Collet
T35-C32A 268'2150'1 216 - K32-JT6 -
SMH40 MH40 T35-C32 Bé 101216 T354R
T35-C32B Zb '25 — T35-JT6 - T35-MT12.34
K32 .
T45-C32A 368'2150'1 216 - K32-JT6 -
MH50 T45-C32 Bé 101216
T45-C32B Zb '25 — T45-JT6 - T45-MT2.34
SMH50 Bé 101216 T45-5R
T45-C42A 2'0 '25 '32 - - K42-JT6 -
MH50 T45-C42 | K42 68' 10' 1216
T45-C42B 202537 T45-JT6 - T45-MT2.34
-2 M MEEZ FR5H! U= Draw Bolt (inch, Metric) 722 X| * Please make designate the Draw Bolt dimension between Inch and
oAl Metric at ordering step.
o) SMH40M—-T35-C32(METRIC SIZE), + Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
SMH50U-T45-C42(INCH SIZE) bolt.
« XIH5HK| 45 AR0l= Nt40, Nt502 INCHZ NT602 METRICS « Drill chuck bar(JT6) is excluding a Drill chuck
2 Engcth
=2 X uH(JTe)o| =S ZLef6tX| pd&LICt

@'ZIDIN 58






ER COLLET
CHUCK




ER COLLET CHUCK

O == ==
0I5 HolH ZANEE= YTR0|M SUE EREVA 43S LM HERZ0| Ago= dA 0] SHEn0| ZHYE SAstAdozM ot
ALt oot e HAs & 4 sttt

Strong Torque Power + Slim designed ER Nut were minimized an interruption to

+ ER Chuck have strong torque power. workpiece.
CE -
— J \
am
T
[
=}=}
N
m a
0| Hlojm S=E ATS

HZE S20[ 48419 Rigid Tapping 7Is0| =2 2 AEHO|E FIgN

7t30| FELC U= DA A0 1| AU YSeAl g | Mo E 4 ABLICH 2ot Heot Yssiez

If using Carbide Drill S22 gAYS ¢ o AU It using 0.05mm small HWEE ¢+ AUsH
Ut There is no drilling | dia. drill, it will improve | Cf.

and coated drill,

it can be improve
workabhility up to 4~8
times.

ER chuck is using for
Tapping process with
Machine which have
function of Rigid
Tapping.

vibration and it will
improve workability with
long drilling process.

workability when high
speed drilling
process

It is possible to high
precision cutting with
end-maill.

61



ER COLLET CHUCK

MINHI
137100 43

MAS403 BT-ER

Fig.1

L1

G1

d1
D1

Fig.2

mm

CODE NO. W(Ek'g)HT NUT | SPANNER
ER11-60 60 05
ER11-90 1070 19 0 | MSX10 | 06 EAN11 | ERSTT
ER11-120 120 07
ER16-60 60 05
ER16-90 10100 | 28 0 | MIIXI0 | 06 EAN16 | ERST6
ER16-120 120 08
ER20-60 60 06

BT30 | ER20-90 10130 | 34 0 | MIaxio | 07 EAN20 | ERS20
ER20-120 120 09
ER25-75 75 1.0
ER25-105 10160 | 42 105 | MI8X15 | 14 EAN25 | ERSZ5
ER25-120 120 1.2
ER32-75 75 11
ER32-105 20200 | 50 05 | M24X15 | 12 EAN32 | ERS32
ER32-120 120 15

Taper: AT3 | Coolant: AD

Qo 62



ER COLLET CHUCK

d1
D1

MINHI
131103 H3

MAS403 BT-ER

mm

WEIGHT

CODE NO. (kg) NUT SPANNER
ER11-60 1.0-7.0 19 60 M8X1.0 1.0 ERNT1 ERS11
ER16-60 60 1.1
ER16-90 1.0-10.0 28 90 M11X1.0 1.3 ERN16 ERS16
ER16-120 120 1.5
ER20-80 80 1.2
ER20-105 1.0-13.0 34 105 M14X1.0 1.4 ERN20 ERS20
ER20-135 135 1.6

BT40 ER25-80 80 1.3
ER25-105 1.0-16.0 42 105 M18X1.5 1.5 ERN25 ERS25
ER25-135 135 1.8
ER32-80 80 1.4
ER32-105 2.0-20.0 50 105 M24X1.5 1.7 ERN32 ERS32
ER32-135 135 2.0
ER40-80 80 1.6
ER40-105 3.0-26.0 63 105 M28X1.5 2.2 ERN40 ERS40
ER40-135 135 2.6

Taper: AT3 | Coolant: AD

63



ER COLLET CHUCK

MINHI
137100 43

MAS403 BT-ER

d1
D1

mm

BT50

CODE NO. WEIGHT(kg) SPANNER
ER16-90 90 3.9
ER16-120 1.0-10.0 28 120 M11X1.0 41 ERN16 ERS16
ER16-150 150 43
ER20-90 90 4.0
ER20-120 1.0-13.0 34 120 M14X1.0 4.2 ERN20 ERS20
ER20-150 150 4.5
ER25-105 105 4.0
ER25-135 1.0-16.0 42 135 M18X1.5 43 ERN25 ERS25
ER25-165 165 46
ER32-105 105 41
ER32-135 2.0-20.0 50 135 M24X1.5 4.4 ERN32 ERS32
ER32-165 165 4.8
ER40-105 105 43
ER40-135 3.0-26.0 63 135 M28X1.5 4.7 ERN40 ERS40
ER40-165 165 5.3

Taper : AT3 | Coolant: AD

Qo 64



ER COLLET CHUCK

G1

Tﬁﬂ&
T h————

D‘
D1

L1

MINHI
131103 H3

DING69871 SK-ER

mm

CODE NO. CHUCKING(D) D1 L1 G1 NUT SPANNER

ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160

Skao ER25-70 70
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 1.5-20.0 50 100 M24X1.5 ERN32 ERS32
ER32-160 160
ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160
ER25-70 70

SK50 ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 ERS32
ER32-160 160
ER40-70 70
ER40-100 3.0-26.0 63 100 M28X1.5 ERN40 ERS40
ER40-160 160

Taper:AT3 | Coolant: AD

65



ER COLLET CHUCK

G1

DIN69893 HSK/A-ER

CODE NO. | CHUCKING(D) | NUT | SPANNER
ER11-60 1.0-7.0 19 60 M8X1.0 ERN11 ERS11

ER16-60 1.0-10.0 28 60 M11X1.0 ERN16 ERS16

ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16

B 23 ER20-70 1.0-13.0 34 70 M14X1.0 ERN20 ERS20
SO HSK50A | ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
m ER25-70 1.0-16.0 42 70 M18X1.5 ERN25 FRS25
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25

ER32-80 2.0-20.0 50 80 M24X1.5 ERN32 ERS32

ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 FRS32

ER11-75 1.0-7.0 19 75 MBX1.0 ERN11 ERS11

ER11-100 1.0-7.0 19 100 ' ERN11 ERS11

ER16-75 1.0-10.0 28 75 ERN16 FRS16

ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 ERN16 ERS16

FR20-75 1.0-13.0 34 75 ERN20 FRS20

ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ERN20 ERS20

HSKB3A | ER25-75 1.0-16.0 42 75 ERN25 ERS25
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 FRS25

ER25-160 1.0-16.0 42 160 ERN25 ERS25

ER32-75 2.0-20.0 50 75 ERN32 ERS32

ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 FRS32

ER32-160 2.0-20.0 50 160 ERN32 ERS32

ER40-75 3.0-26.0 63 75 ERN40 ERS40

FR40-120 3.0-26.0 63 120 M28X1.0 ERN40 FRS40

ER40-160 3.0-26.0 63 160 ERN40 ERS40

ER16-100 1.0-10.0 28 100 MT1X1.0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 ' ERN16 FRS16

ER20-100 1.0-13.0 34 100 MI1AX1.0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ' ERN20 ERS20

ER25-100 1.0-16.0 42 100 ERN25 FRS25
HSKTO0A 1 eRz5-160 1.0-16.0 42 160 MI8X1.5 ERN25 FRS25
ER32-100 2.0-20.0 50 100 M2AX1 5 ERN32 ERS32

ER32-160 2.0-20.0 50 160 ' ERN32 ERS32

ER40-120 3.0-26.0 63 120 28X 5 ERN40 FRS40

ER40-160 3.0-26.0 63 160 ' ERN40 ERS40

Taper: AT3 | Coolant: AD

Qo 66



BABY ER COLLET CHUCK

L1 L2

G1

d1
D2

K-ER
Tt | SPANNER
6 et o 1 43
ERT1-100 1.0-7.0 19 50 10 M8X1.0 | ERST1
ER11-130 90 23
ER16-105 60 c3
K20 rieiae 1.0~10.0 20 28 %0 45 M11X1.0 | ERS16 £
ER20-120 70
ER20.150 1.0-13.0 34 100 M14X1.0 | ERS20
ER16-130 80
ER16.160 1.0-10.0 28 o 50 M11X1.0 | ERS16
K25 | ER20-130 25 80
ER20.160 1.0-13.0 34 0 M14X1.0 | ERS20
ER25-135 1.0-16.0 42 80 55 M18X15 | ERS25
20 130 1.0~13.0 34 %0 50 M14X1.0 | ERS20
ER20-160 10
K32 ERos-135 32 80
ER25 165 1.0-16.0 42 0 55 M18X1.5 | ERS25
chag 0 2.0~20.0 50 1o 50 M24X1.5 | ERS32
ER32-210 150
K42 ERso-185 42 10
ER50-225 50-340 78 10 85 M16X2.0 |  ERS50
CODE NO. " SPANNER
K16 | ER11M-140 1.0-7.0 16 16 140 30 M8X10 = ERS1IM
K20 | ER16M-140 1.0-10.0 20 22 140 40 M11X1.0 | ERS16M

CHEE Hlo[H| &

+DBC, JHM, ER Type & 2= Aol =gfoiof 22, =23, 9d, 218 59 4S5 2Ys 567 e85c= guot.

Bady Chuck
« This Baby Chuck are applying(extension) with Double bearing Milling Chuck, Single Milling Chuck, Hydraulic Chuck, ER Collet Chuck etc.

67



MINHI
137100 43

LONG MINI ER COLLET CHUCK

L -NUT-
L2 25 =“\[
M11 a8
= — o MType
el _ _ _ _ I [ S o
] B _|=
8
M EC AType -
CODE NO. ST
MEC16-200 200 175
S20 1 \AECT6-250 R 20 22 250 20e ERN16M | ERS16M
S25 -\ 1EC16.300 25 28 300 p ERN16A | ERS16A

LQlel c2go= WX C32, C42 oF =60 ALSEILICE,

+ Long Mini Chuck 2 ZHE2S A¢] MZSH 723 7120 0[S ct.

+ Mini Nut 2f 2850 HEQ| 7HdS 2|A S SIRUSLICH

+ Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)

« A straight shank body of this chuck has been filled with a carbide bar so that it is good for deep hole machining.
+ Slim designed ER Nut were minimized an interruption to workpiece.

LONG MINI ER COLLET CHUCK

L1

-NUT-
L2 25 __
M11 “\[ N
o
A
o N - N N N - A i %1 a MType
L1 '|=
a
MER AType
CODE NO. SPANNER
MER16-200 200 75
S20 ) iER16.250 e 20 22 250 2 ERNT6M | ERS16M
MER16-250 ’ ’ 250 275
S25 | iER16.300 25 28 500 e ERN16A | ERS16A

-C2go2 el C32, C42 o ZE6I0 AFSELICH
+ Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)

Qo 68



STRANIGHT SHANK COLLET CHUCK

\ _ - _
S e — ) ——
% Tool Holder
G1 Sleeve

AONHI
131103 H3

N-ER
CODE NO.

N16 ER11-32 16 32 22
ER11-70 1.0-7.0 19 70 30 ERN11 MB8X1.0
ER11-105 105
ER16-40 40 25

N20 ER16-70 1.0-10.0 20 28 70 35 ERN16 M11X1.0
ER16-105 105
ER20-70 1.0-13.0 34 70 4 ERNZ20 M14X1.0
ER16-105 1.0-10.0 28 105 30 ERN16 M11X1.0

N25 ER20-70 1.0-13.0 25 34 70 32 ERN20 M14X1.0
ER25-70 1.0-16.0 42 435 ERN25 M18X1.5
ER20-80 1.0-13.0 34 32 ERN20 M14X1.0

N32 ER25-80 1.0-16.0 32 42 80 435 ERN25 M18X1.5
ER32-80 55.5

N20 ER32-110 2.0-20.0 17 50 110 455 ERN32 M24X1.5

L, HAS 2T BRE 7ICHEPl 86101 NC AN JHY ERiMoE A8 4 LIt

« U=Drill, Super—Drill

on
=
Bii
O
o
o
(W)
=l
[
-l
on
mjo
‘>':
oo
ol
=3
CTJ
~
=
1o
0=
-
0x
o
ook
0z
it}
T
o

ER Chuck for NC Lathe Machine
« Application of drill and boring tools including various tools.
+ Improving productivity by using internal coolant tool such as U-Drill, Super-Drill.

69



MINHI
137100 43

GER COLLET

30°

d1
D1

GER
mm
L \ D \ RUNOUT(TIR)
6 1.0-1.4 0.015
10 1.5-2.9 0.015
16 3.059 0.015
25 6.0-9.9 0.015
40 10.0-17.9 0.02
50 18.0-26.9 0.02

CODE NO.
GER11 1.0-7.0 115 18.0 ER11 ERN11
GER16 1.0-10.0 17.0 275 ER16 ERN16
GER20 1.0-13.0 21.0 315 ER20 ERN20
GER25 1.0-16.0 26.0 34.0 ER25 ERN25
GER32 2.0-20.0 33.0 40.0 ER32 ERN32
GER40 3.0-26.0 41.0 46.0 ER40 ERN40
mm
ER COLLET CODE NO. (d)1 \ SET
GER11 1.0,15,2.0,25,3.0,35,4.0,45,5.0,55,6.0,65,7.0 13PCS
GER16 1,2,3,4,5,6,7,8,9,10 10PCS
GER20 2,3,4,5,6,7,8,9,10,11,12,13 12PCS
GER25 2,3,4,5,6,7,8,9,10,11,12,13, 14,15, 16 15PCS
GER32 3,4,5,6,7,8,9,10,11,12, 13,14, 15, 16,17, 18, 19, 20 18PCS
GER40 4,5,6,7,8,9,10,11,12,13, 14,15, 16,17, 18, 19, 20, 21, 22, 23, 24, 25, 26 23PCS

o 70



G ER CO LLET_OiI hole type

30°

S

[ -
| S |
o
e °°
|—— —_— e
I | - E -

= ———

| - . L1
23
Co
S0
~E
m
ERC For Spindle Through Coolant "
CODE NO. d1 D1 L1 CHUCK NUT
ERC16 4.0-10.0 17.0 275 ER16 ERN16
ERC20 6.0-13.0 21.0 315 ER20 ERN20
ERC25 6.0-16.0 26.0 34.0 ER25 ERN25
ERC32 8.0-20.0 33.0 40.0 ER32 ERN32
ERC40 10.0-26.0 41.0 46.0 ER40 ERN40
mn
CODE NO. \ ER COLLET CODE NO. (d)1 \ SET
ERC16 4,5,6,7,8,9,10, 7PCS
ERC20 6,7,8,9,10,11,12,13 8PCS
ERC25 6,7,8,9,10,11,12,13,14,15,16 11PCS
ERC32 8,9,10,11,12,13,14,15,16, 17,18, 19, 20 13PCS
ERC40 10, 11,12, 13,14, 15,16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26 17PCS
c 7] 742 ME2 MEE YUC + Other size can be supplied based on order made.
< A7 MBQl RO &2 FAZT AFBAl Run—outoll 2X7 2 + Wooden tray for ER collet set to be supplied with Sets.

g 4 AU

% SET BOX €=




ER TAP COLLET

; 1
%
L
TER FOR TAPPING
CODE SIZE
TER16 = TER20 | TER?5 | TER32 | TER40 W(o) L D(O) v TapS'”g U
om M4 M4 M4 M4 4 15 5 M4
S8 M5 M5 M5 M5 45 15 5.5 M5
= M6 M6 M6 M6 45 15 6 M6 | Ul/4
Us/16 | US/16 | U5/16 | US/16 5 15 6.1 U5/16
M8 M8 M8 M8 5 20 6.2 M8
M10 M10 M10 M10 M10 55 20 7 M10 | U3/8
U716 | U716 | U716 | U7/16 | U7/16 6 20 8 M11 | U7/16
P1/8 P1/8 P1/8 P1/8 P1/8 6 20 8 P1/8
M12 M12 M12 M12 65 20 85 | Mi2
u1/2 Uu1/2 U1/2 U1/2 7 20 9 U1/2
M14 M14 M14 8 25 105 | MI14 | U9/16
P1/4 P1/4 P1/4 9 17 1 P1/4
U5/8 U5/8 U5/8 9 25 12 U5/8
M16 M16 M16 10 25 125 | M16
P3/8 P3/8 P3/8 1 18 14 P3/8
M18 M18 1 18 14 M8 | U3/4
M20 M20 12 30 15 M20
M22 13 30 17 M22 | U7/8
P1/2 14 21 18 P1/2
M24 15 35 19 M24
M27 15 35 20 M27 | Ul

- 7| A ME2 MAS YU

« Other size to be supplied based on order made.

o 72



ER NUT

Hexagon G Mini Standard G1
G1 -
[
/ 4 ,
— © = I a
L1
L1 L1
A Type M Type UM/RD Type
ERN
mm

CODE NO. D1 L1 G1 COLLET CHUCK

ERN11-A 19 11.3 M14X0.75 ER11 ER11

ERN16-A 28 17.5 M22X1.5 ER16 ER16

ERN20-A 34 19 M25X1.5 ER20 ER20

ERN11-M 16 12 M13X0.75 ER11 ER11

ERN16-M 22 18 M19X1.0 ER16 ER16 3

ERN20-M 28 19 M24X1.0 ER20 ER20 2 E

ERN25-M 35 20 M30X1.0 ER25 ER25 g
ERN25-UM/RD 42 20 M32X1.5 ER25 ER25
ERN32-UM/RD 50 22.5 M40X1.5 ER32 ER32
ERN40-UM/RD 63 22.5 M50X1.5 ER40 ER40

ER SPANNER

t ERS

> mm

@ % CODE NO. Wi L1

L1 ERS11-A 17.0 115

‘ A ‘ ERS16-A 25.0 210

ERS20-A 30.0 250

;[ ERS25-UM.KM/RD 37.0 206

ERS32-UM.KM/RD 46.5 253

L ERS40-UM.KM/RD 58.0 289

ERS11-M 15 95

UM.KM/RD ERS16-M 15.0 117

< Y ERS20-M 195 129

— - 1 ERS25-M 25.0 142

73



WSK COLLET
CHUCK




WSK COLLET CHUCK

G1

D1
4°
D2

&

MAS403 BT-WSKP

CODE NO. COLLET |
ar30 | WSKPE-90 2.06.0 196 WSK6 WSKN6 M8X1.0
WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP6-90
WSKPE.120 2.06.0 196 120 WSK6 WSKN6 M8X1.0
WSKP10-90 90
iy | WSKPIO120 2.0-10.0 215 120 WSK10 WSKN10 | M11X1.0
WSKP16-90 90 =
WSKP16120 30160 10 70 WSKIG | WSKN16 | M18X15 £2 a
WSKP25-90 90 =
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X1.5 m
WSKP6-120 120
WSKP6-165 2.0-6.0 196 165 WSK6 WSKNB M8X1.0
WSKP6-195 195
WSKP10-120 120
WSKP10-165 2.0-10.0 215 165 WSK10 WSKN10 | M11X1.0
WSKP10-195 195
BT90 M\yskpie-120 120
WSKP16-165 3.0-16.0 40 165 WSK16 WSKN16 | M18X1.5
WSKP16-195 195
WSKP25-120 120
WSKP25-165 16.0-25.0 55 165 WSK25 WSKN25 | M24X1.5
WSKP25-195 195

Taper:AT3 | Coolant: AD

- SR COLLETE AS34 22 F2A 0l2| 285101 FHAIR.

+ WSK Collet for Spindle Through Coolant are available depend on customer request

75



WSK COLLET CHUCK

G1

D1
4o
D2

I 1 1l
L

L1

DIN69871 SK-WSKP

CODE NO. COLLET
WSKP8-90 90
WSKP6-120 2.0-6.0 19.6 120 WSKB WSKNG MB8X1.0
WSKP10-90 90
ka0 WSKP10-120 2.0-10.0 27.5 120 WSK10 WSKN10 M11X1.0
WSKP16-90 90
WSKP16-120 3.0-16.0 40.0 120 WSK16 WSKN16 M18X1.5
2= WSKP25-90 i 90
B §§ WSKP25-120 16.0-25.0 55.0 120 WSK25 WSKN25 M24X1.5
= WSKP6-120 120
3 WSKPB-165 2.0-6.0 19.6 165 WSKB WSKNG MB8X1.0
WSKP6-195 195
WSKP10-120 120
WSKP10-165 2.0-10.0 275 165 WSK10 WSKN10 M11X1.0
WSKP10-195 195
SK50 WSKP16-120 120
WSKP16-165 3.0-16.0 40.0 165 WSK16 WSKN16 M18X1.5
WSKP16-195 195
WSKP25-120 120
WSKP25-165 16.0-25.0 55.0 165 WSK25 WSKN25 M24X1.5
WSKP25-195 195

Taper : AT3 | Coolant: AD

- Ui2E® COLLETE M8ate 82 FEA| 02| 2010 FHAR.

+ JSK Collet for Spindle Through Coolant are available depend on customer request

76



WSK COLLET CHUCK

N

G1

L1

DIN69893 HSK/A-WSKP

CODE NO. | CHUCKING(d) | D1 COLLET |
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
HSK50A | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
Hskean | WSKP10-80 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X15
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
HsKio0a | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X1.5

Taper:AT3 | Coolant: AD

c 257 COLLETSE M85 42 F2A| 02| Yot FHAR.

+ WSK Collet for Spindle Through Coolant are available depend on customer request

>>WSK COLLET= Of2{e} 20| AFEsHIAIL,
How to use Collet Holder for WSK collet

p=

+ WSK COLLETE F& 3701 2lst0d NUTo| 25

20| 7FsEuC

<HE2 Zdestduiol= Styleol w2t WSK6,

WSK10, WSK16, WSK255 MEFE5I0 =
NR. (FE37= E= Hogict.)

« Collet holder is necessary to assemble the WSK

collet into Nut.

« Collet holder to be purchased separately.

77

MINHI
137103 ¥SM




WSK COLLET

i =N
S m = — - 8
|
L
WSK

STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE
WSK6-2.0 | 1.5-2.0 WSK16-3.0 | 2.5-3.0 WSK25-10.0,  9.5-10.0
WSK6-25 | 2.0-2.5 WSK16-35| 3.0-35 WSK25-11.0, 10.5-11.0
WSK6-3.0 | 2.5-3.0 WSK16-4.0 | 3.5-4.0 WSK25-12.0/ 11.5-12.0
WSK6-35 | 3.0-35 WSK16-45| 4.0-4.5 WSK25-13.0/ 12.5-13.0
WSK6 | WSK6-40 | 3.5-4.0 WSK16-5.0 | 4.5-5.0 WSK25-14.0 13.5-14.0
WSK6-45 | 4.0-45 WSK16-55| 5.0-5.5 WSK25-15.0/ 14.5-15.0
WSK6E-5.0 |  4.5-5.0 WSK16-6.0  5.5-6.0 WSK25-16.0 15.5-16.0
WSK6-55 | 5.0-5.5 WSK16-6.5  6.0-6.5 WSK25-16.5 16.0-16.5
WSK6-6.0 | 5.5-6.0 WSK16-7.0| 6.5-7.0 WSK25-17.0| 16.5-17.0
WSK10-20 | 1.5-2.0 WSK16-75| 7.0-7.5 WSK25-17.5] 17.0-17.5
WSK10-25| 2.0-25 WSK16-8.0 | 7.5-8.0 WSK25-18.0/ 17.5-18.0
23 WSK10-30 | 2.5-3.0 WSK16-85| 8.0-8.5 WSK25-18.5 18.0-18.5
23 WSK10-35| 3.0-35 WSK16-9.0 | 8.5-9.0 WSK25 |WSK25-19.0 18.5-19.0
= WSK10-40 | 35-40 WSK16 | WSK16-95| 9.0-95 WSK25-19.5 19.0-19.5
- WSK10-45| 4.0-45 WSK16-10.0  9.5-10 WSK25-20.0 19.5-20.0
WSK10-50 | 4.5-5.0 WSK16-10.5/ 10-10.5 WSK25-20.5/ 20.0-20.5
WSK10-55| 5.0-5.5 WSK16-11.0  10.5-11 WSK25-21.0/ 20.5-21.0
WSK10 | WSK10-60  5.5-6.0 WSK16-11.5/ 11-115 WSK25-21.5 21.0-21.5
WSK10-65| 6.0-6.5 WSK16-12.0  11.5-12 WSK25-22.0] 21.5-22.0
WSK10-7.0 | 65-7.0 WSK16-125 12-12.5 WSK25-22.5| 22.0-22.5
WSK10-75| 7.0-75 WSK16-13.0] 12.5-13 WSK25-23.0) 22.5-23.0
WSK10-80 | 7.5-8.0 WSK16-135/ 13-135 WSK25-23.5] 23.0-23.5
WSK10-85| 80-85 WSK16-14.0, 13514 WSK25-24.0| 23.5-24.0
WSK10-9.0 85-9.0 WSK16-145 14-145 WSK25-24.5| 24.0-24.5
WSK10-95| 9.0-95 WSK16-15.0] 14515 WSK25-25.0/ 24.5-25.0

WSK10-10.0/ 9.5-10.0 WSK16-155/ 15-15.5
WeK16160 15516

STYLE | WSK6 |WSK10 | WSK16|WSK25
@D 75 | 120 | 188 | 288
L 25.0 | 30.6 | 45.0 | 57.0
gC | 104 | 155 | 246 | 357

- 5um(RUN—-OUT) D&YE
- ENDMILL, DRILL, REAMER S0 &/} | WSK | 16 |—— WSK | 16 |
«1.0~25 47X] COLLETZF WSKB, WSK10, WSK16, WSK25 | ‘ ‘ |

of 47}X| STYLES] 2RI thSstof ZH=lof QUsLICH. \é\(/)SI_IEECT STYLE No gm%‘gNG NN \RD
P:
Strong Torque Power PRECISION

* T.I.R below 0.0005mm
» Good for Endmill, Drill, Reamer etc.
* Good for deep hole machining

78



WSK COLLET CHUCK -oithote type

@D

WSKC For Spindle Through Coolant (F2x%)

STYLE | CODE NO. RANGE STYLE | CODENO. | RANGE
WSKC6-4.0 WSKC16-8.0 WSKC25-160  7.5-8.0
wskeg | WSKCE-50 5 WSKC16-9.0 9 WSKC25-170  8.0-8.5
WSKC6-6.0 6 WSKC16-100| 10 WSKC25-180|  8.5-9.0
WSKC10-60 6 WSKC16-110| 11 WSKC25-190|  9.0-9.5
WSKC10-70| 7 WSKC16 |WSKC16120| 12 Wwskegs | WSKC5200  95-10
wskero WSKC1080 8 WSKC16-130| 13 WSKC25210|  10-10.5
WSKC10-90| 9 WSKC16-140| 14 WSKC25220| 105-11.0
WSKC10100 10 WSKC16-150| 15 WSKC25-230| 11.0-11.5
WSKC16-16.0 16 WSKC25-240| 11.5-12.0
STYLE | WSKCE WSKC10] WSKC16 WSKC25 WSKE25250] 12.0-125
@D | 7.97 | 1251|2012 | 29.69
L | 210 | 256 370 | 485
@C | 104 | 155 | 246 357
o| mgto|L 7|E} EItEls LRSS 7HS
+ 5um(RUN-OUT) IHZU=
« ENDMILL, DRILL, REAMER S0i| Z[&g} ‘ WSK ‘ 16 ‘7‘ 60 ‘
- 1.0~25 47IX] COLLETZ} WSK6, WSK10, WSK16, WSK25 I I I
O 47X] STYLES| 22X CHEsto] ZH|=|0] ASLITH WSK STYLE No CHUCKING
COLLECT RANGE

For Spindle Through Coolant

* T.1.R below 0.0005mm

+ Good for Endmill, Drill, Reamer etc.
+ Good for deep hole machining

J S K N UT _Short & Heavy Design

WSKN

CODENO.| L D d M Type
WSKNE | 7.8 12.0 207 | M155X1.0P |  Figl
WSKN10 | 21.0 25.6 37.0 | M21.5X1.0P | Figl
WSKN16 | 10.0 15.0 - M32X15P | Fig2
WSKN25 | 10.0 15.0 - M45X15P | Fig2

WSS-Spanner

CODE NO. \ H2aC
WSS6 WSKPG
WSS10 WSKP10
WSS16 WSKP16
WSS25 WSKP25

MONHI
137103 ¥SM



DRILL
CHUCK

- BETY HUA| 52| Yo =2 mko| &
2 A2 WrenchZ 0|25 372 &
2 ko] ghetict.

nn e

Strong Rigidity
« Strong unitied Drill Chuck and /

HIEE 5l

H| 1%
rsion Load Lotio
- Ax|Sa DMl NC E2) 0.7kgf-m 100
O FRI2%of 2fet S
- S48 Al el = 0.7kgfm 100
c BEXA EHEE EE o
- T B Al BHEE .2kgf-m 314

Safety

+ Do not out drill at hig
* Do not broken a drill due to revel

+ Chuck never dispatched at the sudden stop

T



DRILL CHUCK

L1

D1

MAS403 BT-NPU
CODE NO Chuchkin D1 |
: uchking MIN MAX
arag | NPUB-70 1-8 38 72 78
NPU13-105 1413 50,5 97 108
NPUS-70 72 78
NPUB-110 1-8 38 m 17
NPUS-155 156 162
BT40 Npu13-100 100 m
NPU13-130 1-13 50,5 132 143
NPU13-175 177 188
NPUS-85 83 89
NPUS-110 1-8 38 m 17
NPUS-170 171 177
BISO  Nput3-100 100 m
NPU13-130 113 50,5 132 143
NPU13-190 192 203
Taper: AT3
oll ( s

DIN69893 HSK/A-NPU

L1

CODE NO. Chuchking
HSK50A NPU8-140 1-8 345
HSKB3A NPU8-140 1-8 345 141 14
NPU13-140 1-13 46.0 142 153
NPU8-150 1-8 345 151 157
HSK100A NPU13-170 1-13 46.0 172 183
Taper: AT3

81 www.iwidin.com

MINHI 11Ha




S409vr

4084V H3dv1

JACOBS TAPER ARBOR

MAS403 BT-JTA

L3

L2

D1
D2

IEmRRRLLY

CODE NO. el

(kg)

AT S0 1 @ I X
ﬂﬁggzgg 2SHORT 13.94 " gg 18 1:12‘

BT40 ﬂﬁg:gg 2 14.199 gg 20 1:;
Toe v =
650 : e ® it
A0S 1 I T
s mew | ow & w8

0~ rag 105 2 s " 2
e w | I =

T8 105 : m e 2

Taper: AT3

DRILL DIA | Drill depth\ DRILL DIA | Drill depth DRILL DIA | Drill depth| DRILL DIA | Drill depth|

2.0-21 1715 1925 6.4-7.0 105 2145 9.6-10.0 | 130 2350
2.2-2.3 58 174.0 4.0-4.3 83 196.0 7.1-73 108 217.0 10.1-104, 133 2375
2.4-2.5 61 176.5 4.4-46 86 199.0 7.4-76 111 2195 10.5-10.7, 137 2410
2.0-2.7 64 179.5 4.7-4.8 89 2015 7.7-8.0 114 2220 10.8-11.1, 140 2435

2.8 67 182.0 4.9-5.1 92 204.0 8.1-8.3 117 2245 112115 143 246.0
2.9-3.2 71 185.5 5.2-55 95 206.5 8.4-8.7 121 2065  116-11.9 146 248.5
3.3-35 73 187.5 5.6-5.9 98 209.5 8.8-9.1 124 2305 120123 149 251.0
3.6-3.8 76 190.0 6.0-6.3 102 212.5 9.2-95 127 2330  12.4-13.0] 152 253.0

@lnm 82



MORSE TAPER ADAPTER

+ TANG Type E7E AfEst= 2HYLICE,

- With Tang

MAS403 BT-MTA

CODE NO.

MT. NO

L1

Fig.1

Fig.2

FIG MT.NO d1

DRILLSH

MIN

MAX

_4%/

D1

WEIGHT
(kg)

BT30 MTA1-45 12.065 13.5 14.0 25 45 0.8
MTA2-60 1 17.780 14.1 23.0 32 60 09
MTA1-45 45 1.0
MTAT1-120 2 12.065 13.5 14.0 25 120 13
MTA2-60 1 60 1.1
S40 MTA2-120 2 17.780 14.1 23.0 32 120 14
MTA3-75 1 75 1.2
MTA3-135 2 23.825 23.1 32.0 40 135 18
MTA4-95 1 95 1.4
MTA4-165 ? 31.267 32.1 50.0 48 165 24
MTA1-45 1 45 4.0
MTA1-120 2 12.065 13.5 14.0 25 120 43
MTA1-180 180 4.3
MTA2-45 1 45 4.0
MTA2-135 2 17.780 14.1 23.0 32 135 4.4
BT50 MTA2-180 180 4.6
MTA3-45 1 45 3.9
MTA3-150 2 23.825 23.1 32.0 40 150 4.7
MTA3-180 180 49
MTA4-75 1 75 5.0
MTA4-180 2 31.267 32.1 50.0 48 180 54
MTA5-105 1 44.399 50.1 75.0 63 105 4.6
Taper: AT3

83 www.iwidin.com

401dvav
H3dVL1 ISHON




d01dvav
H3dV1 ISHON

MORSE TAPER ADAPTER

» With Tang

DIN69893 HSK/A-MTA

o

@D

gc

CODE NO.
MTA1-110 1 12.065 25 110
HSK50A MTAZ2-135 2 17.780 32 135
MTA3-155 3 23.825 40 155
MTA1-120 1 12.065 25 120
MTAZ2-135 2 17.780 32 135
HSKB3A MTA3-155 3 23.825 40 155
MTA4-165 4 31.267 48 165
MTA1-120 1 12.065 25 120
MTA2-135 2 17.780 32 135
HSK100A MTA3-160 3 23.825 40 160
MTA4-185 4 31.267 48 185
MTA5-215 5 44.399 63 215
Taper: AT3

@mm 84



MORSE TAPER ADAPTER

+ Draw Bolt Type9| A=Y 2|HE

AgE 4 ASUC

- With Draw Bolt

MAS403 BT-MTB

Fig.2

MT. NO

Draw Bolt Type

MT. NO

Pull Stud Bolt Type

Draw Boft Type | Pull Stud Bolt Type WEIGHT
CODE NO. FIG |[MT.NO| d1 1 CODE G1 (ka)
BT30 MTB1-45 1 1 12.065| 25 40 10.1 - M6X1.0 0.8
MTB2-60 2 2 17.780 | 32 60 - MTB2 M10X1.5 0.8
MTB1-45 1 1 12.065| 25 45 10.0 - M6X1.0 1.0
BT40 MTB2-60 2 17.780 | 32 60 135 - M10X1.5 1.1
MTB3-45 9 3 23.825| 40 45 - MTB3 M12X1.75] 1.1
MTB4-85 4 31.267 | 48 85 - MTB4 M16X2.0 1.3
MTA1-45 1 12.065| 25 45 10.0 - M6X1.0 3.9
MTAZ2-45 1 2 17.780 | 32 45 16.0 - M10X1.5 3.9
BT50 MTA3-60 3 23.825| 40 60 18.0 - M12X1.75| 3.9
MTA4-75 4 31.267 | 48 75 205 - M16X2.0 3.9
MTA5-105 2 5 44399 | 70 105 - MTB5 M20X2.5| 4.0
Taper : AT3
« *DRAW BOLT HoH(F2AE)

- *Draw Bolt to be purchased separately

« Fig 19| Z<2 M& Draw Bolt7t AFZELCt,
« Fig 22| 42 £ Pull Stud Bolt7t AFZ2ELCt.

» Fig 1 to be used special Draw Bolt

« Fig 2 to used special P/S bolt

85 www.iwidin.com

401dvav
d3dv1 ISHON




END MILL HOLDER

Fig2
MAS403 BT-EMH
mm
CODE NO. 3 | L4 G FIG
EMH6-60 6 | 25 MBX0.75
EMH8-60 s 28 | 0 | % ] 8 MBX1.0 :
EMH10-60 10 35 | 60 54 20
BT30 | EMH12:60 12 | 37 | 60 | 59 225
EMH16-75 16 | 40 | 75 | 82 | o M10X1.25
EMH20-75 20 | 43 | 75 | 64 2
EMH25-75 25 | 48 | 75 89 | 20 | 20
EMH-80 6 | 25 50 3 MBX0.75
EMH8-80 8 | 28 ] MBX1.0 :
EMH10-80 10 35 | 80 54 20 M10X1.25
EMH12-80 12 &2 59 225
5140 “Emmie-80 16 | 48 62 MI2x1.5
EMH20-90 20 | 52 | g, | 6 ” ,
EMH25-90 25 | 55 74| 25 M16X1.5
. EMH35-105 32 | 60 | 105 | 78 28
=F EMH6-90 6 | 25 MBX0.75
— o
B B2 EMH8-90 s 2  © | % ] 8 MBX1.0 :
- EMH10-90 10 35 a0 54 20 M10X1.25
EMH12-90 12 & 59 225 N
EMH16-105 16 | 48 62 '
EMH20-105 20 | 52 69
8120 TemHzs-105 R R 7 2 M16X1.5
EMH32-105 2 | 75 78 | 28 ,
EMH40-120 0 g e | 32 |
EMH42-120 42 120 V20X2.0
EMHS50-120 50 | .o 8 | 3 | 35 '
* EMH50.8-120 50.8 9% | 3 | 34

Taper: AT3 | Coolant: AD/B

- @ H= Saddle pin Type(DIN 1835C) A=LUELICt.
* The model ® mark is for saddle Pin Type(for DIN 1835C)

Qo 86



END MILL HOLDER

DIN69871 SK-EMH

SK40

L1
G1
N
f B .
CODE NO. d1 \ D1 L1 G1
EMH6-50 50
EMH6-100 6 » 100 M6
EMH8-50 50
EMH8-100 8 28 100 M8
EMH10-50 50
EMH10-100 10 3 100 Mio
EMH12-50 50
EMH12-100 12 42 100 Mi2
EMH14-50 50
EMH14-100 1 “ 100 Mi2
EMH16-63 6 63
EMH16-100 100
EMH18-63 18 8 63 M4
EMH18-100 100
EMH20-63 63
EMH20-100 20 %2 100 M6
EMH25-100 25 55 100 M18
EMH32-100 32 60 100 M20

Taper: AT3 | Coolant: AD/B

87 www.iwidin.com

43070H
TN N3




d43070H
TN aN3

END MILL HOLDER

DIN69871 SK-EMH

SK50

L1

G1

CODE NO.
EMHG-63 63
EMHG-100 6 25 100 M6
EMHG-160 160
EMH8-63 63
EMH8-100 8 28 100 M8
EMH8-160 160
EMH10-63 63
EMH10-100 10 35 100 M10
EMH10-160 160
EMH12-63 63
EMH12-100 12 42 100
EMH12-160 160
EMH14-63 63 M12
EMH14-100 14 44 100
EMH14-160 160
EMH16-63 63
EMH16-100 16 100
EMH16-160 160
EMH18-63 18 63 Mi4
EMH18-100 18 100
EMH18-160 160
EMH20-63 63
EMH20-100 20 52 100 M16
EMH20-160 160
EMH25-63 80
EMH25-100 25 62 100 M16
EMH25-160 160
EMH32-100 100
EMH32-160 32 7 160 M20
EMH40-100 40 80 100
EMH40-160 160

Taper: AT3 | Coolant: AD/B

@lpm 88



END MILL HOLDER

L1

m
DIN69893 HSK/A-EMH - .
CODE NO. | d1 | D1 | 1 | G CODE NO. d1 | D1 | 11 | G
EMH6-65 6 25 65 | M6 EMH6-80 6 25 80 | M6
EMH8-65 8 28 65 | M8 EMH6-160 6 25 | 160 | M6
Hsksoa . EMH10-65 10 35 65 | MI0 EMH8-80 8 28 80 | M8
EMH12-80 12 42 80 | M12 EMH8-160 8 28 | 160 | M8
EMH16-80 16 48 80 | M14 EMH10-80 10 35 80 | M10
EMH20-80 20 52 80 | M16 EMH10-160 | 10 35 | 160 | M10
EMH6-65 6 25 65 | M6 EMH12-80 12 42 80 | M12
EMH6-100 6 25 | 100 | Ms EMH12-160 | 12 42 | 160 | M12
EMH6-160 6 25 | 160 | M6 EMH14-80 14 44 80 | M12
EMH8-65 8 28 65 | M8 Hskioon EMH14-160 | 14 44 | 160 | M12
EMH8-100 8 28 | 100 | M8 EMH16-100 | 16 48 | 100 | M14
EMH8-160 8 28 | 160 | M8 EMH16-160 | 16 48 | 160 | M14
EMH10-65 10 35 65 | MI0 EMH18-100 | 18 50 | 100 | M14
EMH10-100 | 10 3 | 100 | M10 EMH18-160 | 18 50 | 160 | M4
EMH10-160 | 10 3 | 160 | M10 EMH20-100 | 20 52 | 100 @ M16 o
EMH12-80 12 47 80 M12 EMHZ20-160 20 52 160 M16 g g
EMH12-160 | 12 42 | 160 | M12 EMH25-100 | 25 62 | 100 | M16 nE
HSKB3A| EMH14-80 14 44 80 | M12 EMH25-160 | 25 62 160 | M16 ;
EMH14-160 | 14 44 | 160 | M12 EMH32-100 | 32 75 | 100 | M20
EMH16-80 16 48 80 | M14 EMH32-160 | 32 75 | 160 | M20
EMH16-160 | 16 48 | 160 | M4
EMH18-80 18 50 80 | M14
EMH18-160 | 18 50 | 160 | M4
EMH20-80 20 52 80 | MI6
EMH20-160 | 20 52 | 160 @ M16
EMH25-110 | 25 62 | 110 | M16
EMH25-160 | 25 62 160 | M16
EMH32-110 | 32 75 | 110 | M20
EMH32-160 32 75 160 M20

Taper: AT3 | Coolant: AD/B

89



4084V

d4311NJ 30IS

SIDE CUTTER ARBOR

L1 30

G1

D2

L 2](3.5.7.8.10.12)

w1

H1

D1

MAS403 BT-SCA

mm

CORENG H1 w1 a1 |WEIGHT| CODENO.
INCH [METRIC| INCH [METRIC (kg)
SCA12.7 60 13 60
SCA12.7 g | 20 - - - - M12X1.75 SCA13 g0
SCA15.875 75 14 75
SCATE.675 s | 26 1742 172 318 4 M1X15 g SCA16 | o
BT40 | SCA22.225 75 75 | B0 75
SCAZ2 275 g | 34| 2382 236 318 6 M20X15 g SCAZ2 o
SCA25.4 75 71 o
SCAZ54 g 40| 2778 | 290 635 7 M24X2.0 o SCAZ7 |
SCA31.75 90 | 46 | 3492 | 340 | 7.92 8 M30X2.0 | 25 SCA32 | 90
SCA12.7 75 37 75
SCA12.7 105 20 i - - - MI2X1.75 ¢ SCA13 e
SCA15.875 90 40 90
SCATE.875 g | 2| 1742 172 318 4 M1X15 SCA16 o0
SCA22.225 0 a4 2382 236 | 318 6 Maox1s 3 scazz - 0
SCA22.225 135 16 135
BTS0 SCA25.4 90 47 BT50 a0
SCAZEA g5 40| 2778 | 290 635 7 M24X20 |- SCAZ7 o
SCA31.75 90 51 %0
SCAZT 75 g5 | 4| 3482 | 340 | 792 8 M30X20 SCA32 o
SCA38.1 90 =8 %0
SCA38 1 1q5 | 95| 4206 | 425 | 952 10 M36X30 | — o SCA40 o
Taper : AT3

< JIS B4206, JIS B4219, JIS B4107, JIS B410929| Side + Using with Side Cutter standard JIS V4206, JIS B4219, JIS B4107, JIS

Cutterg AtSgiLICH B41092.
« Key 2 CollarRes Arbor0f £2tz|0] &L,
« 32 CutterZ M 2Igh ZHULICEH,

+ Key and Collars to be supplied with the Arbor.
« Specified weight are not including Cutter weight.

@lnm 920



FACE MILL ARBOR

MAS403 BT-FMA

mm

CODE NO. WEIGHT
(kg)
BT30 45 1.3
FMAZ25.4 22 50 95 33 1.5
90 10 3.1
BT40 45 1.7
FMA31.75 75 30 60 12.7 40 31
FMA38.1 60 34 80 15.9 50 14 2.9
45 3.7
FMAZ25.4 90 22 50 95 33 4.6
150 55
45 10 45
FMA31.75 75 30 60 12.7 40 53
BT50 105 6.1
FMA38.1 45 34 80 15.9 50 43
75 5.6
45 14 49
FMA50.8 36 98 19 65 6-8
FMAA47.625 75 38 128.57 25.4 - - 7.7
Taper: AT3

« SH2 FACE CUTTERE H2lst ALt
« Specified weight are not including Face Cutter.

91

www.iwidin.com

d40a4v
AERE]




FACE MILL ARBOR

DIN69893 HSK-FMA

CODE NO.
__HSK50A | FMAZ25.4 60 22 50 95 33 10
HSKB3A FMA31.75 65 ! 30 60 12.7 40
FMA38.1 34 80 15.9 50 14
FMA25.4 60 22 50 95 33 10
FMA31.75 65 2 30 60 12.7 40
HSK100A FMA38.1 34 80 15.9 50 14
FMA50.8 75 36 98 19 65
FMAA47.625 80 3 38 128.57 25.4 - -
Taper : AT3

4084V
MAERNE

@mm 92



FACE MILL ARBOR

MAS403 BT-FMB

L4 |WEIGHT | CODE NO..
INCH | METRIC (kg)
BT30 45 1.7 | BT30 45
FMB25.4 | 60 80 95 12 - - 13310 25 FMB27 | 60
BT40 90 47 | BT40 90
FMB38.1 | 60 85 | 15.9 16 - - /50|14 74 FMB40 | 60
45 40 45
FMB25.4 | 90 26 80 95 12 - - 13310 58 FMB27 | 90
150 8.2 150
45 47 45
BT50 FMB38.1 | 75 85 159 6 - * sl 1 6.1 BT50 FMB40 | 75
105 ‘ 8.7 105
AVB3IF | 75 ) 110 M12 | 66.7 6.6 FMB4OF 75
- - 25 | 140 254 | M16 | 1016 | - 79 FMB60
Taper: AT3

« Y2 FACE CUTTERE H|2let ALt
« Specified weight are not including Face Cutter.

93  www.iwidin.com

d40a4v
AERE]



FACE MILL ARBOR

MAS403 BT-FMC

mm

CODE NO. W1 G1 WEIGHT |CODE NO..
INCH |METRIC

BT30 1.4 BT30 40

- - 18 45 - 10 M10X30 1.3 FMC22 | 45

2.0 90

60 1.5 60

BT40 FMC25.4 90 20 70 95 12 M12X35 29 BT40 | FMC27 90

60 2.3 60

FMC38.1 75 22 85 15.9 14 M16X35 26 FMC32 75

4.2 60

- - 18 45 - 10 M10X30 4.7 FMC22 | 105

53 150

45 4.1 45

BT50 FMC25.4 90 20 70 95 12 M12X35 55 BT50 | FMC27 | 90

150 7.3 150

45 4.2 45

FMC38.1 75 22 85 15.9 14 M16X35 55 FMC32 | 75

105 7.0 105

Taper: AT3

e
T O
5z

« 52 FACE CUTTERE X2let ZdLct,
« Specified weight are not including Face Cutter.

@lpm 94



FACE MILL ARBOR

Fig.2

DIN69893 HSK/A-FMC

CODE NO.. Wi
- METRIC o

mm

FMC16 45 17 38 8 M8X3.0
HSK40A FMC22 45 ! 18 45 10 M10X3.0
FMC16 45 2 17 38 8 M8X3.0
FMC22 50 18 45 10 M10X3.0
HSK50A FMC27 50 1 20 70 12 M12X3.5
FMC32 50 22 85 14 M16X3.5
FMC16 60 9 17 38 8 M8X3.0
FMC22 60 18 45 10 M10X3.0
HSKB3A FMC27 60 1 20 70 12 M12X3.5
FMC32 60 22 85 14 M16X3.5
FMC16 75 17 38 8 M8X3.0
FMC22 75 18 45 10 M10X3.0
HSK100A FMC27 75 2 20 70 12 M12X3.5
FMC32 75 22 85 14 M16X3.5
Taper : AT3

95 www.iwidin.com

d40a4v
AERE]




4084V
MAERNE

FACE MILL ARBOR

- JISB4113

KOREA TUNGSTEN, KORLQY, IGETALLOY, MITSUBISHI,
TUNGALOQY, DI JET, HITACHI

DIN2080 NT-FMA

Face Mill

mm

CODE NO.
FMAZ25.4 22 50 95 33 10
NT40 FMA31.75 30 60 12.7 40
FMA38.1 34 80 159 50 14
FMAS0.8 30 36 98 19.05 65
FMAZ25.4 22 50 95 33 10
FMA31.75 30 60 12.7 40
NT50 FMA38.1 34 80 159 50 14
FMAB0.8 28 36 975 19.05 65
FMA47.625 45 38 128.57 25.4 - -

+ Draw Blot £ X|IH5HIAIR.
of) NT5S0M=FMA25 . 4(METRIC SIZE),

NT50U-FMA25 4(INCH SIZE)

+ Draw Blot £ XIFsHXI%E &S NT40, NT502 INCH SIZE 2

ErL=El=y

bolt.

+ Please make designate the Draw Bolt dimension between Inch and
Metric depend on using Face Mill.
« Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

@lnﬂv 9%



SHELL END MILL ARBOR

+ JIS B4214 SHELL END MILL &
« For JIS B4214 Shell End Mill

MAS403 BT-SMA m
CODE NO.(INCH TYPE) WEIGHT CODE NO..(METRIC TYPE)
TAPER | D1 K (kg) | TAPER | D1
SMA15.875 17 34 20 7 0.9 SMA16
BI30 “smazzazs | 30 27 42 28 9 10| 210 Fomazz 30
60 13 60
SMA15875 o 17 34 - 20 7 SMA16 120
60 14 60
SMA22.225 | o 27 42 28 9 X SMA22 120
BT40 | spazs.4 45 36 50 33 C 1A BT gyiagg 45
105 2.3 105
45 10 10 16 45
SMA31.75 7e %8 60 40 53 | SMA32 75
SMA38.1 60 80 12 50 14 3.0 SMA40 60
75 4.2 75
SMA15.875 | 17 34 20 7 £ SMA16 120
75 - 4.3 75
SMA22.225 | 120 27 42 28 9 4.8 SMA22 120
180 5.5 180
60 4.3 60
BT50 | SMA25.4 105 36 50 33 52 | BT50 | SMAZ27 105
150 5.8 150
45 10 0 45
SMA31.75 75 60 40 5.2 SMA32 75
105 | 38 6.2 105 22
45 4.3 45 SE
— =<
SMA38.1 2 80 12 50 14 e SMA40 e =
Taper: AT3

« S22 FACE CUTTERE MQlst ALICEH
« Specified weight are not including Face Cutter.

97



SHELL END MILL ARBOR

+ JIS B4214 SHELL END MILL &
* For JIS B4214 Shell End Mill

DIN69893 HSK/A-SMA

CODE NO.(INCH TYPE) CODE NO..(METRIC TYPE)
TAPER | D1 I | TAPER | D1 I
SMA15875 | 17 34 ] 20 7 SMA16 20
HSK50A | SMA22.225 27 42 28 9 HSK50A | SMA22
SMA25.4 50 36 50 10 33 10 SMA27 50
SMA22.225 27 42 - 28 9 SMA22
SMA25.4 36 50 33 SMA27
HSKB3A o 1131 76 60 = = 10 T 10 | HSKB3A ——cvos 60
SMA38.1 38 80 12 50 14 SMA40
SMA22.225 27 42 - 28 9 SMA22
SMA25.4 50 36 50 33 SMA27 50
HSK100A v o oe 38 50 10 10 10 | HSK100A v on
SMA38.1 60 38 80 12 50 14 SMA40 60

Taper: AT3

H0gHv
TN T13HS

98



CENTERING PLUG

DIN2080 NT-CPI

CODE NO.

mm

DRAW BOLT
METRIC

NT50

CP147.625

47.625

CPIBO

60

38 1"-8UNC M24X3.0

TAPER SLEEVE ADAPTER

MAS403 BT-TSA

mm

BT50

CODE NO.
TSA40M-75

TSA40U-75

BT50

1S040

| WEIGHT (kg)
M16X2

70 7 5/8-11UNC 46

DIN2080 NT-TSA

mm

CODE NO.
TSA40U-75 5/8-11TUNC
NT50 TSAAOM-75 NT50 |1S040 70 75 EERVITS R 6X2

- Draw BoltE XIHoHAIR .

oll) NTS0M-TSA40(METRIC SIZE), NT50U-TSA40(INCH SIZE)
+ Draw Bolt & XIH5IX| 22 A2 NT502 INCH SIZE2 &1 ELUCt,

+ Please make designate the Draw Bolt dimension between Inch and
Metric.

« Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

99

JAFTTS H3dVL




TAPPING
CHUCK

!



TAPPING CHUCK

I==r F* Ieraizr|
_‘
=
AN %
o
T
r =
1 =
MAS403 BT-TC m
CODE NO. TAPPING RANGE WEIGHT COLLET
U (kg)
BT30 | TC0312-130 130 1.5
510 TC0312-135 2-12 1/4-1/2 1/8 32 | 45 135 6.5 12 18 SES1
TC0822-160 8-22 5/16-7/8 1/8-1/2 50 | 62 | 160 | 145 | 13 2.6 SES2
TC0312-150 150 4.2
7C0312-210 2-12 1/4-1/2 1/8 32 | 45 210 6.5 12 53 SES1
BT50 | TC0822-175 175 5.4
TC0822-225 8-22 5/16-7/8 1/8-1/2 50 | 62 275 145 | 13 65 SES2
TC1638-240 16-38 5/8-13/8 1/4-11/8 72 | 88 | 240 20 20 7.8 SES3
Taper: AT3
- & 4O 2 Floating of22 = 3|X1} Pitch? HAIE 4604 « tis floating toward Axial so that absorb a tolerance of pitch and spindle
HMo| mtag YX[BLICH rotating and it will prevent a broken tool.
+ Tap Collet = One Touch 2 A6t ZHCSHA| wekElL|ct, « Easy and Quick change Tap with one touch type Tap collet.

EHZl X AL24MH Operating of Taping Chuck

T1= F2 X 60 AT ‘ T1  Forward rotation dwell time (sec)
- PXN T2 Reverse rotation dwell time (sec)
‘ } F2  Tension shile idle rotation
Fp- F2X(0.7-1)X 60 P~ Pich of tap
- PXN N Spindle speed (rpm)
At Spindle running time corresponding

to the number of rotation (sec)

F2X1.5 } Approach Point
Haza . ‘ . A0S
Finishing 1] Cutting Feed
0% o ‘ ‘ e 0|5

OISAE o Feed ‘ Feed . OlBT|
Start Feed (Dwell T2) PNETIES . ‘ . XE=xl F2(Dwell T2) Feed Stop

~ Self Propel _L Self Propel ~
e ‘ ! pCIFNESIN
Backlashing ( : w K Rotating Stop

101



AINHI ONIddVL

TAP COLLET

TAPPING RANGE

CODE NO.

L1

L1 CHUCK CODE

SES-1 2-12 1/4-1/2 1/8 19 32 25 215 TC0312

SES-2 8-25 5/16-7/8 1/8-1/2 31 50 33 35.5 TC0822

SES-3 16-38 5/8-13/8 1/4-11/8 48 72 45 55.5 TC1638
tsez S35 Hsto] « Tension and Compression

«Torque QATIER|7} LIYEOf QU0 THESH A
Tapel otag g
+Ball Clamp &4

One Touch

TAOP COLLET /dEHE}H

« Prevention come out a tap from the chuck by Ball Clamping.

2 XA BTl W0l glon] 37l mEol
welom Az 9l 20| ZEksh Euict

TAP COILLET IARSIZE TAP COILLET IARSIZE
22| (SES) METRIC 0 H (SES)
3 ) S SES1| 1/8 1/8 8 6
M3 NO5,6 4 3.2 E 1/4 1/4 11 9
M4 M4.5 5 4 S 3/8 3/8 14 11
o | M5 M55 55 . . 2 12 1/2 18 14
2 M U1/4 6 ' > 5/8 19 15
S Us/16 6.1 5 S 3/4 3/4 23 17
1 M8 M7 6.2 3 7/8 24 19
M10 M9 U3/8 7 55 1 1 26 21
M11 u7/16 8 6 11/8 28
M12 8.5 6.5
S U1/2 9 7
| E M14 M15 Ug/16 10.5 8
S Us/8 12 9
2 M16 12.5
M17 13 10
M18 Us/4 14 11
M20 15 12
M22 u7/8 17 13
g D4 M25 19
S M27 M26 U1 20
3 M28 2
u11/8 22 + Tap Shanki KS(JIS) #AUICE,
M30 23 17 « Tap Shank is JIS(or KS) standard
M32 u11/4 24 19 « M : Metric threads
M33 25 UNC : Unified coarse threads
M35 M34 U13/8 26 21 PT : Pipe taper threds
M36 M38 28 PF : pipe straight threads

o 102



STRAIGHT SHANK TAPPING CHUCK

- & AYAl STl S WX Y Tap0| Mldts Hotr| @{atod
Floating 7I50| L= 0] UA&LICH

Function of Floating

« In order to prevent of tool when tapping process, our chuck
have function of floating.

23 LIAL A O.K!!

- Bt LiAf BlolERE 27HS8H M3 2E 717 TAPSR TAPS!
20| ZHsBiLCt

Suitability for small thread cutting
« It is able to tapping from M3 tap size.

AJNHD HNIddVL

1
- al —————— - L=
'
N-TC -
CODE NO. NUT COLLET
TC13 3-13 35 45 DN13 ER20
N32 TC20 3.20 32 52 100 58 DN20 ER32
- TC132 M8 O|MEE HFEEE 0|82+ US. + TC13 size are able to use locking bolt from M8
+ TC202 M16 O|MEH HFEEE 0|88 S, + TC20 size are able to use locking bolt from M16
ER COLLET2} 4 H|W ¥ (Comparison chart between ER collet and Tap) -
COLLET TAP
ER20 ER32 METRIC INCH
@4 24 M3
@5 @25 M4, M5
76 26 M6 ui/a
a7 a7 M7, M8, M9, M10 Us/16, U3/8
79 729 M11, M12 u7/16, U1/2
212 212 M14, M15
@213 213 M16, M17 u9/16, Us/8
@215 M18, M20 u3/a
219 M22, M24, M25 u7/8
@20 M26, M27 U1

103



OIL HOLE HOLDER
SYSTEM e

H ojel YH|olE &

ating and possible to

DDU E4= Hjof2lez

ZfLCH (300rpm)

pecial DDU bearing
(300rpm)

=4 Seal2

- abrasion seal and
is able to using

! : y and Qil-solubility
nd Air coolant.

DAS|H U HANo| oJ3t 0| Zersioz o|of
X|22 5Hli of4fo] &eidteto| 0|R0{ELICH
Increasing Ffficiency

Increasing workability due to chip discharge with
coolnat-water.

HAIRO ofst ZnEY| W20z BT4Ho| o3
Lict,

ot

Tool life Improvement
Tool life imprevement by cooling a tool with coolant-




OIL HOLE HOLDER

MAS403 BT-OHDC .
CODE NO. W(E'QG)H COLLET
OHDC10-165 1.0 10 28 165 5.1 ER16
BT40 OHDC20-165 2.0 20 50 9.0 65 5.0 ER32
OHDC26-170 3.0 26 63 170 49 ER40
OHDC10-175 1.0 10 28 ER16
BT50 OHDC20-165 2.0 20 50 105 175 80 /8 ER32
0HDC26-180 3.0 26 63 105 180 80 7.7 ER40
OHDC34-180 50 34 78 7.8 ER50
Taper: AT3
AH&BT (Using Tool : Coolant type)
< HAR ALE Al MAX. 3000 rpm Available Pressure Qil Hole Type
« 010 AFBAI MAX. 1500 rpm MAX 20kg/cm « Straight Shank Insert Drill
RPM « Straight Shank Carbide Drill
« In case fo using Coolant water : Max. 3000 rpm + Straight Shank HHS Drill

+ In case fo using Air coolant : Max. 1500rpm

Stopper Bolt

NOTE

« ZAHO|LE Air7} 23 EIX| b= AEHOIIA SEX| OF + Do not operating the main spindle without Coolant water or Air cooiant.
A, 379 oz 3 20| 4 It will cause a shortening tool life and holder life.

+ Stoper Bolte| O—Ringdll 432 E . + Please tighten the shank toward the O-ring of Shopper bolt.
URIC|X| HOTH HAHO| =450 FHIE L HZIS 80| MEHELICEH If did not tighten the shank, the coolant water can be leakage and it

cause come down a cooling efficiency or chip discharge.

Q
mjo
i
o
th
2 4y
4
02
o
ra
Hh
>
N o
il
=l

I
o
2]
Q'E
X

=}

C DU?*:
>
N
12
>
Fo

105

43070H
J10H 110




OIL HOLE HOLDER

43070H
F10H 710

MAS403 BT-OHSL

M1

d1

D1
D2
!

0°-360°

f‘w}'g

H1

mm

| M1

M12X1.5

CODE NO.
OHSL16-160 16
BT40 OHSL20-160 20 48 90 160 65 25
OHSL25-175 25 175 20 15
OHSL32-175 32 50
OHSL16-170 16
OHSL20-170 20 18 175 25
BT50 | OHSL25-180 25 55 105 80 20
OHSL32-180 32 60 180 15
OHSL40-180 40 65 25

| WEIGH (kg)

5.0
49
48
5.9

7.7

7.6
7.7
8.8

« AR A Al MAX, 3000 rpm

« 01101 AFZA| MAX, 1500 rpm

RPM

+ In case fo using Coolant water : Max. 3000 rpm

« In case fo using Air coolant : Max. 1500rpm

« ZAHO L Air7t SEEIX]
+ Do not operating the main spindle without Coolant water or Air cooiant. It will cause a shortening tool life and holder life.
« Please tighten the shank toward the O-ring of Shopper bolt. If did not tighten the shank, the coolant water can be leakage and it cause come down a

O A}
(=]

cooling efficiency or chip discharge.

EfollM = 2]

o
e d

Available Pressure

MAX 20kg/cm

tietAl DRYAIR . S++2| Di= & 249

HIHS =
ER= e

2H5H

Se2 BEAYU,

AFZZ27 (Using Tool : Coolant type)

0Oil Hole Type
« Straight Shank Insert Drill

« Straight Shank Carbide Drill
« Straight Shank HHS Drill

r
o - - — - 1t =
NN
L1 " | 55
SLEEVE OSL
CODE NO. \ d1 \ D1 L1
16 16
0SL25 20 2 25 48
16 25
0SL32 20 32 32 52
25 16
16 20
20 25
0SL40 P 3 40 62
32 40

@lpm 106



MICRO
~ BORING BAR




INJLSAS DNIHOg

MICRO BORIN UNIT

TR.M

)=

M DIA

kA

INSERT | SCREW | WRENCH
G2B-2CC 18.3 20 | 87 04 162  CCGT040102 | S204516 | WR-2T6
TOP ADJUST HiAl Xl =F diH Adjusting method of boring dimension(range)

« HHOIM X|eZ2FE Sl =AU olH=H
= ste A

Al ReatanlngBoIt

24Z2 o2 oI

+ Adjusting boring dimension(range) on the

front side.

Z1 20|

St

+ Reataining BoltZ 21 Adjusting dials
=2 2Hotee RSHRIMK| Tool BodyE
arA|ziuct

* Reataining BoltS 23| &2& CHAl 1/2
R EELICH
THOIM Adjusting dial2 £ DIME=HE

oRELC

» Loosen the Retaining Bolt and turn the
Adjusting Dial and then closing the tool
body to required boring range.

« Fully close the Retaining Bolt and loosen
this bolt by 1/2 turn. Turn the Adjusting Dial
on front side.

ORDERNO. | M (Min Bore) | T SCREW | WRENCH
ggggg ggg 15; 13.0 0.2 ;?j TCGT060204 | S1845l5 | WR-25T6
gg@gﬁ g;g 15963 159 | -12 gg; TCMT110204 ~ S2555L6 | WR-4T8
S10A2TC BT 127 84 18 96 qoungrags | sanssls o1

Brazed Type Unit

« Counter BoringAloi|
« It have high stability when counter boring.

g0l F& U

M TYPE m
ORDER NO. R H K | Insert Red.
BRAZED INSERT | Min. Bore |Total Adj. Range | Min. Height | Tool Pt. Offset ’W’m‘ Used As Datum
l\l\ﬂig F - 123 ;,; 6.4 0.4 - 20 0.2
cFEFE8, E= 48 « F type : For an Iron foundry E type : For Herdened steel

@lDIN



MICRO BORIN UNIT

RIGIBORE 'R' & 'TR’

'R’ for roughing & semi-finishing
‘TR' for fine -finishing

Right Hand Units Shown
Left Hand Units(LH) are mirror Image
Adjustment = 0.07mm/.0004ins

on radius division

Fig A1 90"

M
UNIT | FIG A1 TOTALRADLAL | N MIN | TOOL POINT
s INSERT | CODE | MIN BORE POSSIBLE | A JUSTMENT HEIGHT | OFFSET
MIN~-MAX mm
R2A2 | 20.9-25.4 45 45
2 TC_06TI(02) | R2B2 | 18.2-202 2.0 2.0 9.4 135
R2B2S | 15.87-16.62 0.75 0.75
R3A2 | 28-353 7.3 7.3
3 QAJ TC_00204) oo e g 0 0 13.45 0.8
TR5A2 | 415-52.2 107 10.7
° TC-T10200% " 1Rog7 | 36.5-42.1 5.6 5.6 1695 23
7 TR7A2 | 615-74.3 12.8 128 | 2555
10 TCTBT308) 51002 | 8151045 23.0 23.0 31.7 04

109

www.iwidin.com

INJLSAS ONIHOE



INJLSAS DNIHOg

MICRO BORING BAR

Fig3

MAS403 BT-BCA

mm

WEIGH
CODE NO. HlEl T L1 L2 D2 D3 (ka) UNIT INSERT | FIG
BCA13.5-75 135 15.9 75 48 13 - 1.2 | M1B2F-40 -
BCA14.5-75 145 16.9 75 48 14 - 1.2 | M1B2E-40 - 3
BCA16.5-90 16.5 219 90 63 15.5 - 13 | M1A2F-40 -

8730 BCA19-90 19 23 90 63 17 175 1.3 | G2B-2CC |CCGT040102| 3
BCA23-105 23 29 105 78 20 - 14 | G3B-2TC | TCGT060204
BCA29-120 29 41 120 95 25 28 15 | G3A-2TC | TCGT060204 3
BCA38-120 38 49 120 95 36 37 17 | G5B-2TC |TCMT110204
BCA46-120 46 66 120 98 38 40 1.7 | G5A-2TC |TCMT110204| 2
BCA13.5-105 135 15.9 105 65 13 - 15 | M1B2F-40 -
BCA13.5-180 135 15.9 180 65 13 44 20 |M1B2F-40 3
BCA14.5-105 145 16.9 105 65 14 - 15 | M1B2E-40
BCA14.5-180 145 16.9 180 65 14 44 2.0 |M1B2E-40
BCA16.5-105 16.5 219 105 73 15.5 - 15 | M1A2F-40 3
BCA16.5-180 16.5 219 180 73 155 | 44 2.0 | M1A2F-40
BCA19-120 19.0 23 120 86 17 - 15
BCA19-180 19.0 23 180 86 17 44 20 G2B-2CC | CCGT040102) 3
BCA23-135 23.0 29 135 92 20 - 15 1
BCA23-195 23.0 29 195 | 102 20 50 20 G38-2TC | TCGT060204 3

BT40 | BCA29-150 29.0 41 150 | 108 25 28 15 2
BCA29-195 29.0 41 195 | 113 25 50 2.0 G3A-2TC | TCGT060204 3
BCA38-150 38.0 49 150 | 115 36 37 1.7
BCA38-195 38.0 49 195 | 155 36 50 22 G58-2TC | TCMT110204
BCA46-150 46.0 66 150 | 118 38 40 2.1
BCA46-210 46.0 66 210 | 165 38 50 2.8 G5A-2TC | TCMT110204 )
BCAB2-165 62.0 87 165 | 135 51 50 30
BCAG2-225 62.0 87 225 | 198 51 62 45 G7A-2TC |TCMT16T304
BCA83-150 83.0 108 150 | 123 63 61 35
BCA83-225 83.0 108 225 | 198 63 61 6.0 G7A-ZTC \TCMT16T304
BCA98-150 98.0 142 150 | 123 75 60 5.0 | G10A-2TC |TCMT16T304| 4

Taper: AT3

o 110



MICRO BORING BAR

[vs]
e
z
MAS403 BT-BCA .3
wn
CODE NO. . p3 | WEGH ynir | NseRr 0
(kg)
BCA135-120 | 135 159 120 | 6/ | 13 35 | 40
BCAI35195 | 135 | 159 | 195 | 67 | 13 s 50 " oA0 ;
BCAI45120 | 145 169 | 120 | 68 | 14 | 35 | 40 | oo
BCA145195 145 | 169 19 68 | 14 | 50 | 50
BCAI65-120 | 165 | 219 | 120 | 73 | 155 | 40 | 40 oo 5

BCA16.5-195 | 16,5 | 219 195 73 15.5 55 5.0
BCA19-135 19 23 135 81 17.5 18 4.0
BCA19-210 19 23 210 81 17.5 55 45 G2B-2TC | CCGT040102 3
BCA23-135 23 29 135 92 20 - 4.0 1
BCA23-210 23 29 210 102 20 55 5.0 G38-2TC | TCGT060204 3
BCA29-150 29 4 150 112 25 28 45

BCA29-225 29 4 225 112 25 55 55 G3A-2TC | TCGT060204 3
BCA38-165 38 49 165 122 36 37 45
BCA38-225 38 49 225 167 36 36 5.0
BCA46-165 46 66 165 122 38 45 5.0
BT50 | BCA46-225 46 66 225 182 38 45 55 GbA-2TC | TCMT110204 | 2
BCA46-255 46 66 255 202 38 46 6.0

G5B-2TC | TCMT110204 | 2

BCAG62-180 62 87 180 137 51 59 6.0
BCA62-240 62 87 240 181 51 59 7.0
BCA62-330 62 87 330 277 51 59 8.5

BCA83-165 83 108 165 122 63 76 6.5 G7A-2TC | TCMT16T304 | 2

BCA83-240 83 108 240 197 63 76 9.0
BCA83-345 83 108 345 293 63 76 12.0
BCA98-165 98 142 165 122 83 79 8.5
BCA98-240 98 142 240 200 83 92 11.5 2
BCA98-345 98 142 345 305 83 92 17.0
BCA132-210 132 | 176 210 172 110 96 12.0
BCA132-315 132 | 176 315 277 110 96 18.5 G10A-2TC | TCMT16T304
BCA166-225 166 | 210 225 187 145 96 13.0 4
BCA166-315 166 | 210 315 277 145 96 18.5
BCA200-210 200 | 244 210 172 178 98 20.0

Taper: AT3

m



INJLSAS DNIHOg

MICRO BORING BAR straignttype

* L1 " L1
L2 UNIT | lﬂ\”T
by e I e
Fig2
Fig1
* L1 UNIT
8P YA
K20:60 Fia3
K32, K42:100 9
L2
‘ L UNIT
e I
K-BCA mn
CODE NO.
BCA13.5-75 135 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
K20 BCA16.5-90 16.5 18.0 90 89 15.5 16 M1A2F-40
BCA19-90 19.0 23 85 17 175 G2B-2CC |CCGT040102
BCA23-120 23.0 29 120 i 20.0 19 G3B-2TC | TCGT060204 2
BCA29-120 29.0 41 27.0 26.0 G3A-2TC | TCGT060204 3
BCA13.5-75 135 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
BCA16.5-90 16.5 18.0 90 88 15.5 16.0 M1A2F-40
BCA19-90 19.0 23 80 175 18.0 G2B-2CC |CCGT040102
K32 BCA23-120 23.0 29 105 20 19 (G3B-2TC 2
BCA29-120 290 | 4 - 27| 26 | Gaagrc | |Co000204Ty
BCA38-120 38.0 49 120 36 34 G5B-2TC
BCA46-120 460 | 66 - 30 | 3 | GsAzic | M0
BCAG62-120 62.0 87 51.0 40 G7A-2TC | TCMT16T304
BCA13.5-75 135 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
BCA16.5-90 16.5 18.0 90 87 15.5 20 M1A2F-40
BCA19-90 19.0 23 86 17.5 18.0 (G2B-2CC | CCGT040102
K42 BCA23-120 23.0 29 105 20 19 G3B-2TC 2
BCA29-120 29.0 41 - 27 26 G3A-2TC TCGT060204
BCA38-120 38.0 49 120 36 34 (G5B-2TC
BCA46-120 460 | 66 30 | 3 | GsAgic M0 3
BCAG62-120 62.0 87 - 51.0 40 G7A-2TC | TCMT16T304

@lnm 12



SQUARE BORING BAR

INJLSAS ONIHOE

MAS403 BT-BSA .
CODE NO.
BSA25-135 25 38 135 105 20 23 8 14
BSA30-150 30 42 150 120 24 27 '
BSA38-165 38 52 30 34 1.7
BSA42-165 42 56 165 135 34 38 10 1.8
BSA50-165 165 135 2.3
BT40 BSA50-210 50 6 210 180 40 4 3 3.1
BSAG2-180 62 90 180 151 50 57 16 34
BSAB2-225 225 196 46
BSA72-180 180 153 39
BSA72-225 2 1o 225 198 60 60 9 5.0
BSAS0-180 180 153 52
BSAS0-225 %0 125 225 198 7 60 19 6.2
BSA25-135 25 38 135 92 20 23 8 4.2 1
BSA30-165 30 42 165 122 24 27 44
BSA38-180 38 52 180 137 30 34 10 4.8
BSA42-210 42 56 210 167 34 38 5.0
BSA50-180 180 137 54
BSA50-240 50 65 240 197 40 o 13 5.7
BSAB2-195 195 152 6.2
BT50 | BSA62-270 62 %0 270 227 50 o7 16 76

BSA72-195 195 152 7.0
BSA72-285 72 10 285 242 60 67 19 9.3
BSAS0-210 210 167 9.2
BSAS0-300 %0 125 300 257 & 8l 12.3
BSA105-195 195 154 90 10.7
BSA105-285 105 160 285 244 %0 94 25 15.0
BSA130-255 130 190 255 217 110 98 14.5 2

Taper: AT3

+ Square Bolt(2+d Bolt)= ME E1Al ZEIZI0] UX| B&LITH + Square Bolt is out of our product range and we do not selling Square

Bolt.

113



INJLSAS DNIHOg

SQUARE BORING BAR

Fig2
MAS403 BT-BSB -
CODE NO.
BSB25-135 25 52 135 103 20 22 8 1.6
BSB38-165 38 70 165 133 32 33 10 1.9
BSB50-165 50 90 165 135 40 44 13 25
BSB50-210 50 90 210 180 40 44 13 33 1
BT40 BSB62-180 62 115 180 152 50 56 16 36
BSB62-225 62 115 225 197 50 56 16 48
BSB72-180 72 135 180 153 60 60 19 4.1
BSB72-225 72 135 225 198 60 60 19 5.2
BSB90-180 90 150 180 153 75 60 19 5.4 )
BSB90-225 90 150 225 198 75 60 19 6.4
BSB25-135 25 52 135 92 20 22 8 4.4
BSB38-180 38 70 180 137 30 33 10 5.0
BSB50-180 50 90 180 137 40 44 13 5.6
BSB50-240 50 90 240 197 40 44 13 5.9
BSB62-195 62 115 195 152 50 56 16 6.4
BSB62-270 62 115 270 227 50 56 16 78 1
BT50 | BSB72-195 72 135 195 152 60 66 19 7.2
BSB72-285 72 135 285 242 60 66 19 95
BSB90-210 90 150 210 167 75 80 19 9.4
BSB90-300 90 150 300 257 75 80 19 12.5
BSB105-195 105 190 195 155 90 94 25 10.9
BSB105-285 105 190 285 245 90 94 25 15.2
BSB130-255 130 260 255 217 110 98 25 14.7 2
Taper: AT3
+ Square Bolt(2td Bol)= M Sl ZEIZI0] UX| BELICH + Square Bolt is out of our product range and we do not selling Square
Bolt.

@'ZIDIN 14



HOLDER BORING HEAD

ﬁml

COUPLING —

MODULAR BORING
SYSTEM

- Locking System2 CHE OfiHt B ECH =5 Head2t HolderE &1
S22 2IE0| gl HUEES ShalotA| giLict.
* A Locking system of Jeil's boring system combine the boring head with
basic holder so that improving boring accuracy without vibration.

2 A2 80-90kg/mme| ZAHe S5k DOVETAIL 4] A=

4 B7Y
AL B0 ATLICH

01» Jlm

Strong Boring Head

* Our boring head keep strongness 80~90kg/mm by using special raw-materil
and it is proper to heavy cutting boring by Dovetail design.

 SF S DI EMEA| WHCSZ insert Nose R QAE Hato| 9E 4 Qleoz

7FSAl sl=0ll DIXI= Me=ls ZlastciaR =9 +F0| o/

« Accuracy adjusting of tolerance of insert nose R by single blade so that it

minimize a resistance which effect to the the boring head when machining.

]
7



INJLSAS HVINAON

(V3H 5NId0g

BORING HEAD A1'SSY

HES|EFXE Explanatory Diagram of Boring Head

* FINISHING BORING HEAD

* RARGE SIZE FINISHING BORING HEAD

BORING HEAD SELECTION

Hels|=MEeidH Explanatory Diagram of Boring Head selection

* FINISHING BORING HEAD

B

S5 R CIT T
R T LTS e H-::-r="q=| ks o I'.lilrli!"ﬂ'! r

o b
r/:r

:-_'-'J.:]_’

=y %%u—** Lz
100 B3 g, J ! TR

e —'l | | Il I |




BORING HEAD (223l=)

D ROUGHING BORING HEAD

A FINISHING BORING HEAD

Z ©
c=
- o
= T
CODE NO. L Kg INSERT INSERT SCREW ﬁ;
<O
A2275 400 24 30 22 12 34 0.08 CC..0602.. M2.5X5.6 rﬂn
A2275 409 29 40 27 15 42 0.18 CC..09T3.. M4X10 <
A3275 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2275 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2275 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
D3275 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

D ROUGHING BORING HEAD

A FINISHING BORING HEAD

CODE NO.

A2290 400 24 30 22 12 34 0.08 CC..0602.. M2.5X5.6
A2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
A3290 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2290 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
D3290 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

17



INJLSAS HVINAON

(V3H 5NId0g

BORING HEAD (223l=)

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

i —
T f‘ R 1
e | o —1= |
E =, o e - i} el a
T PN It
[ r'l; r.l}",-l-: — - 17 i i I
CODE NO. INSERT SCREW
A4275 300 49 65 42 24 56 0.58 TC.16T3. | M4X10
A5475 300 63 82 54 28 66 105 TC.16T3. | M4X10
A4275 300 49 65 42 24 56 0.6 TC.16T3. | M4X10
D4275 402 49 65 42 24 56 0.6 CC.1204. | M5X13.1
D5475 300 63 82 54 28 66 11 TC.16T3. | M4X10
D5475 402 63 82 54 28 66 11 CC.1204. | M5X131

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

Y

CODE NO. L ] INSERT INSERT SCREW
A4290 300 49 65 42 24 56 0.58 TC..16T3.. M4X10

A5490 300 63 82 54 28 66 1.05 TC..16T3.. M4X10

A4290 300 49 65 42 24 56 0.6 TC..16T3.. M4X10

D4290 402 49 65 42 24 56 0.6 CC..1204.. M5X13.1

D5490 300 63 82 54 28 66 1.1 TC..16T3.. M4X10

D5490 402 63 82 54 28 66 1.1 CC..1204.. M5X13.1

o 118




BORING HEAD -=2&si=

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. L ] INSERT CARTRIDGES
AB875 2CT 300 80 102 68 36 86 2.18 TC..16T3.. 2CT 75300
AB575 3CT 300 100 125 85 50 100 4.2
A10075 3CT 300 125 160 100 60 100 6.6 TC..16T3.. 3CT 75 300
A20075 3CT 300 160 220 145 60 100 8.96

TC..16T3.. 2CT 75 300
D6875 2CT... 80 102 68 36 86 2.3 CC. 1204 2CT 75 402
D8575 3CT... 100 125 85 50 100 43
D10075 3CT... 125 160 100 60 100 6.8 ggl%i gg ;g igg
D20075 3CT... 160 220 145 60 100 9.0 B B

A FINISHING BORING HEAD

L

D ROUGHING BORING HEAD

) al.'
—fy—— - —tkT O
"'_"? -1..|

)—I;E' "__-lr_| 1
i,

CODE NO. CARTRIDGES
TC..16T3. 2CT 90 300
AB890 2CT... 80 102 68 36 86 218 Lo e
8590 3CT.. 100 125 85 50 100 42
A10090 3CT.. 125 160 100 60 100 656 gg}%i gg gg igg
A20090 3CT... 160 220 145 60 00 | 896 ~1204..
TC..16T3. 2CT 90 300
D890 2CT... 80 102 68 36 86 23 e e
D8590 3CT... 100 125 85 50 100 43
D10090 3CT... 125 160 100 60 100 6.8 gg}%i gg 38 ?182
D20090 3CT... 160 220 145 60 100 9.0 ~1204..

119

INJLSAS HVINAON

aV3H HNHOo4



RARGE SIZE BORING HEAD (tH73& 2&slE)

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

INJLSAS HVINAON

(V3H 5NId0g

CODE NO. INSERT CARTRIDGES

A30075 3CT 300 220 320 90 93
A40075 3CT 300 290 400 90 12.85 TC..16T3.. 3CT 75 300
A50075 3CT 300 370 500 90 16.25
D30075 3CT... 22 2 10.1

30075 3 0 320 %0 0 TC..16T3.. 3CT 75 300
D40075 3CT... 290 400 90 13.75 CC. 1204 3CT 75 402
D50075 3CT... 370 500 90 16.95 B B

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. Kg INSERT CARTRIDGES
A30090 3CT... 220 320 90 93 TC16T3. 30T 90 300
A40090 3CT... 290 400 90 12.85 CC. 1204 3CT 90 402
A50090 3CT... 370 500 90 16.25 B B
D30090 3CT... 220 320 90 10.1 TC16T3. 30T 90 300
D40090 3CT... 290 400 90 13.75 CC. 1204 30T 90 402
D50090 3CT... 370 500 90 16.95 B B

Qo 120



ROUGHING BORING HEAD

RBH (ROUGHING BORING HEAD)

D3

D2

T

|

I
(O] I[H]I e

/

\

L1

D1

CODE NO. ‘I\/IIN & VIAX ‘ Kg ‘ INSERT BASIC HOLDER
RBH29 29 38 15 27 37 0.07 CC..0602.. BH2715
RBH38 38 48 20 32 40 0.16 CC..0602.. BH3220
RBH48 48 60 24 42 54 0.23 CC..09T3.. BH4224
RBHGO 60 75 28 54 67 0.40 CC..1204.. BH5428
RBH75 75 100 36 68 70 0.76 CC..1204.. BH6836
RBH100 100 130 50 85 75 1.80 CC..1204.. BH8550
RBH130 130 180 60 100 86 5.5 CC..1204.. BH10060

121

www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




INJLSAS HVINAON

(V3H 5NId0g

ROUGHING BORING HEAD

L1

PM

MAS403 BT-RBH

CODE NO. BASIC HOLDER W(EILS)HT
RBH29-142 29 38 115 | 142 37 BT40-27-130 1.60
RBH38-152 38 8 | 12 | 152 | 40 BT40-32-130 170

BT40 | RBH48-185 18 60 | 158 | 185 | 54 | BTA0-42-160 2.40
RBHG0-188 60 75 | 161 | 188 | 67 BT40-54-160 2.90
RBH75-211 75 100 | 184 | 211 70 BT40-68-200 4,00
RBH29-133 ’ o 9% | 133 | BT50-27-100 450
RBH29-163 125 | 163 BT50-27-130 460
RBH38-163 o JP I TN BT50-32-130 470
RBH38-193 155 | 193 BT50-32-160 2.90
RBH48-196 . o | 188 1% | | BTS042160 5,50
RBH48-236 198 | 236 BT50-42-200 6.00
RBHG0-199 181 | 199 BT50-54-160 6.20

B30 "~ aBh60-239 60 BT om e Y BT50-54-200 6.90
RBH75-222 IS O I T 72 2 BT50-68-200 7.60
RBH75-282 200 | 282 BT50-68-260 9.00
RBH100-213 w0 | 1o | 15 213 815085200 14.40
RBH100-273 235 | 273 BT50-85-260 16.00
RBH130-284 w0 | g0 | 2% | 24 BI50100.260 13.00
RBH130-344 306 | 344 BT50-100-320 18.00

Taper : AT3

o 122



=)

D3

D2

/

\

L1

@I[H]I@

D1

BH
CODE NO. 2 WEIGHT (Kg) (1 (ARBOR SCREW)

22 100 22 12 100 88 34 0.58 22 - 68
27 55 27 15 55 35 42 0.45 27-610

BT30 27 100 27 15 100 80 42 0.64 27 -610
32 60 32 20 60 37 45 0.45 32-810
32 100 32 20 100 77 45 0.69 32-810
22 50 22 12 50 43 34 1.20 22 - 68
22 100 22 12 80 73 34 1.30 22 - 68
22 80 22 12 100 93 34 1.40 22 - 68
27 55 27 15 55 40 42 1.20 27 -610
27 100 27 15 100 85 42 1.45 27-610
27 130 27 15 130 105 42 1.60 27-610
32 60 32 20 60 42 45 1.20 32-810
32 100 32 20 100 82 45 1.47 32-810

BT30 32 130 32 20 130 112 45 1.70 32-810
42 75 42 24 75 46 56 1.30 42 -1014
42 160 42 24 160 131 56 2.25 42 -1014
42 200 42 24 200 171 56 2.75 42 -1014
54 90 54 28 90 51 66 1.80 54 - 1220
54 160 54 28 160 121 66 2.80 54 - 1220
54 200 54 28 200 161 66 3.55 54 -1220
68 160 68 36 160 101 86 2.80 68 - 1624
68 200 68 36 200 141 86 3.90 68 - 1624

Taper: AT3

123 www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




INJLSAS HVINAON
QV3H DONIHOg

Mol

BASIC HOLDER (#ilo|==0)

CODE NO. ‘ WEIGHT (Kg) ‘ (1 (ARBOR SCREW)
22 80 22 12 80 84 34 4.20 22 - 68
22 100 22 12 100 104 34 4.35 22 - 68
27 55 27 15 55 51 42 4.05 27 -610
27 100 27 15 100 96 42 4.40 27 - 610
27 130 27 15 130 126 42 4.50 27-610
32 60 32 20 60 53 45 3.95 32-810
32 130 32 20 130 123 45 4.60 32-810
32 160 32 20 160 153 45 4.80 32-810
42 75 42 24 75 57 56 415 42 - 1014
42 160 42 24 160 142 56 5.20 42 - 1014
42 200 42 24 200 182 56 5.80 42 -1014
BT50 54 90 54 28 90 62 66 4.80 54 - 1220
54 160 54 28 160 132 66 5.80 54 - 1220
54 200 54 28 200 172 66 6.50 54 - 1220
68 115 68 36 115 67 86 4.45 68 - 1624
68 200 68 36 200 152 86 7.20 68 - 1624
68 260 68 36 260 212 86 8.85 68 - 1624
85 200 85 50 200 138 100 7.85 85-1630
85 260 85 50 260 198 100 10.65 85-1630
85 320 85 50 320 258 100 13.40 85- 1630
*100 170 100 60 170 108 100 6.15 100 - 2035
100 260 100 60 260 198 100 12.85 100 - 2035
100 320 100 60 320 258 100 16.50 100 - 2035
Taper : AT3

« o HA| OHHt= &= 200 Ol ILCE
+ *Marks are for below 200mm boring head

Qo 124



BASIC HOLDER (2E2[0|E 225l|=H})

K-32

K32

032 h6
L

|
feE -

=L

032 h6
L

Fig 1

o

D1

L2

Fig 2

932 h6
|

L2

E,

L3
L3

CODE NO.
22 66 22 12
27 81 27 15
32 85 32 20
42 96 42 24
54 106 54 28

80

Fig 3

SCREW
66 34 146 22 -68
81 42 161 27 -610
85 45 165 32-810
96 56 176 42-1014
106 66 186 54 - 1220

125 www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




LARGE SIZE ARBOR (ti+38 ottt)

INJLSAS HVINAON
Qav3H DNIdo4

WEIGHT (Kg) | HEAD SCREW
BT50 160 100 60 125 70 90 6.25 M12X45

LARGE SIZE ADAPTER (ti7&& Of&E)

'—II-
L.;

K

N
e
#{fe

ATED 100 ADAPTER |1 i)
ARBOR

2300, 400 500
D300, 400, 500

OfgiEf 2AtS

mm

CODE NO. 2 2 WEIGHT (Kg) | HEAD SCREW

ADT100-50 100 60 50 90 4.6 M12X45

@lpm 126



EXTENSION PIECE

PM1

o |Jo |T
L1 L3
ARBOR ﬁfgggs'oN HEAD
L3
5 1 ©{1t®-1 5¢c

CODE NO. | WEIGHT (Kg) |
P22 20 20 0.095
P22 30 22 12 30 0.140 22-68
P27 30 30 0.180
P27 45 27 15 45 0.250 27-610
P32 35 35 0.260
P32 52 32 20 52 0.375 32-810
P42 40 40 0.480
P42 60 42 24 60 0.700 42-1014
P54 50 50 0.950
P54 75 54 28 75 1.400 541220
P 68 60 60 1.800
P68 90 68 36 90 2.600 68-1624
P85 70 70 3.050
P 85 105 85 50 105 4.450 85-1630
P 100 80 80 4.600
P 100 120 100 60 120 7.100 100-2035
EXTENSION PIECEE 0|28t Zlo| ¢z} dhH T FLANGE =H|
«PM1 = (L1-BT FLANGE SM)) + L3 + L2 Thickness of BT flange
+ PINZBOHR ARBORS| Z0| HA2 EXTENSION PIECEES F7t&t «BT30=22
2 ULICH B 171 0142 oftel BEM0| WHE 4 0BR H gran_ o7
A5t eBLICH . BT50= 38

How to extend the length of boring arbor
+ Pinzbohr's boring head cab be extend a langth with extension
bar(piece)

127

aV3H HNHOo4

INJLSAS HVINAON



C 22| [HAl - EHTIHA] -
of|C| = H A
[ E2lH4AlE TOOL

Drill Taper Holder for Drilling Machine, Tapping Machine,
Radial Machine, Large Bore Boring Machine




DRILL TAPPER CHUCK( set

O

s}

SDT-MT EZ ME H|2 (Contents of Set) o =

>

CODE NO. &4 Z2|E [TAP COLLET] EEE S EEEEE I 4
SDT24 Z T24-M6, M8, M10, M12, M16, M20, M24 J24-6 D24-MT2
SDT33 g T33-M10, M12, M14, M16, M20, M24, M30 J33-6 D33-MT3
SDT52 2 T52-M20, M24, M30, M36, M42, M45, M48 J52-6 D52-MT4

+ Cotter Home MHS @[3t 717 2 % SIMES LHFHAR,

+ In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

2 53 [TAPPING RANGE]

=224 [Drill Holder]

METRIC INCH PIPE
SDT24 i i M4 - M24 u3/ne-u7/8 | P1/8-P1/2 (32
SDT33 g g M8 - M3+M35 | U5/16-U 11/4 P1/8-P1 @50
SDT52 g : M20 - M60 u7/8-U2 P1/2-P13/4 @75

129



43dvL 14d

DRILL TAPPER CHUCK

DT-MT
CODENG. METRIC h [T/T;@SG i PIPE [DRI%LIEEI‘\E?ORE]
SDT24 i i M4-M24 | U3/16-U7/8 P1/8-P1/2 @32
SDT33 g g M8 - M34,M35 | U5/16-U11/4  P1/8-P1 @50
SDT52 2 : M20 - M0 u7/8-U2 | P1/2-P13/4 @75

+ Cotter Home M ?fet 717 22 ! SMFS LSHFHAR,

+ In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

DRILL TAPPER COLLET

T-M, T-U, T-P

mm
=

CODE NO. [Application Drill Holder]

HEZ&114 [STANDARD SIZE]

METRIC M4, 5,6,8, 10,12, 14,16, 18, 20, 22, 24, 27
T24 INCH U3/16, 1/4, 5/16, 3/8,7/16, 1/2,9/16, 5/8, 3/4,7/8, 1 DT24
PIPE P1/8,1/4,3/8,1/2
METRIC M8, 10,12, 14,16, 18, 20, 22, 24, 27, 30, 33, 34
T33 INCH U5/16,3/8,7/16,1/2,9/16,5/8,3/4,7/8.1,1/8,1/4 DT33
PIPE P1/8,1/4,3/8,1/2,3/4,1
METRIC M20, 22, 24, 27, 30, 33, 36, 39, 42, 45, 48, 52, 60
T52 INCH u7/8,1,11/8,11/4,13/8,1 1/2,1 3/4,117/8,2 DT52
PIPE P1/2,3/4,1,1 1/4,1 1/2,1 3/4

Qo 130



DRILL TAPPER DRILL CHUCK

DT-MT

c2 52 =5
GEIDERIE: ‘ S [DRILLING BORE] | [APPLICATION DRILL HOLDER]
J24 DT24
J33 6 6 1-13 DT33
Jb2 DT52

DRILL TAPPER DRILL CHUCK

=M

(GAP)

L

L\ sMzuEe

(Gap adjusting bolt)
zase
[Clamping bolt]
28 &
(Steel ball)
=l

(Chuck body)

2% o 2|5
cas 9 cazg

CODE NO =2 5% [APP?CTHON
[DRILLING BORE]| ot
D24 MT1, MT2, MT3 2.0-32 DT24
D33 | MT1, MT2, MT3, MT4 2.0-50 DT33
D52 | MT2, MT3, MT4, MT5 14.1-75 DT52

Drill chuck and Drill holder)

£ M 9 =Y Eoj= I3 SM IFS 51 QOB 29t £80| 2587 g
O 52 S A £ Mo SS20| 4rf £o| ojsls HY0| Ut

1. Insert the Drill chuck or Drill holder into the body and then adjusting the Gap
adjusting bolt till set the steel ball on position.

2. After clamping the Clamping bolt, and check that the steel ball has been fixed on
position by slowly rotating the Drill chuck or Drill holder.

131

H3dvL T1Hd



S31H0SS33JV

TOOL SETTING STAND

- LiAfelet 202 mejLct,

+ Clamping P/S bolt by human
power

=

< S

2 SHE nEEun

« Fixing the holder by turning Cap

handle

TSS
ZZ H3S|| (Prevent Main Spindle)

‘BT MY Y B AE|C 2E HZA 20 HolHRO| AN

YrelH &2 2SI

« Prevent the Holder taper(shank) when clamping the PS bolt
and setting-up a tool so that prevent the main spindle after
assembling a toolholders into the main spindle.

ZHEst 2E 2! (Easy Clamping)

+ Ratchet handle 0f 2J5t0 EAEE 2E eSS 7HHSH
ShLCt.

+ Easy clamping of P/S bolt by Rachet handle.

st VISE!N (Perfect Vise)

L B0 Ao HORDE MABT MY o BANS 7t
I:

« Easy setting-up a tool by complete holding a toolholders.

EEETE
LIEDE . ‘ [APPLICATION HOLDER]
TSS 40 BT 40
TSS 50 BT 50

&

- MIEl ABICO AQUS101 ralchel - BARET AT U B4 XIS B

handle2 2. LICE,
+ Closing and turn the rachet « Setting-up a tool
handle

o 132



HSK TOOL SETTING STAND

DIN69893 HSK-TSS
CODENO. | ZEEZC{APPLICATION DRILL HOLDER]

As BT 30 [KEYSi= TYPE]
TSS-BT30(142) [For without Head Home]

TSS-BT30-2 BT 30

TSS-BT40-2 BT 40

TSS-BT50-2 BT 50

TSS-HSK40 HSK40

TSS-HSK50 HSK50

TSS-HSK63 HSK63

TSS-HSK100 HSK100

S31H0SS3AIV

BT TOOL SETTING STAND

MAS403 BT-TSS

EEETE
CIEDE U [APPLICATION DRILL HOLDER] ‘ TVPE
TSS-BT30AL BT30
TSS-BT40AL BT40 A
TSS-BT50AL BT50
TSS-HSK 40 HSK 40
TSS-HSK 50 HSK 50 B
TSS-HSK 63 HSK 63
TSS-HSK 100 HSK 100

133



S31H0SS32IV

TOUCH SENSOR

| StylusZ0] | Al=20]

10 38

115

BASE MASTER

CHEA B 2 2 UEE W2 YL SR Al Bi Bi 20!

- DAl MIEf, 22 ojtl, S o, B oA S 24E (oM
AR HE0l| ML

+ Stylus®| Sheel Ball ZEIRIE ZotHE ATZ0| XfE5104 o

&2 YXELCH
« Battery AG13X2Pcs7t AFZELICY

XZHSF2 Floating0| =X §to8= 7% ASEA| mja9| 227} QI
82 X,Y= TouchZ8t AR20]| 7ksELct,

Z0P-50
QICIAOIE A 7% £

*NCIA 2522 50| & Z20[9] MzF ZFol AgEy
Ch (3, 28 HAIG HEL 9 LBIBE7[A o] ALg) 21T
71018 LAl2 EH=0| E0lotH 2XIG10| Hets| Z82 4~

gt

« HO|A =0| 50mm

+HUZ 0.01mm

MAGNETIC BASE MASTER

HP-100

C|A0IE A 75 £F7|

* MSA7E SKS3FH st B%=2t Hre600ly HEXS
o= HHo| Qls

- TO[Z0IXIE Rz 2T oif SHA o

b

=2y

o

- H|0]A =0] 100mm

+ ™= 0.01mm

ZDI1-50/ZD1-100
QICIAO|EIA 75 £F7|

*NC7|A EaE22 =0| ¥ Zolo M2F MY AEEY
Ot (2, 25 oAld MEF of AUEFE7|Aof ALE) 2IT]
0|8 A2 TH=0] S0l5tH 2AIg10] Hets| 58 4
St

- H|0]A =0] 50mm

+F2= 0.01mm

@lpm 134



PULL STUD BOLT

Q¥

D1
.

(1S07388, PS-G TYPE)

(P TYPE)

= 710230 220 AX| U2 E AHE 2EE FZ HAEUCEH

(DING9872 TYPE)

« Other size can be supplied based on order made.

PS
CODE NO.
1 45°
P30T 2 1 7 12.5 16.5 23.0 43.0 60° M12
3 90°
1 45°
P40T 2 15 10 17 23.0 35.0 60.0 60° M16
3 90°
1 45°
P50T 2 23 17 25 38.0 45.0 85.0 60° M24
3 90°
HP40T(PSG) 51 19 12.5 17 22.0 19.1 441 A50 M16
HP50T(PSG) 41 29 20.8 25 37.0 25.2 65.2 M24
SK40(DING9872) | 309 19 14.0 17 23.0 26.0 54.0 750 M16
SK50(DING9872) | 512 28 21.0 25 36.0 34.0 74.0 M24
JIS(6339) 1 19 14 17 23 29 54 75° M16

135

S31H0SS3AIV




av3H 319NV

ANGLE HEAD

R.PM:10,000
KW:3.5
|/ ]
@ MAX.16

R.PM:3,000
KW:5
L ]
@ MAX.16

R.PM:2,500
KW:14
L ]
@ MAX.26

R.PM:2,000
KW:20
L ]
2 MAX.34

CA-2-1S030 ¥

CODE NO.
SHANK 30/40 40/50 50 50
WEIGHT(kg) 4 7/10 14 24

Z+2=H| Reduction Gear Ratio

1:1

1:1

1:1

1:1

@lpm 136



ANGLE HEAD

CAR

DOUBLE INDEXING MAXIMUM VERSALITY

¥

R.PM:4,000
KW:3.5
I
2 MAX.16

R.PM:4,000
KW:6
I
2 MAX.20

x‘"\-\‘ Ledm
k|
[

R.PM:3,500
KW:10

LT 1

2 MAX.26

CODE NO.
SHANK 40/50 50 50
WEIGHT(kg) 8.5/12 13 25

Zt2H| Reduction Gear Ratio

1:1 1:1

1:1

<k 2 7 ANl S FESRIAIR.

« The dimension of “*" mark are depend on Machine.

137 www.iwidin.com

av3H I19NV



43033dS
F1ANIdS

SPINDLE SPEEDER

MV

R.PM:5,000 R.PM:8,000 R.PM:8,000
KW:18 KW:9 KW:7
/] | /]
@ MAX.34 or 40/50 @ MAX.26 or 40 @ MAX.20

- &
» P

R.PM:10,000 R.PM:15,000 R.PM:18,000
KW:6 KW:4 KW:2
N [ I N
@ MAX.16 @ MAX.13 @ MAX.10
+ M5t CompactstA| AAZI A& LT + Smooth and quiet running
. BCET X251 A=ELUct + Precise and rigid compact manufacture
C AT =2 HAUTE Sx|aH|Ct » Very high output per tool
-S4 J8lA Agoz B2t BURL - Mo maintenance, greased for fe |
« Great rigidity and high precision to be adapted to any model of machine
7|1At ST4HE SUALCH

* Increase the tools machine life

o 138



SPINDLE SPEEDER

MV
CODE NO. MV-3 MV-4 MV-5 MV-6 MV-7 MV-8
SHANK 50/60 50/60 50 50 40/50 30/40
RPM 5,000 8,000 8,000 10,000 15,000 18,000
RPM MAX. 6,000 10,000 12,000 12,000 18,000 20,000
Zt£H| Reduction Gear Ratio 1:4 1:35 1:6 1:6 1:7 1:5
L1(mm) 215 186 180 130 122 110
D1(mm) 300 236 150 120 105 80
D2(mm) 34 26/34 2-20 1-16 1-13 0.5-10
COLLET DC-34 DC-26 DC-20 DC-16 DC-13 DC-10 )]
WEIGHT(kg) 65 25 15 7 5 2.5 m=
oo
oM
EZALF (Standard) ZFE2AI (Order Mate)

c AR S22 I Aol St =
INi=S

« Stopper block to be supplied separately depend
on Machine

Ho
Q'I_l
@
Rl
v

NOTE
o 2 TIANL0] W F2oHIAIR.
+ The dimension of “+" mark are depend on Machine.

139 www.iwidin.com






W.—--? T
s LR

DATA

-BT SHANK

-COTTER GROOVE H|u =
-‘BORING &4 =74

-DRILL HAf =

-ENDMILL Hab =A

‘REAMER Z4f =4

TAP ZAt =

-TWIST DRILLS| TROUBLE CHH
‘REAMERS| TROUBLE CH24
-BURNISHING DRILL2| TROUBLE CHZH
-ENDMILLS| TROUBLE CHZH
-AAtO| TROUBLE CHAY

2 TORQUE

TAP HOLE DRILLZ
-TAPER STANDARD



vivd

BT-SHANK

Gauge Line

7/24 Taper

~

Y1
L Ly x
L{/[ 0.02 [A
B]
MAS403
NO | A= | 518% H|3
1 TAPER Z=& 75%014 A= 95% Of A
2 TAPER Zt=&{gx} AT3 JIS B06149| AT30H| 2
3 TAPER Hof tist D2l RUNOUT TIR0.05
4 TAPER 20f th$t do] RUNOUT TIR0.02
5 TAPER 20f thst B2l RUNOUT TIR0.02
" | Al0] Ch3t TAl BT30-45:0.06 m=0| 518%|2 stct
BT50-60:0. 1
7 Lo ZXt £0.2
8 del At H8
9 do| Zxt H12
10 to| At -0.2
11 DOl Zxt h8
12 Vel ZAt +0.1
13 x9| St +0.1
14 | @9 Zxt -15° @=30°
15 | yol Zx} +0.4
16 | yi1o 2t -0.4
17 | TAPER 29| gLiAS] SA= TIRO.2 35mm MTHoA =5
18 | LtAt Mz 6H JIS B2090f| 9|
TAPER £ 1.6S YA=0.8S
19 HEXE AR 3.28
719] 7|Et vV
20 | &, CRACK, = BURR oz 5ol
21 Q2 HAIH o] Qloll= A2
22 |zl
23 | XE SMC415
| s 200[:0.8-1.0 %Mﬁ REHIX]
HRC 55-62 e Ze

@lpm 142




COTTER HOME (ZEiE H|1%)

H| SAt0] et 22 X
L2, WIE eiFtiiR,

|

MT NO.

L2

L1

15 15.5 8.2 5° YR130
Yoshida Y 18 15 8.2 5° YRD1000
9 21 8.2 5° YD3-65
MT4 5 18 8.2 5° R2000
Ooya 0 9 11 8.2 5° RA2-1300
10 10 8.2 5° RE1250A
Kurama K 26.3 295 12.2 5°
Aoyama A 44 40 13 5 ATB-3
Okuma B 27 41 12.4 5°
Ikegai | 52 85 13.2 5°
Kurashiki K 53 85 13.2 5
Nomura N 27 38 12.2 8° AFB-4 S
MT5 Shinada S 37 37 16 0° >
Toshiba T 50 35 13 0°
S - 25 20 20 5° YRD700
9 835 8 5° YDD700
15 25 12.2 5° RE3-2000
Ooya 0
14 20 12.2 5° RE-2500
7101715 K 54 413 16.2 0°
HessY D 52 45 16.2 5°
Aoyama A 50 38 19.3 5°
Okuma B 37 485 16.4 5° DRB3000
MT6 lkegai | 52 45 16.2 5°
Kurashiki K 54 41 16.3 5°
Nomura N 27 42 16.2 8°
Shinada S 54.5 475 19.3 0°
Toshiba T 54 40 16.2 0°

143 www.iwidin.com



vivd

HAIS AType

={u, Bl ol& HAHZl0| HifsE HALzlo]

V(m/min) (mm/rev) V(m/min) V(m/min) (mm/rev) V(m/min)

24-30 110-140 0.05-0.15 0.05-0.30 100-130 0.15-0.25 4.2

29-40 115-150 0.05-0.15 0.05-0.30 105-140 0.15-0.30 5.7

EtAZ} 39-50 115-150 0.05-0.15 0.06-0.35 105-150 0.20-0.30 5.7

(S45C, S50C) 49-102 115-150 0.15-0.20 0.06-0.35 105-150 0.25-0.35 6.3
100-220 115-150 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3

220-500 100-130 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3

24-30 110-140 0.05-0.15 0.05-0.30 90-120 0.15-0.25 42

29-40 110-150 0.05-0.15 0.05-0.30 100-130 0.15-0.30 5.7

stzzt 39-50 110-150 0.05-0.15 0.06-0.35 100-130 0.20-0.30 5.7

(SCM, SNCM) | 49102 110-150 0.05-0.20 0.06-0.35 100-130 0.25-0.35 6.3
100-220 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3

220-500 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3

24-30 70-100 0.07-0.15 0.12-0.35 60-90 0.12-0.20 42

29-40 80-110 0.07-0.15 0.12-0.35 70-100 0.15-0.25 5.7

AHQIZAZ 39-50 80-110 0.07-0.15 0.20-0.50 70-100 0.15-0.25 5.7
(SUS) 49-102 80-110 0.10-0.20 0.20-0.50 70-100 0.20-0.30 6.3

100-220 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3

220-500 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3

24-30 75-100 0.07-0.15 0.12-0.35 60-110 0.20-0.30 42

29-40 80-115 0.07-0.15 0.12-0.35 60-110 0.25-0.35 5.7

EST 39-50 80-115 0.07-0.15 0.20-0.50 60-110 0.25-0.35 5.7

(FC) 49-102 80-115 0.12-0.20 0.20-0.50 60-110 0.30-0.40 6.3

100-220 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3

220-500 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3

24-30 150-300 0.05-0.15 0.12-0.35 120-300 0.20-0.30 4.2

29-40 150-360 0.10-0.20 0.12-0.35 150-370 0.25-0.35 5.7

el 3950 150-360 010020 | 020-050 150-370 0.25-0.35 5.7
(A‘:'C)O 49-102 150-360 0.10-0.20 0.20-0.50 150-370 0.30-0.40 6.3

100-220 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3

220-500 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3

24-30 30-40 0.75-0.15 0.12-0.35 25-35 0.12-0.20 42

29-40 40-45 0.07-0.15 0.12-0.35 30-40 0.15-0.25 5.7

EA7} 39-50 40-45 0.07-0.15 0.20-0.50 30-40 0.15-0.25 5.7

(SKDB1) 49-102 40-45 0.10-0.20 0.20-0.50 30-40 0.20-0.30 6.3
100-220 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3

220-500 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3

@lpm 144



A
T=

20|

[ =]

= ar=)
(FC25) (AC4A, ADC)
HASE HASE HASE HASE HASE
22-30mm/min 20-25mm/min 8-12mm/min 32-40mm/min 63-100min
oI5 oI5

(mm/rev) (mm/rev) (mm/rev) (mm/rev) (mm/rev)

1 8,000 | 0.03-0.05 7,000 | 0.03-0.05 3,200 | 0.03-0.05 11,500 | 0.04-0.06 20,000 | 0.06-0.09
2 4,000 | 0.06-0.09 3,500 | 0.06-0.09 1,600 | 0.06-0.09 5,700 | 0.08-0.11 10,000 | 0.12-0.18
3 2,800 | 0.10-0.13 2,400 | 0.10-0.13 1,060 | 0.10-0.13 3,850 | 0.11-0.16 10,000 | 0.20-0.28
4 2,100 | 0.11-0.15 1,800 | 0.11-0.15 800 | 0.11-0.15 2,900 | 0.13-0.19 7,500 | 0.24-0.34
5 1,600 | 0.12-0.18 1,400 | 0.12-0.18 630 | 0.12-0.18 2,260 | 0.16-0.22 6,300 | 0.28-0.40
6 1,320 | 0.13-0.19 1,180 | 0.13-0.19 530 | 0.13-0.19 1,900 | 0.19-0.26 5,000 | 0.34-0.48
8 1,000 | 0.17-0.24 900 | 0.17-0.24 400 | 0.17-0.24 1,400 | 0.21-0.30 4,000 | 0.38-0.53
10 800 | 0.20-0.28 710 | 0.20-0.28 320 | 0.20-0.28 1,120 | 0.25-0.36 3,150 | 0.45-0.63
12 670 | 0.24-0.34 600 | 0.24-0.34 270 | 0.24-0.34 950 | 0.30-0.42 2,650 | 0.53-0.75
13 610 | 0.26-0.36 540 | 0.26-0.36 240 | 0.26-0.36 880 | 0.33-0.44 2,400 | 0.56-0.79
14 570 | 0.28-0.39 500 | 0.28-0.39 230 | 0.28-0.39 820 | 0.31-0.42 2,250 | 0.57-0.81
16 500 | 0.30-0.43 440 | 0.30-0.43 200 | 0.30-0.43 720 | 0.34-0.46 1,950 | 0.61-0.85
18 440 | 0.34-0.49 390 | 0.34-0.49 180 | 0.34-0.49 640 | 0.36-0.50 1,750 | 0.63-0.90
20 400 | 0.36-0.50 350 | 0.36-0.50 160 | 0.36-0.50 570 | 0.40-0.56 1,550 | 0.68-0.98
22 360 | 0.40-0.55 320 | 0.40-0.55 150 | 0.40-0.55 520 | 0.42-0.59 1,400 | 0.73-1,06
24 330 | 0.41-0.60 290 | 0.41-0.60 135 | 0.41-0.60 480 | 0.46-0.65 1,300 | 0.77-1.13
26 310 | 0.42-0.65 270 | 0.42-0.65 120 | 0.42-0.65 440 | 0.47-0.68 1,200 | 0.81-1.20
28 290 | 0.45-0.70 250 | 0.45-0.70 110 | 0.45-0.70 410 | 0.50-0.73 1,700 | 0.84-1.26
30 270 | 0.48-0.75 230 | 0.48-0.75 105 | 0.48-0.75 380 | 0.54-0.78 1,000 | 0.87-1.32
32 250 | 0.51-0.80 220 | 0.51-0.80 100 | 0.51-0.80 360 | 0.58-0.83 950 | 0.90-1.38

145 www.iwidin.com

viva




(0|HZ= 50-75kgf/mr)

, =E(EE)
0l&
(mm/rev) (mm/rev) (mm/rev)
1 9,000 71 7,500 53 5,600 36 4,000 20 14,000 100
2 5,600 90 4,500 65 2,800 36 2,000 20 12,500 160
3 4,500 100 3,360 75 2,000 36 1,400 20 11,200 250
4 3,150 125 2,360 85 1,400 40 1,000 25 8,000 290
5 2,500 140 1,900 95 1,120 45 800 28 6,300 315
6 2,240 150 1,700 100 1,000 48 710 28 5,600 315
8 1,600 180 1,180 118 710 56 500 34 4,000 387
10 1,250 200 950 132 560 63 400 38 3,150 400
12 1,000 190 750 118 450 60 315 38 2,500 375
14 900 180 670 118 400 60 280 40 2,240 355
16 800 170 600 112 355 60 250 40 2,000 345
18 710 165 530 106 315 56 224 40 1,800 345
20 630 160 475 95 280 56 200 40 1,600 315
22 560 150 425 85 250 50 180 36 1,400 300
24 500 140 375 75 224 45 160 32 1,250 280
25 500 140 375 75 224 45 160 32 1,250 280
26 500 140 375 75 224 45 160 32 1,250 280
28 450 125 335 65 200 40 140 28 1,120 265
30 450 125 335 65 200 40 140 28 1,120 265
B g 32 400 120 300 60 180 36 125 25 1,000 236
> 35 355 105 265 53 160 32 112 22 900 224
36 355 105 265 53 160 32 112 22 900 224
40 315 100 236 48 140 28 100 20 800 200
45 280 90 212 42 125 25 90 18 710 180
50 280 80 190 38 112 22 80 18 130 160

< 0] #= LY 2 FYZ0I 1/2 D, LB 49 Hglo] 1/4 DE 7|&22 of0] ZotA& LI
20~50% 0] FLICH

@lpm 146



Ol&&E Ol&&=

(mm/rev) (mm/rev)

3 5,300 250 4,000 190 2,650 95 1,600 45 18,000 800
4 3,750 300 2,800 224 1,900 106 1,120 53 12,500 900
5 3,000 335 2,240 250 1,500 118 900 60 10,000 1,000
6 2,650 355 2,000 265 1,320 125 800 63 9,000 1,000
8 1,900 425 1,400 315 950 150 560 75 6,300 1,180
10 1,500 475 1,120 355 750 170 450 85 5,000 1,250
12 1,180 450 900 330 600 160 355 85 4,000 1,180
14 1,060 425 800 315 530 160 il 90 3,550 1,120
16 950 400 710 300 475 160 280 90 3.150 1,060
18 850 400 630 280 425 150 250 90 2.800 1,060
20 750 375 560 250 375 150 200 80 2,500 1,000
22 670 355 500 224 335 132 180 71 2,000 850
24 600 335 450 200 300 118 160 63 1,800 800
25 600 335 450 200 300 118 160 63 1,800 800
26 600 335 450 200 300 118 160 63 1,800 800
28 530 300 400 180 265 106 140 56 1,600 750
30 530 300 400 180 265 106 140 56 1,600 750
32 475 260 355 160 236 95 125 50 1,250 670
35 425 250 315 140 212 85 112 45 1,250 630 E
36 425 250 415 140 212 85 112 45 1,250 630 >
40 375 236 280 125 190 75 100 40 1,120 530
45 335 250 250 140 170 85 90 45 1,000 630
50 300 240 224 125 150 75 80 40 900 560

- 0] = LU 42 EY0[(0.1D) X BYE(1.5D)E 71&22 ZsIREUT
L2 0IBEEE 1/282 HEUCH
=

.3Hf ~ 1 BHIE L

147 www.iwidin.com



vivd

AN
AL

(m/min)

2 <70 12-20 0.07 0.09 0.13 0.16 0.20 0.25 0.30 0.35 0 15-45
70-100 10-15 0.05 | 0.08 0.13 0.15 0.21 0.26 0.28 0.30 0 15-45
2R 100-150 6-12 005 | 008 | 013 | 015 | 0.21 026 | 028 | 0.30 0 15-45
== <220HB 8-15 0.10 0.12 0.17 0.20 0.30 0.40 0.45 0.50 0(5) 15-45
>220HB 6-10 0.07 0.10 0.14 | 0.18 0.26 0.32 0.36 0.40 0(5) 15-45
IS <220HB 6-12 007 | 010 | 014 | 018 | 026 | 032 | 0.36 | 0.40 0 15-45
= 60-80HB 15-20 012 | 015 | 018 | 022 | 030 | 035 | 0.37 | 0.40 5 45
= 50-120HB | 10-15 012 0.15 | 0.18 0.22 0.30 0.35 0.37 0.40 9 15-45
g5F= 60-100HB 8-15 0.12 0.15 0.18 0.22 0.30 0.35 0.37 0.40 5 15-45
U20|se= | 90-120HB | 20-30 015 | 018 | 023 | 028 | 035 | 045 | 0.50 | 0.50 8 30
mm

2lo|o{of =iz | B

0.8-1.2 0.05

1.2-1.6 0.10

1.6-3.0 0.15

3.0-6.0 0.20

6.0-18.0 0.30

18.0-30.0 0.40

30.0-100.0 0.50

20| ZIA| FOJArSt
+ 2l0|0{Z W} HEITIHX| DHIAIS.
ol T4 9 A XstE S Al

- BARE SE0| 350101 ol Hs HESA shAIL.

XAZE F02{H W2 FMEER 0|52 3 ot FuCt
of) 10Ommcthst 0.05mm M=

(!mmu 148



ZEfAZL ==

| s0coish | gl Edp = - AR iR
x—l)\r_._E X-U\r_._E XE-U;‘M_A‘\_E x—l)\r_._E X-U\r_._E XE-U;‘M_A‘\_E x—IAF_._E
CITSES CIFSES LTSRS CITSES CIFSES LIRS
(rpm)
M3 850-1,380 740-1,270 640-960 320-530 420-740 640-1,170 1,060-1,590
M4 640-1,040 560-960 480-720 230-400 320-560 480-880 800-1,190
M5 510-830 450-760 380-570 190-320 260-450 380-700 640-960
M6 420-690 370-640 320-480 160-270 210-370 320-580 530-800
M8 320-520 280-480 240-360 120-200 160-280 240-440 400-600
M10 260-410 230-380 190-290 95-160 130-220 190-350 320-480
M12 210-350 190-320 160-240 80-130 110-190 160-590 270-400
M16 160-260 140-240 120-180 60-99 80-140 120-220 200-300
M20 130-210 110-190 95-140 40-80 64-110 90-180 160-240
M24 110-170 93-160 80-120 40-66 53-93 80-150 130-200
M30 85-140 74-130 64-95 32-53 42-74 64-120 110-160
M33 77-130 68-120 58-87 29-48 39-68 58-110 96-150
M36 71-120 62-110 53-80 27-44 35-62 53-97 88-130
M39 65-110 57-98 49-73 24-41 33-57 49-90 82-120
M48 53-86 46-80 40-60 20-33 27-46 40-73 66-99
M52 50-80 43-73 BIEES 18-31 24-43 37-67 61-92
o
=

« SKH #= & 7|zLc,

CEAAE MEIA| TS MRS DRfsHINE.
Bio| BAAE U STAE B0l WY, WX|, B8, £, LAPKS 20l, DA AHE,
BARHI NS0 w2t 27|

F.
a8z o #O| UM ABXRIE SR st FHAIR.

149 www.iwidin.com



TWIST DRILLS| TROUBLE CHZH

TROUBLE

HAH 9| Chipping

o (o) |
[

I

QIMol oflzlgt
OS2t Thinning®.2l 0|
oll2lgt

CH

MAA L E LIS 7.
HAMSET U 52 2SES 2 A
HMRE MY A
BAZtg B7K307)
HAAEZ 0|}
__rLA-Iol_l)\-I B,U, [=EIN E—|—.| = T
S 2 Coating, Cermet
THEAE
240l 2 M| ¥ Drillg ALSE A
TIE 2 Chattering 244 B2 AT nEAIZ A

HNACE 25 2

Tip XHEoll Hloh ZALETt

L7 £5

HMETE HE A

HALS AI2

ZEZHPoint Angle)S ¥4
psl=els ‘|'|p MEEe ME

7132 B ¥

HALAHOIM T

vivd

Guide Bush Al2

EAAHM 052 HE A
IEE BHE AEop g A

7|A2 HAoret A
Thinning Type #&

IEES O

Guide Bush A2 2 Guide ClearanceZ 27| & A
Drillel 2442 aAg A

Drill M Mef LsobA st A0 &2
Thinning Type2& B

Step Feeding & #A

olse W= A
HNRE NEY X

7|Et

Drill Chucking 0| =2
Drilldel Back TaperZ} gie

oy

Chuckings ¥sstA &
Aot A7 (et ot E AFE A

@lDIN



REAMER2| TROUBLE CHZ

TROUBLE

AMMH R S
Elizkol ik

# e
HALEZIO| B
HaE T
4= Tk

AN
HALEE &

n
L]

ct.
E .

f

AN = L}
OIBEEE R

7171 =H|

IIA™ES 22
OjAHeIClamp o 25
&7 Holder M&o| Xt

SpindleQ| 2=, Bush Clearance, Spindle}
Bush@l ElmentsS %

Clampe| Zds =QIct,

Guide Bush?} 8l= 4= Quick Change Holder
ARBE mlBtct,

372 ZA|

=elo| Ealo| =t
Setting M=ot =%
370 50| Tt

Z70| Zuo| BE

o rd

o

ol Mo SR
THAHAAA| 28-S
SettingAl 214
e 24202 3i0

20| SHE ST 2YO2 Hict

f.

FARAES] Tip 252 £4)

o O

r

unoutdE &d(ShankE9 £ §)
b

=L 22
< < 5|M HI2S =7 sict (RlI5HA| 3t
o FMAIOO| O SN difgS M| St (RIstAl ©fth, 10~208H)
HoleO| 2= 2ARO| 2H| SEMO| =2 QHIZ AR
OX‘” )\'II'|0| [Sha[=t = T TrAllE [=)
iy Lo _ N BAIR 2 Weteict
FAe| st Lofol 2|5t 40| Kot e oxlol 012 ts
oxmIzso| BE Hofeix] 2 Chlp—l A EfgAel =S nistct,
TrleseT T a2 Sioln SA0l f& HAL =E6t=5 A
T|AtRi | 2| MHZE 3 St
Hel AEHZEE 27| of
GO 2 Ol&&EE REL
MR XY
_ _ olaaEE whxr
0l&4% Tz QIS Chisel® Z i:;;j\gi;q J
OlS4E T QUSt Chip 2HE) LM e St G ey
- _ Sl =l 2l
alTi4 DY Qe TAIR AE 25 e °
=)
THSIALe| S| =
Thinninge X0l 2|8t Chisel®
oa BEo| Xst T 2 AALS BiTt
THAAA 222 2 HA

THOAAIS =40 Tixioll 2fet Burnishing
Torque® Bt E= Tipd F59| 2

H7|1ASe 22|
AR Clampifs M

Rnll

o= =
SMFE WX

151

www.iwidin.com



BURNISHING DRILLE| TROUBLE CHAH

TROUBLE | ol

Burnishing &1t5 3ASICt

o

Chamfer Zt& ZABiCE

Margin Z& 3ASiCtH

Back TaperZ X7gict,

2ttt ChamferZ SHofsict,

Reamer Dia. 2| MZ0{EE Check oiCt,

Hole2| &ty Buit—up edge 2SS AX[SICE

Margin 2& ZAAIZICEH
2% Chamferg H0fSict

Aol Sl £71S W2 FRIS WMZAZICH
BAISEE £0|1 0182 FOICt,
BAIR FUS BIMIICH

HAlZ9l Un—balanceZ &9IC},

Cutting edge?| ZBX= 5/1000 O|Li= Sict.
EMEEE =OICH

Spindled} 7I2Z9| AlignmentS &9QIct,
Bush@| Ot2AMEIE HA walstrt,

+&d 2ARUMN 2484922 Ul

HoleQ| &4 Finish 2012 &

ol
k!
2
o

Cutting edge 2| o{g2ts ISt
Margin &2 &QICt.

Back TaperZ Z7sict,
HALCE QI

A= S5t Chatteringg &9ICt,

7170|248 wolct

o o= IT L
Bush 8XItE &QIct.
Left Helix Reamerz HASICt
Margin =& 378iCt
Back Taperg 3ASiCt,
HMETE O
0|52 IAIBH

vivd

BurnishingS 3 AISiCt,

Left Helix ReamerZ HASICY
Chamfer 22 &Astct,
2¢t Chamferz SHofsict

oo
12
1o
)

o
in]

Rake angleg 3AIsSiCt,
MAAEZ =o|r}

FeedE &0ICt

ChatteringS QifCt

Cutting edge & 2ZBXI= 5/1000 O|LHZ SiCh,
BMAEES ZOICE

Spindle T} 7|=Z&29| AlignmentE ULt
224 HMRUN E4-EHS2 Dbt

)

Chip9J

|'\.l
|I>
rulo

MBI,

Flute TypeZ et
Flute Z0IE HAIBITY,

@lDIN



ENDMILLS| TROUBLE CHZH

TROUBLE

Tool Of&

1=l
1>

|2t 2h

sl

o (o) |
[

I

e
Mt

i

|:|-| XH
Ol&2S BY A
SEYS 32U
T UR0| 2012 FlABIOR B B A

olsEs 2 A

Tool2 =7(0 weHol=gr x&)
Chuckt Colletg et
=582 294
HA0|| HoningS AAl

=HIF A2 Endmillg AE(4d—28)

ol&0l Hrers HEAIE

Coner29| o

N

Hand lapper2 Chamferg &
Down Cutg Up Cut2 H3g

Down Cutg Up Cut2 Hg

A
HALCE EY 71

Chipping

QIMof Honing2 & A
BAMLEE Z0| 7

xe) S0l W A27} 2 220l 0SS U A

eHSt Chi

pping

HATH A2 Endmillg AFR(4g—2Y)
QIMofl Honingg & A
(Solid Endmille] 4<)
AL E Z2U A
HAAZIAS SARIGHo R HHY
(Brazed Endmillel 4<)

EARIAS AIrE 201 ZIAARIoR W

M5t HASES 9

viva

roh

EMAEE 2 I
Up CutZ Down Cut2 #HZg

OlsEE 57t

BHO| €Y

St HE B

2
[s)
S0t B2 Endmillg ALE(29—4)

HALES AP A

A0|M(Built—up edge)o| HAEMSE N
JIEH 222 LIS QIM0ll OJMIEt HoningZe & A
Up Cut& Down Cutz A
o N QIMof OIMIEt HoningE & A
7hEH0f Jt2E SFEt S22 MARZ Al23F 7
HEPAOH@{\% 70:1_?_ =S o 2.TT= [SE—EFN
Down Cuts Up Cutz #HZ
OI84EE B7HAE A
BHMACE HY
=x0tO =0 7
. =
Chattering &4 ?Tii Sl oL Nl RAFRIO O = 4Lt
SHALRIA A= 24 Endmill, HAIEHo= 44

Endmill2 AF2
Down CutE Up Cut2 Hg

153 www.iwidin.com



vivd

MAHO| TROUBLE CHEY

EE

TR L XEO

=0yl [=5i=% 5
S ) K iR g
fotodo| g | TEEAS 2AEC SASEE S Bict gan=
HES Mo oINEIZS 37 Bict. Helst O[S4 ES ALRS CA
55 umert, | DHEES e Hdet o g Mgl CARBON
—— S8 ®MAsict. HAISH HARAIS AFEBITH CERMET
. Y EREE o CLASS
A ea ! |otez, sz, oy | TSR A
MES MESICH g5t Bict e = a2z
— Ao = =
of | SXEM SYAL Mz A EARE ASEH. (E/ISTIE]
otz 22 Ao| &2 _ BAEES S §
2 f MES Lxligr‘_ S AR OEl-"_‘\-EE”E 7;7“ e
o= |_on_|:|'. o= ;':7‘” 0\_|'I:|>_ 70'7:”XH§
SN0 52 BMRHE AIESIC
orz2 Sojg ey | SHAS MSL BRSO —
2| oj2 Goodolse |24 MES Masict aNses =0l NiAl LIZ8IS
MBS MEshH 2EAZS I B 5SS . ELE
o= |_o|_|:}. ;ng_‘x _ | |_|:|'_ PSS O_E o7|')\|?_|l:|-. CO71| LHOEE'EF%L
542 ApfBict, S ZARE Agsi =
N TztE 7zt
T o A - . = P TSSO Bt o
= (=) -
EE oigztg ol mE = sicy, | o= eI
Al L= X
i jm i‘%?ﬂﬂlﬂ e etz
TANIE ArEe!
e PSP ES= 5 :
= aee MES AISE! | QLEI9i2t, oIl HAMEEE W Bt
gt = Sior
SHHIAO| XS SAto 2 BICt 0|&E S oict. 2t
] - _ ZiAEAoR Bitt, aARE
A4 siorei0) g2 Kisg | O S, AEEs
Agsitt . el = | EMaE o), BYS W Bit
AXOIZF = = 7t =) : ey
ZHQUZE BYS sict H2t St =2 S A&ttt 4% ROLL
e oA [e}PS|=Ke] =
gsict ALBE A Bt ASEE x| MEsic
s4S 34 Bict 0|2 w7 BT, U=
= wolaol ze xis | 50 T 058 S 3
2 ARSIt -‘?—L‘Ij—'}% =7 stct ﬂoolzgxxr -_E|'.
T =4 2 i e A EE
[AX B0 HARE MBI (ME7ISTE a2z
o5t oIM0| =2 RIES OlAMEO|ZF TAAFA [(AE7ISTE) o=
o= =. o S
s7AZAS Apgstct UL, Sl HMAEE FH5| MESiCH
S 542 xiletct 0|88 %A sict o
Mo |2fS Mxd=| 5 U=
oo HMlZFS MA5| ofct
=5 oIM0| =2 MBS QIMERZE QIMHEAO -
E2ze ST MEE auy 2 Quiigel I ENAE 0158 A 8
Saict cLAl0| RS FAjoZ BiC] , 0|&2 9 st
g‘a'% X} | 3H:|- =2Ho= —\7'” °|_H:|‘ o
e NN etz
] ZA (SJPSI=Kelpd e]
25 22 Liot=4do| £ e e BASE 0188 WA &
e P HHIMO0| A2 Ao 2 Sirt o |2t = Al Btk
xS AR BIC) Emget d Zelge = et 2=
PSke) o=
i MGt MARE AfgSitt, ez
SEs 0IM0| =2 FHES ANZIE =7 BT
Ha| Aa S0l = = e 2 ot EMAZE =0 i B
: | 232 ity QItHIBE A Bict OE|;\-§ = n;lEf. NiZA Ligea
sdg 2 sict B ieAEn oA
A Uot=AMo| =2 SEH0| =2 BHRME MEST. S
T A X e ! == HR2t, dARE &Ho| ot pSPNES S
wmme | ESNENL | TmetSToten | RS WA
_ = S :
MOlE HES Sxj5t | olgHIHS ;‘r}” E 0l&E 7 it
sict, NS A5t MRS AESIC S
s4g = g - Foktiat et
Mtalof= AR | o =
Tois N 3 = A8X| d=Ct.
AN o1M0| Iijkol(l)_}_‘E e o
Al ol = TES BC a0l olg=
_ [iye} = =
e e | = =20 U=E ;E*l*zhg— = S gict,
olMoj| chst (APl S S et
oA 1 - LT, olH
i e oo wolerg = #ict, Heie
ClAlHE gl %gm Lo pxg 5511}_@394 SIS
Saolx] 25t THBit x4
. . ARA =
wajof ot za | AUE ME2 ME HALS AIES| BT e
5t 244 2 A8 Sol Bict 015S WA &
%7+ EEIIOIXU\I LHE § o= 7:7'” °|_H:|‘
(=] ‘IOO,_|'|:|' S| = =i e
- . olzkS XA 5 deE
é!s% Afg—?_ﬂ:l- =do= —.7‘” °|_|'|:_|-_

@EIDIN 154



EMNSE
v 3.14XDXN (mm/rev) SV AT (mm/min)
= mm/rev <D E2XA (mm)
1000 “N 3T (r.p.m)
o &
S ) -1 0I& (mm/rev)
F= N (mm/min) -S 12 7k22/0] (mm/min)
N 8EL (r.p.m)

HA EQT U EMAE

Md = Kd2 X (0.0631 + 1.686 X f) (kg/cm)
T = 57.95KDf0.85(kg)

HAERAE(K)

PLP IS 21 177 1.00
O|OfLt0 | EZA 28 198 1.39
slxH 35 224 1.88
1020Z (EtAZH € 0.2%) 55 160 2.22
11122 (24424 € 0.12, S0.2%) 62 183 1.42
13352 (Mn 1.75%) 63 197 1.45
3115 (Ni 1.25, Cr 0.6, Mn0.5) 53 163 1.56
3120 (Ni 1.25, Cr 0.6, Mn0.7) 69 174 2.02
3140 88 241 232
41152 (Cr 0.5, Mo 0.11, Mn 0.8) 63 167 1.62
41302 (Cr0.95, Mo 0.2, Mn 0.5) 77 229 2.10
4140%Z (Cr 0.95, Mo 0.2, Mn 0.85) 94 269 2.41
46152 (Ni 1.8, Mo 0.25, Mn0.5) 75 212 2.12
48202 (Ni 3.5, Mo 0.25, Mn 0.6) 140 390 3.44
5150 (Cr 0.8, Mn 0.8) 95 277 2.46
61152 (Cr0.6, Mn 0.6, V 0.12) 58 174 2.08
6120 (Cr0.8,Mn 0.8,V 0.1) 80 255 222
61302 79 260 2.20

155 www.iwidin.com

viva




x—IAI-_J_I.\_E aj AO

J.."f.

= 1 =<
AT
3.14XDXN -V o BAKRE (mm/min)
V= (mm/rev) <D EZEE (mm)
1000 "N 2 (r.p.m)
F=fXZXN (mm/min) -F : Tabled|®4 (mm/min)
- S 1 EH0l& (mm/tooth)
S ) A=
f= N (mm/min) N : BlES (rp.m)
2254
S
W = (km) W AREE (Kw)
60 X102 X n “Hp : A0
W - Q : HiIEZF (cm3/min)
Hp = (km) Lo EAE mm) _
0.75 -F : Table3/®™4 (mm/min)
~d @ ZAZO| (mm)
LXfXVXLXZ DXfXVXLXZ - Ks © HIEAXE (kg/mm?2)
Q= 1000 = ‘n: 7PEE (0.5 - 0.75)

vivd

A 52 220 170 158
Exas 62 198 160 157
FAFA} 72 252 185 174
37 67 198 170 160
37 77 203 170 158
gLz 77 230 175 166
g7 63 275 180 178
AEZ|=2HY 73 254 200 180
As=|BHY 60 218 180 167
LAIESEHY 94 200 160 150
U E=e|EHY HB 352 210 170 153
=4 52 280 220 204
PaESEaES) HRC 46 300 240 220
o|ofLto|EE 36 218 160 147
ElRees HB 200 175 105 97
as 50 115 70 63
AE2(AI-Mg) 16 58 35 32
GEZ(AI-Si) 20 70 45 39

@lDIN




A ]
HALr Ol EQF
EMEE
314 XDXN _
= (mm/min)
1000 N3 (r.p.m)
1 3TL0IM BASEE Foks 82 -V 1 ®AE (mm/min)
D 71EE 2E (mm)
1000 XV
N=
3.14XD
HAEQF 2l Eg{A
W 3|%4 (Kw)
W Q X ks DXfXdXks Q : Chip2l ®& (cm)
= = SV BASE (mm/min)
60X 102 Xn 60 X 102 Xn f: 0% (mm/rev)
d @ ZAZol (mm)
Hp = W Nt IEE (0.5 - 0.85)
0.75 “Hp : A0

- Ks ¢ DAY BIEANE (kg/cm)

ALY 52 361 310 272 250 228
Exal 62 308 270 257 245 230
ad 72 450 360 325 295 264
37 67 304 280 263 250 240
37 77 315 285 262 245 234
AL 77 383 325 290 265 240
g7k 63 451 390 324 290 263
AgS2EHY 73 340 390 340 315 285
AEZ|=2HY 60 361 320 288 270 250
LasEs2=e 9% 307 265 235 220 198
La3Es=e HB 352 331 290 258 240 220
4E=E HRC 46 319 280 260 245 227
O[O0 |EH 36 230 193 173 160 145
sl=3 HB 200 211 180 160 140 133

HA K3

P=AXKs A=dXf

CA T ZAHE () A o EAMHE (i)

P EAKE (kg) d : =AO| (kg)

Ks : HIZAXE (kg/mr) f: 01& (kg/mm/rev)

157 www.iwidin.com

viva




viva

I EZ|LIAHmm)

mm

L IO|LIAHUNC)

mm

M2X0.4 1.65 1.65 NO. 1-64 UNC 157 175
M2.2X0.45 1.81 1.83 NO. 2-56 UNC 1.86 1.86
M2.5X0.45 2.1 2.13 NO. 3-48 UNC 2.14 2.14
M3X0.5 257 259 262 NO. 4-40 UNC 236 236
M3.5X0.5 2.95 3.01 3.05 NO. 5-40 UNC 2.69 2.69
M4X0.7 3.36 3.39 3.43 NO. 6-32 UNC 2.86 2.86
M4.5X0.75 3.81 3.85 3.89 NO. 8-32 UNC 3.52 3.52
M5X0.8 4.25 4.31 4.35 NO. 10-24 UNC 391 391
M6X1.0 5.08 5.13 5.19 NO. 12-24 UNC 451 457
M7X1.0 6.08 6.13 6.19 1/4-20 UNC 5.5 5.5 525
M8X1.25 6.85 6.85 6.92 5/16-18 UNC 6.64 6.72 6.72
M9X1.25 7.85 7.85 7.92 3/8-16 UNC 3,06 8.15 815
M10X1.5 8.45 8.62 8.70 7/16-14 UNC 9.40 950 950
M11X1.5 9.54 9.62 9.70 1/2-13 UNC 108 110 1.0
MT2X1.75 103 104 105 9/16-12 UNC 12.3 123 123
M14X2.0 12.1 12.2 123

5/8-24 UNC 13.6 13.8 13.8
M16X2.0 14.1 14.2 14.3

3/4-11 UNC 16.6 16.8 16.8
M18X2.5 15.6 15.7 15.8

7/8-10 UNC 195 19.6 19.6
M20X2.5 17.6 17.7 17.8
M22X2.5 196 19.7 19.8 1-9 UNC 22.3 225 225
M24X3.0 211 212 212 1.1/8-8 UNC 25.0 25.2 25.2
M27X3.0 21 2.2 2.7 1 1/4-7 UNC 28.2 28.4 28.4
M30X3 5 996 6.6 6.8 1 3/8-7 UNC 30.8 31.0 31.0
M33X4.0 35.1 35.1 353 2-5 UNC 453 453 453
M42X4 5 376 376 379 2 1/4-4 1/2 UNC 51.7 51.7 51.7
M45X4.5 406 406 409 2 1/2-4 1/2 UNC 57.3 57.3 57.3
M48X5.0 431 43.1 43.4 2 3/4-4UNC 63.7 63.7 63.7
M52X5.0 471 47 1 474 3-4 UNC 70.0 70.0 70.0
M56X5.5 50.6 50.6 50.9 3 1/4-4UNC 76.4 76.4 76.4
MB0X5.5 54.6 54.6 54.9 3 1/2-4UNC 82.7 827 82.7
M64X6.0 57.8 57.2 58.5 3 3/4-4UNC 89.1 89.1 89.1
M68X6.0 61.8 61.2 62.5 4-4 UNC 95.4 95.4 95.1

HELIAL m O|AlZELEAL m

1/6-28 6.79 6.11 6.23 6.49
1/8-28 8.80 8.11 8.24 8.50
1/4-19 11.8 10.8 10.9 1.3 1/6-27 610 | 625 635| 594 | 6.15 | 625
1/8-19 15.3 14.2 14.2 14.9 1/8-27 833 | 843 874 833 | 843 |85
1/2-14 19.1 17.7 18.0 185 1/4-18 1072 | 1111 [1113] 1072 | 1111 |11
5/8-14 21.1 3/8-18 1429 | 1429 [1468| 1429 | 14.29 1468
3/4-14 24.6 23.1 23.3 24.0 1/2-14 17.46 | 17.86 1826 17.46 | 17.86 |17.86
7/8-14 28.3 3/4-14 2262 | 22.02 |2242| 2262 | 23.02 |23.42
1-11 30.9 29.1 29.4 311 1-11 1/2 | 2858 | 28.97 12936 38.58 | 28.97 |29.37
1 1/8-1 355 11/4111/2 | 37.31 | 37.70 |38.10| 37.31 | 37.70
1 1/4-1 39.5 375 38.0 38.8 11/2111/2 | 43.66 | 44.05 |44.45| 43.26 | 43.66
1 1/2-1 454 43.4 438 445 2-11 1/2 | 5556 | 55.96 |56.36| 55.17 | 55.56
1 3/4-1 51.4 2 1/2-8 65.88 | 66.68 |67.45 65.48 | 66.28
2-11 57.2 54.9 55.4 56.5
2 1/4-1 63.3 72.0
2 1/2-1 72.8 70.2 70.7 84.7

158



DING9893-1, ISO 12164-1 : 2001

e 8% : Machining Center 8 e 8L : Machining Center, H2aal MHI2

° HlojM ZR2F2| =2l0|H 7|E0 28t EITE * Coolant tube0i| 2|3t Flange through coolant EE= Through cc
° ATCE UZE 27H, YIXIZNE x| * Flange 22| UZ0i 2|8t Torque™Et o AXZFELX|

¢ Application : For Machninig Centers. ¢ Application : For Machining centers, milling machines lathes
¢ Torque transmission with drive keys on the taper. ¢ Flange through coolant feed or through coolant feed by coo
¢ 2U—grooves for ATC, Positioning notch. ¢ Torque transmission by U—groove on the flange.

¢ Positioning notch

* 2 : ATC7} gl&= Transfer Line, 27|, o 2 : ATC7} SlE Transfer Line, F&7|.

* Hlo|m E222| E210|2 7|E0 o8t EITE - 24X 28 * Flange Through Coolant.
* Flange 2| UE0| 2|5t TorqueXE

* Application : Transfer lines and special purpose machines without ATC.

« Torque transmission with drive keys on the taper. ¢ Application : Transfer lines and special purpose machines wit

¢ Large flange diameter. * Flange through coolant feed.
* Torque transmission by U—groove on the flange.

Sajols 7] £0| gl 2 thE S,

* Application : High speed machining centers and wood milling r
¢ Large flange diameter.

Application : High speed machining centers and wood milling machines.
Torgue transmission by friction.
Complete symmetrical shape without drive keys.

°

159

vivda



vivd

HSK Shank DIN 69893-1, ISO 12164-1 : 2001

2 D2
2D
D3

\U

L1

L3

B2

B1

B3
-~

HSK 40A 40 30 45.00 34 5.0 46 20 20 4.0 35 16
HSK 50A 50 38 59.30 42 6.8 6.0 25 26 5.0 42 18
HSK 63A 63 48 72.30 53 8.4 7.5 32 26 6.3 42 18
HSK 100A 100 75 109.75 85 12.0 12.0 50 29 10.0 45 20

HSK 40A 21 255 23 8.05 11 9 17.0 12.0 M121.0
HSK 50A 26 32.0 29 10.54 14 12 21.0 15.5 M16 1.0
HSK 63A 34 40.0 37 12.54 18 16 26.5 20.0 M18 1.0
HSK 100A 53 63.0 58 20.02 22 20 44.0 31.5 M24 1.5

@mﬂv 160



Bottle Grip Taper MAS403-BT

|
-

|
-

L2

| L2

@ D2

@ d1
-

A
BT30 46 31.75 38 12.5 484 13.6 13.6 20 2 16.1 | M12 1.75
BT40 63 44.45 53 17 65.4 16.6 16.6 25 2 16.1 | M16 2
BT50 100 69.85 85 25 101.8 | 23.2 232 35 3 257 | M24 3
BT60 155 | 107.95 | 135 31 161.8 | 28.2 28.2 45 3 25.7 | M30 3.5

DIN 69871-1 A/B, 7388/1 : 1983(E)

SK30 50 31.75 | 443 45 13 47.8 16.4 19 15 16.1 | M12 1.75
SK40 63.55 | 44.45 | 56.25 50 17 68.4 22.8 25 18.5 16.1 | M16 2.0
SK50 975 | 69.85 | 91.25 80 25 101.75 | 355 37.7 30 25.7 | M24 3.0

161 www.iwidin.com

viva




vivd

CAT Shank (ANSI/ASME B5.50-1985

CAT30 50 31.75 443 31.75 13 47625 | 16.25 18.67 16.1 UNC1/2-13
CAT40 63.55 | 44.45 56.25 | 44.45 17 68.25 | 22.60 25 16.1 UNC5/8-11
CAT50 975 69.85 | 91.25 70.1 25 101.6 353 37.7 25.7 | UNC1-18
CAT60 155 107.95 | 135.26 32 161.8 | 161.93 54 59.3 25.7 | UNC C1,1/4-7

DIN 2080, JIS B 6101, ISO 297 : 1988(E)

L2 ‘ L2

Ls

L

NT30 46 31.75 17.4 68.4 48.4 16.2 10 1.6 16.1 1/2-13UNC
NT40 63 44.45 253 93.4 65.4 225 10 1.6 16.1 UNC5/8-11
NT50 100 69.85 39.6 126.8 | 101.8 353 12 3.2 25.7 | UNC1-18
NT60 155 | 107.85 | 60.2 206.8 | 161.8 60 15 3.2 25.7 | UNCC1,1/4-7

@lpm 162



Morse Taper - Screw type

% D1

TAPER

TAPER ‘TAPER‘ e T

MTO  [1/19.212/1°2927" 9045 3 | 9201 6442 5 53 | 64 - - 4 02
MT1  |1/20047 12543 12.065 35 | 12.065| 93% @ 535 5/ | 94 | M6 | 16 5 | 02
MT2  |1/20020 1°2550" | 17.780 | 5 | 17.780 14583 6 69 | 146 MI0 | 24 5 | 02
MT3  |1/19922 1°26'16"| 23825 5 | 23.825|19.759 8 86 | 198 | M12 | 28 7 0.6
MT4 |1/19254 129'15"| 31.267 65 |31.267 25943 1025 | 109 | 259 | MI16 | 32 9 1
MT5  |1/19002 1°30'26"| 44399 65 |44.399|37.584 1295 136 | 376 | M20 | 40 9 | 25
MT6  |1/19.180 12936”63348 8 | 63348 53859 18 | 190 539 | M24 50 @ 12 4
MT7  [1/19231 12922"| 83058 | 10 | 83.058|70.058 25 | 260 | 700 | M33 | 80 | 185 | 5

List of Taper Morse Taper Tang type

E

|
|
|
|
|
|
I
|
|
|
|
:
|
nl
@ d2

TAPER

2 D1

TAPER ‘TAPER‘ANGLE R

MTO  |1/192121°2927"| 9045 | 3 9201 6.104 565 595 | 60 | 39 | 65 105 4 1
MT1  |1/20047 1°2543"| 12065 | 35 |12.065 8972 | 620 | 655 87 | 52 | 85 | 135 | 5 | 12
MT2  |1/20020 1°2550"| 17.780| 5 |17.780/14.034 750 800 | 135 | 63 | 10 | 1 6 | 16
MT3  |1/19922 1°26'16"[ 23825 | 5 |23.825/19.107| 940 | 990 | 185 | 79 | 13 | 2 7 2
MT4 |1/19.254 1°29'15"| 31267 | 6.5 |31.267/25.164 117.5 1240 | 245 119 | 16 | 2 8 | 25
MT5  |1/19.002 1°30'26"| 44399 | 6.5 144399136531 1495 1560 357 | 159 | 19 | 2 1 3
MT6  |1/19.180 1°29'36" | 63348 | 8 |63.348/52.399 210.0 2180 510 190 27 | 4 1 4
MT7  |1/19231 1°2922" | 83058 10 |83.058/68.186 286.0 | 296.0 668 286 35 | 5 1 5

163 www.iwidin.com

viva




Lo

(F) 4 (A & HESEH)
A A YT ABIZ 172 (HES) (641-847)
TEL : 055-286-0905 FAX : 055-286-0978

(Z) $ISIE (WIDIN TEC CO.,LTD)
CHTPRSAl AT AER 662 44(F2IS) (703-833)
TEL : 053-341-8909~10, 053-341-0989~90 FAX: (053-353-9809

A7t X|AF (WIDIN. INC.)
436 White Pine Rd, Buffalo Glove, IL 60089
TEL : 1-847-947-8320 FAX : 1-847-947-8322

2A5t0| XA (WIDIN(SHANGHAI)TRADE CO., LTD.)
B-901, No 400 Pudian Road, Pudong new district, Shanghai, China
TEL : 86-21-5831-8103 FAX :86-21-5831-8153

Wwa1sASIap|OH |001 Suiyde

ivio

mm




